IDENTIFICATION

Praduct Code:
Product Name:
Date:

Maintainer:

Author:

MAINDEC-9A-D0O1A-D
Instruction Test Part I
November 30, 1967 |
Diagnostic Group

M. Horowitz

PDP-S

LIBRARY







- MAINDEC 9A-DOTA-DN |

1. ABSTRACT ;
All operate group instructions ar 4 the following memory reference instructions are tested:

LAC, TAD, ADD, SAD, and XOR. Individku 1 error halts are used to describe the failing tests.

2. REQUIREMENTS
2.1 Equipment

PDP-9, 7, 4
2.2 Storage

8K core storage minimum.

2.3 Preliminary Programs

Previous run of memory and memory address test.

3. LOADING PROCEDURE

3.1 Method
HRI tape ~ Starting address 22

8
HS paper tape reader

4, STARTING PROCEDURE

4.1 Control Switch Settings

Data switch settings equal the complement number of complete program passes between bells.,

4.2 Starting Address or Addresses
Starting address 13041g
Restart address 13041g

4.3 Program and/or Operator Action
(Reference 4.1)

5. OPERATING PROCEDURE
(Reference 4.1)

6. ERRORS

6.1 Error Halts and Description

Reference symbol table for the address of the individual error halt addre‘ss‘(‘E‘XXXX)“. Thef

- OSR instruction is given a quick check via the program pass complete bell.




6.2

8.1

OPERATE
LAC
AND
XOR
TAD
ADD
SAD

Error Recovery

Insert a JMP instruction at the halt address for a test loop.

MAINDEC 9A-D01A—DN;

El
E226A
E316A
=470
E647
E880
E978

Press CONTINUE for additional error halts.

RESTRICTIONS

None

MISCELLANEOUS

Execution Time

5 msec/pass

£226
E316
E469
Eé46
£E879
£E977
E1105
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Page 19

/PDP-9 INSTRJCTION TEST
/OPERATE GROJP: LAC, AND

NOP1=NOP
NOP2=NOP
NOP3=NOP
HALT=HLT
/PRESS [0 RESTART Ty SLEAR AC LINK
/TEST SKP
PARTL, SkP
£1, HALT JERRQR: SKP FAILED 10 SKIP
/TEST CLA - SzA
CLA /AC=0
SZA
£2, HALT /ERROR; CLA OR S7A “AILED TO SKIP
/TEST SMA
CLA /AC=0
SMA
Sk? USRI 4
£3, HALT /ERROR; SMA SKIppgD pa +F [Aib
/TEST SPA
CLA /AC=g
SPA
£4, HALT /ERROR} SPA FAILED 10 8KIP
JTEST SNA
CLA /AC=8
SNA
SKP «g Faéd
€5, HALT JERROR:; SNA SKIppgp o% S¥
/TEST SEL = CLL
[ /JLINK =2
SEL
s, HALT /ERROR; SgL FAILED T0 SKIP OR
/CLL FAILED TQ CLEAR _INK
/TEST SNL
CLL /UINK=D
SNL
SkP

£7, HALT /ERROR) SNL SKIPPED




£8,

£9,

£18,

E11,

£12,

£13,

E14,

CLAICLL
SEA
HALT

CLAICLL
Sz~
AALT

CLA
SK213pA
HALT

CLA
Sk>13SNA
Sk*?
AALT

ClLw
SK?13zL
HALT

CLA
SPATSNA
SKP
HALT

CLAtILL
SparszL
HALT
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/TEST CLAICLL
/FAC=3, L=0

/ERROR; AC NOT @

/TEST CLA:CLL
/AC=0, L=¢

/ERRQOR; L NOT 2

/TEST SKPISPA
/AC=0

/ERROR; SKP!SPA
/TEST SKPISNA
/AC=0

/ERROR3 SKP!SNA

/TEST SKPISZL
/L=1

/ERROR; SKP!SzL
/TEST SPAISNA
/AC=¢

/JERROR; SPA!ISNA

/TEST SPAISZL
/L=0, AC=p

/ERROR; SPA!SzL

FAI_ED TO SKIP

SK13P:D

FAT_EJD To SKIP

SK12P1D

FAI_EJ Tg SKIP
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/TEST SNAISEL

CLasSLt /L=0, AC=D
SNATSZL
SK?
£15, AALT JERROR: SnA!SzL SKI2PuD
JTEST SNAISPAISKPISAL
CLATTLL /AC=0, L=0
SK2!1SPAISZLISNA
SKP : /ERROR; SNA!SPAISKP!ISZL SKIPPED
£16, HALT
/TEST SMA!SZA
CLA /AC=Q
SMA15ZA
EL7, HALT JERRORs SMA SzA FAI_EJ T0 SKIP
/TEST SMAISNL
CLAtCLL /L=8, AC=¢
SMA TSN
SKP
£18, HALT /ERROR; SMA!SNL SKI2PID
/TEST SZA!SNL
CLAatCLL /L=8, AC=0
SZASNL
£19, HALT JERROR; SzZA!SNL SKI>PID
/TEST SMA!SZAISNL
CLAtCLL /AC=0, L=0
SMA!3ZAISNL
£E29, HALT JERROR: SMA!SZAISNL FAILED 7O SKIP
o /TEST CML - SZL
{ om 2 CLL /L=
i CML /L=l

/ERROR} SZL SKIPPED 0OR
/CML FAILED TO SET _INK




CLe
M.
Cie
5.
€22, HALT

£23, HALT

SLi

oML

CLi!CML

SEL

SKP
£24, HALT

e

—CLL
CML
CLi
CLutlmb
SZL

£25)

Ezén

CLA
CLLtCmL
SZL!1SNA
SKP
£27, HALT
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/TEST Cil
/L=8
/L=1
/L=d

JERROR; CLL FAILED 70O CLEAR LINK

/TEST CML
/L=8
/L=1
/L=8

JERROR) CML FAILED 10 SET LINK

/TEST CLL!CML
/LED
/L=l
/L8l

/ERRORS CLL!CML
/TEST CLLICML
/L=8

/LEL

/=0

/el

/ERROR) CLL:!CML

/TEST SKPISZL
/L=8

/ERROR; SKP!SZL
/TEST SEL!SNA

/AC=@
/L=l

/ERROR; SZLISNA

FAI_ED TO SET LINK

FATLED TO SET LINK

FAT.ED To SKIP

SKI12PID
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/TEST SZL!ISPA

CLA /AC=0
Lot /L=l
SEL.ISPA
SKP
£es, HALT /ERROR} SZL!SPA SKI2P:ip
/TEST CLAICLLICML
CLAYZLLICML JAC=0, L=t
SZ. '
SKP
£29, HALT JERROR; LINK NOT 1
/TEST CLAICLLICML
CLATCLLCML /AC=8, =1
SgA
£39, HALT /ERROR AC NQOT 2
/TEST SNL!SZA
CLAICLLICML /AC=8,L=1
SNL1SzA
£31, HALT /ERROR; SNLI!SZA FAI_ED To SKIP
/TEST SNL!SMA
CLAICLLICML /AC=0, L=1
SNL!SMA

£E32, HALT /ERROR; SNL:SMA FAIL_EJ TO SKIP
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/TEST SNL!ISZA!SMA

CLAICLLICML /AC=@, (=1
SNL!SZA!SMA
£33, HAnT /ERRORS SNL!SZA!SMA FAILED

/70 SKIpP
/TEST CMA-CLA

CLA /AC=0

CMA /ACSONES

CLA :

SNA

SKP .

HALT /ERROR) CLA FAILED 70 CLEAR AC

/TEST CMA-SPA

CLA /AC=2
CMA /AC=0NES
SPA
SKP
E35, HALT /ERROR) SPA SKIPPED 0%

/CMA FAILED TQ SET AC 81T @

/TEST CMA~-SNA

LA /AC=D
CHa - /AC=0ONES
SNA4
£36, HALT /ERROR; SNA FAILED TO SK[P
/0R CMA FAILED TO SET ANY AC BIT
/TEST CMA
CLA - /AC=0
CMA /AC=ONES
CMA /AC=0
SNA
SKP
€37, HALT /ERROR; CMA FAILED 7O
/COMPLIMENT AC T0 @
/TEST CLAICMA
CLAICMA /AC=0ONES
SNA
£38, MALT /ERROR; CLAICMA FA7.ED TO

/SET ANY AC BT



£39,

E4e,

£41,

42,

£43,

44,

CLA'THMA
SZA

SK?
HALT

CLATCMA
SMA
HALT

CLAITMA
SKP!SpA
SKP
HALT

CLAICMA
SKP!SNA
HALT

CLATTMA
SPAISNA
SKP
HALT

CLAICMAICLLICML
SNA!SPAISKP!SZL
SKP

HALT

/TEST S?Z
/AC=QNES
/ERROR;

/TEST SHM
/AC=0ONES

/ERROR;
/TEST SX
/AC=0ONES
/ERROR;

/TEST SK
/AC=0ONES

/ERROR;
/TEST SP
/ACZONES
/ERROR
/TEST SK
/AC=0NES

/ERROR}
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A

SzA SKIPPED

A

SMA FAILED 7T0 SKIP

P1SPA

SKP1SPA SKI2PID

P1SNA

SKP!SNA FAI_ED TO SKIP

AISNA

SPAISNA SKI12PID

P1SNAISPA
s L=d

SKPISNAISPA!SEZL SKIPPED



£45,

£46,

£E47,

E48,

£49,

£58,

CLAICTMA
SMALSZA
HALT

CLAITCMAICLL TCML
SMATSZA!SNL
AT

CLAICHMA
NOP

CMA

SZA
HALT

CLA
NOP
SzA
HALT

CLLtoml
NQP

SNL
HALT

CLL
NOP
SzL
HALT
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/TEST SMA!ISZA
/AC=0NES

JERRQR; SMA!SZA FAl FJ Tn SKIP

JTEST SMAISZAISNL
/AC=z=ONES, L=1

SERROR: SMA!SZATSNL

/TEST NOP
/AC=ONES

/AC=Q

/ERRQR;: NQP ALTERED THE AC
/TEST NOP

/AC=0

JERROR; NOP SET AN AC RIT
/TEST NOP

/L=t

/ERROR} NQP CLEARED THE LINK
/TEST NQP

/1.8

/ERROR; NOP SET THE LINK



£51,

£52,

£53,

£54,

£55,

£56,

£57,

CLA
SZAITMA
AT

CLAIIMA
SZAITLA
SK?
HALT

ClLe
SZu 1ML
HALT

CLuromt
SzLtCLL
SKP
HALT

CLAICMAICLL!ICML
SKP15zL1SPAICLA!
SKP

HALT

CLAICLLICML
SZAISNLICMAICLL
RALT

CLAICMA
SKP1CLA
NQP

SzA
HALT
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/TEST SZAICMA

/AC=0

/AC=0ONES

/ERRQR; SZA FAILED 710 SKIP

/TEST SZAICLA
/AC=0ONES

/AC=Q

/ERROR; SzA SKIppPED

/TEST SzL!1CML
/L=8

/JERROR: SzZL FAILED 710 SKiP
/TEST SzL1CLL

/=1

/ERROR; SZL SKIPPED

/TEST SKP!SZLISPA!C_A'CLL
/AC=0ONES, L=1

CLL /AC=zg, L=g

/ERROR; SKP!SzLi1SPA SKIPPED
/TEST SZAISNLICMAIC L
/AC=8, L=t

/AC=0ONES, L=0

/ERRORs S2A!SNL FAI_EJ TO SKIP
/TEST CLAISKP

/AC=0NES
/AC=0

/ERROR3 CLA FAILED 70O CLEAR AC




£58,

£59,

E60,

£61,

E62l

E63,

CLA
SKP1CLAICMA
NOP

CMA

SgA

4AT

CLi
SKP1CopLLiCML
NQP

SN

~ALT

CLAITHMA
CMA

CMA

CMA

CMA

CMA

SEA
HALT

CLL!CML
CML

CML

CML

CML

CML

SEL
HALT

CLaCLL
RAL

SEA
HALT

Szl
HALT
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JTEST SKPICLAICMA
/AC=D
/AC=ONES

/AC=9

JERROR; CLAICMA ray_EJ 10
/COMPLEMENT THE AC

JTEST SKPICLLICML
/=8
/L=l

JERROR; CLLICML FAI_E) TO SET
/THE LINK

/TEST CMA SERIES
/AC=0ONES

/AC=0

/AC=0NES

/AC=0

/AC=0ONES

/AC=0

JERROR; AC NOT @ CMA ~alLED

/TEST CML SERIES
/Lel
/L=0
/L=l
/L=8
/L=l
/L=9

JERROR: L NOT @ CML FAILED
/TEST RAL = AC
/AC=8, L=0

JERROR} AC NOT @ RA_ -AILED

/ERRORs LINK NOT @



t64,

£E65,

E66,

£E67,

£68,

E69,

CLAZLL
IpR

SZA
AACT

SZu
HALT

CLAICLL
TL

SZA
HALT

S#u
HALT

CLA!CLL
RTR

SZA
HALT

S2L
HALT
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/TEST RAR -aAC
/AC=0, L=0

JERROR; AC NOT @ RAR “AILED
JERROR; LINK NOT @ AR FAILED
/TEST RTL-AC

/AC=8, L=@

/ERROR; AC NOT @ RT. “AILED
JERROR; LINK NOT @ RT_ FAILED

/TEST RTR =~ AC
/AC=0, L=D

/ERROR; AC NOT @ RTX “AlLED

/ERROR; LINK NOT @ RTR FAILED




E7e,

£71,

E72,

£73,

E74,

E75,

£E76,

-

CLatZpbomL
AR

SMA

“A-T

CLATCLLICML

AR
Szt
HALT

CLAICLLICML
RAc

SNA

HALT

CLAsSLLICML
RAL

SEL

HALT

CLAICLLICML
RTR

SNA

HALT

CLAICLLICML
RTR

Szl

HALT

CLACLLICML
RTL

SNA

HALT
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/TEST RAR-SMA

/Aal=8, (=

/ERROR;
/FATLED

AC 81T @

/TEST RAR-SZL
/AC=8, L=1

JERROR; LINK NOT

/TEST RAL - SNA
/AC=9, L=t

/ERROR} AC BIT17

/TEST RAL-SZL
/AC=8, =1

/ERROR; LINK NOT

/TEST RTR-SNA
/AC=0, (=t

/ERROR; AC BIT 1

/TEST RTR-SZL
/7AC=@, L=1

/ERROR; LINK NOT

/TEST RTL~-SNA
/AC=8, L=1

/ERROR;
/FAILED

1

NOT L

3 AR

NOT L

3 RA_

NOT §

g TR

RAR OR SMA

FATLED

RAL OR SNA FAILED

FATLED

RTR OR SNA FAILED

FAILED

AC BIT 16 NJT 1 RTL OR SNA



£77,

£78,

£79,

E89,

£81,

CLaslileme
AT

SZEu

HALT

CLAtCLLICML
TAR

AL

SNu

HALT

CLATCLLICML
RTR

3TL

SNu

HALT

CLAICLLICOML
RAL

RAR

SNL

HALT

CLAICLLICML
RTL

RTR

SNL

HALT
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/TEST RTL-S5ZL
/AC=9, (=1
/ERROR; LINK NOT

/TEST RAR - RAL
/AC=0, (*1

/ERROR; LINK BIT

/TEST RTR=RTL
/AC=0, L=1

/ERROR; LINK BIT

/TEST RAL-RAR
/AC=8, =1

/ERROR; LINK BIT

/TEST RTL-RTR
/AC=8,L =1

/ERROR) LINK BIT

NOT

NOT

NOT

NOT

FAILED

AFTER ROTATES

AFTER ROTATES

AFTER ROTATES

AFTER ROTATES




E82,

£83,

CLATCLLICHML
AR
QAR
A3
AR
AR
<AR
JAR
RAR
AR
AR
AR
RAR
AR
AR
RAR
AR
RAR
RAR
SNA!SZL
HALT

CLAICLLICHML
RAL
RAL
RAL
AL
RAL
RAL
RAL
RAL
RAL
RAL
RAL
RAL
RAL
RAL
RAL
RAL
RAL
RAw
SNA!ISZL
HALT
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/TEST RAR SERILS AND .INK
/AC=0, L=1

/ERROR; AC BIT 17 NOT 1» OR L=1 AFTER
/ROTATE SERIES

/TEST RAL SERIES ANJ .INK
/AC=@, L1

JERROR; AC BIT @ NOT L, OR L=1 AFTER
JROTATE SERIES
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JTEST RTL SERIES AND _INK

CLAITTLLICML /AC=0, L=1

T

RTL

AT

AT

RT.

RTL

RTu

RTL

AT

SnAISzL :

E84, HALT JERROR; AC BIT @ NOT L, OR L=1 AFTER
JROTATE SERIES

/TEST RTR SERIES AND _INK

CLA:CLLICML /AC=0, LINK=1

]RTR

RTR

RTR

RTR

RTR

RTR

RTR

RTR

RTR

SNA!SZL

€85, HALT JERROR; AC BIT 17 NJT 1s OR L=1 AFTER

/ROTATE SERIES




£ge,

€87,

£E88,

E89,

£92,

E91,

CLATSMALCLL tCML
A%
CMA
544
HAuT

SN
HALT

SLATCMAICLLICML
RA

CMA

SZA

HALT

SNL
HALT

CLAICMAICLL I CML
RTR
CMA
SZA
HALT

SNL
HALT
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/TEST RAR
/AC=0ONES, L=1

/AC=Q

/ERRQR; AC NOT QONES R4AR FAILED

JERROR; LIVK NOT 1 A< FAILED

/TEST RAL
/AC=ONES, L=1

/AC=0

/ERROR; AC NOT ONES RAL FAILED

/ERROR; LINK NOT 1 4. FAILED

/TEST RTR
/AC=0ONES, i=1

/AC=0

/ERROR; AC NOT ONES RIR FAILED

JERROR} LINK NOT 1 <73 FAILED
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/TEST RTL
CLAICMAICLLICHML /AC=ONES, ©L=1
AT
CMA /AC=2
SZA
€92, HALT /ERROR; AC NOT ONES RiL FALED
SNw
E93, HALT ZJERROR; LINK NOT 1 37T. FAILED
/TEST RAR
CLAICMAICLL /AC=ONES, L=0
AR
CMA /AC=10000
SNA
E94, HALT /ERROR; AC BIT @ NOT 2. RAR FAILED
SNL
E95, HALT /ERROR: LINK NOT 1 AR FAILED
/TEST RAL
CLAICMAICLL /AC=0NES, L=0
RAL )
CMA /AC=000001
SNA
€96, HALT /ERROR; AC BIT 17 NJT 4, RAL FAILED
SNL.

£97, HALT /ERROR; LINK NOT RA_ TAILED
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/TEST RTL
CLATCMAICLL /AC=0ONES: L=0
T
CMA /AC=002002
SNA
£98, H4cT /ERROR; AC BIT 16 NOT 8 RTL FAILED
SNw
£99, HACT ' /ERROR; LINK NOT 1 37T.. FAILED
/TEST RTR
CLarlMAICLL /AC=ONES, L=D
TR
CMA /AC=2008000
SNA
£109, HALT /ERROR; AC BIT 1 NOT 3 RTR FAILED
SNL
£101, HauT /ERROR; LINK NOO 1 T3 FAILED
/TEST RAR-RAL
CLAICMAICLL /AC=ONES: L=0
AR .
RAL
CHA /AC=0
SZ4
£102, AALT /ERROR; AC NOT ONES ATTER ROTATES
S#EL

€183, HALT /ERRORy LINK NOT @ AFTER ROTATES



£E104,

E1D25,

E£106,

£187,

£E108.,
STARY

CLAtCMAICLL
TR

QT

CMA

SZA

HALT

SZL
HALT

CLALCHAICLL
RAL

RAR

CMa

SzA

HALT

SEL
HALT

CLA'CMAICLL
R

RTR

CMA

SEA

HALT
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/TEST RIR=RTL
/AC=0ONES, L=8
/AC=0

/ERROR3 AC NOT ONES ATTER ROTATES

/ERROR; LINK NOT @ AFTER ROTATES
/TEST RAL=-RAR

/AC=0ONES, L=9

/AC=0Q

/ERROR; AC NOT ONES ATTER ROTATES

/ERROR; LINK NOT @ AFTER ROTATES
/TEST RTL=-RTR

/ACSONES, L=0

/AC=0

/ERROR; AC NOT ONES ATTER ROTATES
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/PDP-9 INSTRJCTION TEST TAPE 1A
/RAR SERIES
CLATTMAICLL /AC=0ONES, L=D
QAR
AR
AR
RAR
RAR
AR
AR
AR
4R
QAR
RAR
RAR
AR
RAR
AR
AR
AR
JAR
CMAtCml /AC=000001, L=93
SNA!SZL .
£109, HALT JERROR; AC BIT 17 NJT 1, QR L=0 AFTER
/ROTATE SERIES :

/TEST RAL SERIES TEST

CLAICMAICLL JAC=ONES, L=@

JAL

RAL

RAL

RAL

RAL

RAL

RAL

RAL

RAL

RAL

RA-

RAL

RAL

R

RAL

QAL

RAL

RAL

CML /AC=377777, L=9

SpArsSzL

£118@, HALT JERRQR: AC BIT @ NOT 3, OR L=0@ AFTER

/ROTATE SERIES :
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/TEST RTL SERIES

CLAIOMAICLL /AC=ONES, L=0

RTe

RTw

RTw

RTe

RTL

ATL

RTL

RTL

RTL

CML /L=08

SPAtSzL

E111, HALT /ERROR; AC BIT @ NOT 3, OR L=# AFTER

/ROTATE SERIES

/TEST RTR SERIES

CLAtCMAICLL /AC=ONES, L=z@

RTR

RTR

RTR

RTR

RTR

RTR

RTR

RTR

RTR

CMA1CML /AC=0008801, L=0

SNAISEZL

E112, HALT /ERROR; AC BIT 17 NOT 1, OR L=0

/AFTER ROTATE SERIES

/TEST CLA!IRAL

CLAICMAICLL /AC=ONES, L=0

CLAIRAL /AC=9

SZA

€113, HALT JERROR3 AC NOT @, CLA!RAL

/FAILED
/TEST CLA!RAR

CLAICMAICLL /AC=ONES, L=0

CLAIRAR /AC=0

SZA

£114, HALT /ERROR; AC NOT @, C_A!RAR FAILED




E115,

E116,

E117,

£118,

E1i9,

E129,

CLACLLCML
CLuwt3al

3ZA

HA.T

CLAICLLICML
CL.!RAR

SZA

HALT

CLAICMAICLLICML

CLLtTLALRAL
SZA
HALT

SE.
HALT

CLAICMAICLLICML

CLLICLAIRAR
SZA
HALT

SZL
HALT
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/TEST CLL!RAL
/AC=@, L=1
/AC=8, (=0

/ERRQR; AC NOO @, C_L!RAL

/TEST CLL!RAR
/AC=@, (=1
/AC=0, L=9

FAILED

/ERROR; AC NOT @, C_L!RAR FAILED

/TEST CLL!CLAIRAL
/AC=0ONES, L=1
/AC=8, L=g

/ERROR; AC NOT g, L NJT @

/CLLICLAIRAL FAILED

/ERROR; LINK NOT g
/CLLICLAIRAL FAILED

/TEST CLLICLAIRAR
/AC=ONES, L=1
/AC=¢, =@

/ERROR; AC NOT 2
/CLLICLAIRAR FAILED

/ERROR; L NOT ©
/CLLICLAIRAR FAILED



E121,

£122,

£123,

E124,

E125,

Ex26,

CLAaCLL
RALISKP
HALT

CLurlmbrcLa
RTR

SPARAL
HALT

CLLICHMLICLA
SPALRAR
HALT

CLL:iCMLICLA
RTR

RAR

SPAIRTL
HALT

CLLyCMLCLA
RAL

SPAIRTR
HALT

ClarCriicmt
RAR
RAL1SPA

SKP
HALT
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/TEST RALISKP
/AC=8, L=2
/ERROR; SKP FAILED
/TEST RALISPA
/AC=8, (=1
/AC=2p0080@, L=0

/ERROR; SPA FAILED
/TEST RARISPA
/AC=0, L=1

/ERRQORs SPA FAILED
/TESS RTLISPA
/AC=8, L=1
/AC=220002
/AC3400000

/ERRORS SPA FAILED

/TEST RTRISPA
/AC=8, L=1
/AC=p@p001, L=8

/ERROR; SPA FAILED
/TEST SPAIRAL
/AC=8, L=
/AC=4000020

/ERRORs SPA SKIPPED

T0

TO

70

TO

SKIP

SKIP

SKIP

SK1P

SK1P




€127,

£128,

E129,

E13@,

E431,

E132,

CLazlrlom
RAR

RAR1SPA

SKP

HALT

CLAICLLIOML

RAR
RTL1SPA
SKP
HALT

CLATCLLICML
RAR

RTR1SpA

SkP

HALT

CLAICLLCML
RAR
CLAISPAIRAR
SKP

HALT

CLAtCLLICML
RALISNA

SKP

HALT

CLAICLL!CML
RARISNA

SKP

HALT
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/TEST SPAIRAR
/ACZ@, L=1
/AC=400090

JERROR: SPA SKIPPED
/TEST SPAIRTL
/AC=8, (=1
/AC=400800

/ERROR; SPA SKIPPED
/TEST SPAIRTR
/AC=8, L=1
/AC=400008

/ERROR; SPA SKIPPED
/TEST CLAISPAIRAR
/AC=8, L=1
/AC=4P00900

/ERROR; SPA SKIPPED
/TEST RALISNA
/ACZ8, 31

/ERROR; SNA SKIPPED
/TEST RARISNA
/AC=8, L=1

/ERROR; SNA SKIPPED
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/TEST RTL:SNA

SLATZLLICML /AC=Q, L=%
RTLISNA
SKP
£133, HALT /ERROR: SNA SKIPPED
/TEST RTR!SNA
CLATTLLICML /AC=@, L=1
RTR!ISNA
SK? .
£134, HALT /ERROR; SNA SKIPPED
/TEST RAL!SNA
CLAICLLICML /AC=@, L=t
RAR /AC=400000
SNATRAL
E135, HALT /ERROR; SNA FAILED 71O SKIP
/TEST RAR{SNA
CLAICLLICML /AC=8, L=1
RAL /AC=0003081
SNA!RAR
£136, HALT /ERROR; SNA FAILED 70O SKIP
/TEST RTLISNA
CLATCLLICML /ACz@, L=1
RTR /AC=202800
SNAIRTYL
£137, NALT /ERROR; SNA FAILED TO Sk¢P
/TEST RTRISNA
CLA'CLL!CML /AC=8, L=1
RTL
SNA'RTR

E138, HALT /ERROR SNA FAILED To 3KIpP
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/TEST CLLISNAIRAR

SuarsuarcLL /AC=0ONES, L=V
CLAtSNAIRAR
£139, 45T JERROR; SNA FAILED 10 SKIP
/TEST RAL13ZL
CLAtCLL oML /AC=0, L=1
QAL 520 .
Sx?
E1490, HA.T ' /ERROR; SgL SKIpPePED
/TEST RAR!SZL
CLAICLLICML /AC=0, L=1
RAR!ISzL
5K
€141, HALT /ERROR} SzL SKIPPED
/TEST RTL!SZL
CLATZLLICML /AC=8, L=1
RTLISzZL
SK>
£142, HALT /ERROR; S2L SKIPPED
/TEST RTR!SZL
CLAIZLLICML /AC=@, L=1
RTR15z2L
SKP
E£143, HALT /ERRQR} SzL SKIPPED
/TEST RAL!SZL
CLAtCMAICLL /AC=0ONES, L=0
RAL!ISzL ’
E144, HALT /ERROR; S2L FAILED 70 SKIP
/TEST RARISZEL
CLA!CMAICLL /AC=ONES: L=@
RAR!SzL

£145, HALT /ERROR; SgL FAILED T0 SKIP
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/TEST RTR!SEL

CLATCMAICLL /AC=ONES, (=0
RTRISEL
E146, HALT /ERROR; SzL FAILED 70 SKIP
/TEST CLL!SZL!RAL
CLarCLLiCML /AC=@, L=1
CLLISZLIRAL
SK?
£147, HALT ) /ERROR; SzZL SKIPPED
/TEST SMA!RAL
CLarlLlicML /AC=@, L=1
RTR /AC=200000
RALISMA
SKP
E148, HALT /ERROR; SMA SKIPPED
/TEST SMAIRAR
CLAICLLICML /AC=8, =1
RAR!SMA
SKP
€149, HALT . /ERROR; SMA SKIPPED
/TEST SMAIRTL
CLAICLLICML /AC=8, L=1
RTR /AC=2000080
RAR /AC=1000820
RTLISMA
SKP

£158, HALT
/TEST SMAIRTR

CLACLLICML /AC=8, L=1
RAL /AC=000001
RTR!SMA

SKP

€151, HALT /ERROR; SMA SKIPPED
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/TEST SMAl<AL

SLALS LA s ACz@, L=1
~AX /AC=42208%28, w=0
JA_ISMA
£192, ~AT JERRQOR; SMa FalLEp 0 axXIp

JTEST SHAI=AR

SoArTMALT FACEONES, =P
“AXISMA
£183, HALT JERKQR; SMA FAILED 9 SX|[P

/TEST SMAIRTL

-~

SLATZ LrCHt /AC=0, _=1
AR /AC=400008, L=0
X7t SMA
£1%4, HA-T /JERRQR: SMA FAILED 90 SKIP
/TEST SMAIRIR
SLATTLL I CML /AC=@, _=1
IAR /AC=480288¢, L=2
ITRISMA
£155, HALT /ERROR; SMA FAILED 10 SKIP
/TEST SHAIRARICLA!C .
SLAICLLICML /AC=@, (%1
AR /AC=400000, L=0
CLATCLLIRAR!SMA
£1%6, 4ALT JERRQR; SMA FAl{cp 70 SKipP
/TEST SZAIRAL
CLATCLLICML /AC=0@, =1
1AL /AC=0U7p01, L=0
{A!SZA
SK®

£157, 44T /ERRQOR; SzA SKIpPED




Page 47

/TEST SZAIRAR

CLAICLLICHL /AC=8, =1
AL /AC=0@38001, L=0
JARISZA
SK?
£158, AACT JERRORS SzA SKklpPED
/TEST SZA!RTL
CLATCLLICML /AC=8, L=1
RTR : /AC=202000, L=0
RTLISZA
SKP
£159, HALT /ERROR; S2A SKIPPED
/TEST SZAIRTR
CLAICLLICML /AC=8, L=1
RTL /AC=0002802
RTR!SzA
SKP
£160, HALT /ERROR; SzA SKIpPED
/TEST SzAIRAL
CLATCLLICML . /AC=8, L=1
RAL!1SZA
£E161, HALT /ERROR; SzA FAILED 10 SKIP
/TEST SZAIRAR
CLA:CLLICML /AC=@, L=1
RARISEZA
£162. HALT /ERROR; Sz2A FAILED 10 SKIP
/TEST SZAIRTL
CLAtCLL!ICML /AC=8, L=1
RTL!ISZA

€163, HALT /ERROR; SgA FAILED TO SKIP
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/TEST SZAIRTIR

CLAITLLICML /AC=G, (=1
RTXI5z4
£164, “4A-T JERRQOR, Sz4 FAILED 11 sKIR
JTEST CoLu!RARICLAIS#A
SLATTLLICML /AC=2, L=1
RA /AC=4920c
CL-YRARICLAISER
SK*®
£165, HALT JERKOR; Sz4 SKIPPED
/TEST SNL!IRAL
SLATTLLICHL /AC=@, L=1
RALISNL
£E166, HALT /ERROR; SNL FAILED 70 SKIP
/TEST SNL!RAR
CLACTLL I CML /AC=8, L=1
RARISNL
€167, HALT /ERRQOR; SNiL FAILED 1D sSKIP

/TEST SNL!RTL
CLA:CLLICML

ITL!SNL
£168, 4ALT JERROR; SNL FAILED TO
/TEST SNLI!RTR
CLAtCLLICML /AC=8, L=1
RTRISNL
E169, HALT /ERROR; SNL FALLEDDTO SKIP
/TEST SNLIRAL
CLAICMAICLL /AC=ONES, L=8
JAL!SNL
SK®

E172, AT /ERROR; SNL SKIPPED



E171.,

£172,

E173,

£174,
START

SLATIMAICLL
A3 SNL

SK?

HA_T

CLATCMAICLL
RT-1SNL

SK?

HALT

CLAtCMAICLL
RTRISNL

SKP

HALT

CLAICSHAICLLICML
CLATCLLIRAL 'SNL
HALT
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/TEST SNLIRAR
/AC=0ONES, L=B
/ERROR; SANL SKkIppPgED
/TEST SNLIRTL
/AC=0NES, L=¢
/ERROR; SNL SKIPPED
/TEST SNLIRTR
/AC=ONES, Lz0
/ERROR; SNL SKIPPED

/TEST CLAICLLIRALISNL
/AC=0ONES, L=1

/ERROR; SNL FAILED 70 SKIP



/INSTRUCTION TEST

£175,

E176,

E177,

E178,

£E179,

E182,

E181,

E182,

£E183,

SLAICLL
~AN Dyiew
QAL

SNt lLL
AT

A
SNLICLL
HALT

RAL
SNLICLL
HALT

1AL
SNLICLL
HALT

RAL
SNLICLL
HALT

SzA
HALT

CLAtCMAICLL
LAW Zg0gg
SEL

HALY

RAL

SNL:CLL
HALT

RAL

SNLICOLL
HALT
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TAPE 2

/TEST LAW 76800¢, A>=2
/AC=Q
/AC=768022
/AC=740209
/L=
JERROR; AC NIT ¢ NO' A 1, LAW
/FATLED
/AC=700080Q
/=1
JERROR; AC BIT 1 NOT & 1, LAW
/FAILED
/AC=600098
/L=t
/ERROR: AC BIT 2 NOT & 1, LAW
/FALLED
/AC=400000
/L=1
,ERROR} AC BIT 3 NOT A 1, LAW
/EALLED
/AC=00000
/L=l
JERROR; AC BIT 4 nNOT A 1, LAW
/FAILED
/AC=0000080
/ERROR; AC BITS s5.17 N0T 2
JLAW 760802 FAILED
/TEST LAW 762@9¢, AC=INES
/AC=ONES, L=0

/AC=z760000
/ERRORs LINK NOT A 3, LAW SET
/AC=7400800
/L&l

/ERROR; AC BIT g NOT A 1, LAM
/AC=730008

/L=l

/ERRDR; AC BIT 1 NOT A 1, LAW

760408

760020

768000

760000

760000

LINC

768008 FAILED

760008 FAILED



£184,

£185,

E186,
£187,

RAL
SNLICTLL
TALT
RAL
SNLITLL
HALT
RAL
SNL!CLL
HALT
SZA
HALT
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/AC =62008¢7
/=1
/ERROR; AC
/AC=40008%8
/L=1
/ERROR; AC
/AC=002a¢e
/=1
/ERROR; AC
/AC=000000
/ERROR; AC
/LAW 7603002

BIT 2 NOT

BIT 3 NOT

BIT 4 NOT

BIT S 5«17
Falieo

& 1, LAW 7608¢ FAILED

A 1, LAW 760020 FAILED

& 1, LAW 76pgggg FAILED

NOT @




€188,

£189,

£E198,

E191,

SLatCLL
_AN 1aiEy
RT -

AT

T

SiNw

AT

CLarlLL
_AA 4pLo
T
RTo
7L
SMA
HALT

CLACLL
AN 2R0Q
RAL

RTL

RTL

RTL

SMA

HALT

CLAICLL
LAW 1008
RTL

RTL

RTL

RTL

SMA

HALT
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JTEST LAW 778084, AC 317 5
/AC=2

/a=772029
/AC=742901
/AC=6060%7
/AC=000837

JERROR; AC BIT 5 N0 &1, LAW 770087 FAILED

JTEST LAW 764980, ACZ 317 6
/AC=0

/AC=764000
/AC=722021
/AC=5080007
/AC=102037

JERROR; AC BIT 6 NOT 41, LAW 764000 FAILED

/TEST LAW 762800, AC 3177
/AC=0

/AC=7620%8
/AC=741299
/AC=620003
/AC=100817
/AC=4380876

JERROR ~AC BIT7 NOT A 1, LAW 762808 FAILED

/TEST LAW 7618Q¢, AC 317 8
/AC=Q

/aC=761000
/AC=704301
/AC=420027
/AC=100837
/AC=408174

/ERRDR; AC BIT 8 NOT A 1, LAW 761699 FAILED



£192,

£193,

£194,

CLarliL
A& 4p¢
QAL
T
RT.
AT
AT
SMA
HALT

CLarlLL
LAN 200
RTL

RT_

RTu

RTL

RTL

SMA
HALT

CLA!:LL
LAA 190
RAL
RTL
RTL
RTL
RTL
RTL
SMA
HALT

/TEST LAW 768433,

/AC=Q

/AC=76442¢
/AC=7410800
/AC=60848233
/AC=020817
/AC=1ppg76
/AC=40037¢

/ERROR; AC BIT 9 N0

/TEST LAW 760203,

/AC=0Q

/AC=760200
/AC=701091
/AC=4B4007
/AC=8202837
/AC=1008174
/AC=408769

/ERROR; AC BIT 12 NOT A 1,

/TEST LAW 76012¢,

/AC=8

/AC=760100
/AC=740820¢
/AC=6019903
/AC=004017
/AC=0200876
/AC=100370
/AC=481740

/ERROR; AC BIT 11 NJT A 4,

317
& 1, LAW 76@48¢ FAILED
31T 1@

LAW 768288 FAILED

31T 11

LAW 760100 FAILED



£E195,

£196,

£197,

CLarLL
“AA 47
RTo
T
7w
RTw
RTe
T
SMA
AT

CLA'CLL
LAWN 20
RAw
3T
RTL
RTu
QTL.
RTw
]RTL
SMA
HALT

CLAtCLL
LAWN 19
RTL
RTL
RTL
RTL
RTL
RTL
RTL
SMA
HALT

/TEST LAw
/AC=0
/AC=76224¢
/AC=700291
/AC=481887
/AC=0040837
/AC=020174
/AC=19276¢
/AC=4Q370¢

/ERROR; AC BIT 12

/TEST LAW 76%02¢,

/AC=0

/AC=762020
/AC=740340
/AC=608223
/AC=0010817
/AC=0084076
/AC=820370
/AC=10174¢
/AC=497600

A2 31712

NIT A 1.

AC 31T 13

LAW 7600408 FAILED

/ERROR; AC BIT 13 NOT A 1, LAW 760020 FAILED

/TEST LAY 760213,

/AC=g

/AC=760010
/AC=780D41
/AC=400207
/AC=0601837
/AC=084174
/AC=020768
/AC=1083700
/AC=417400

AC

/ERROR3 AC BIT 14 NOT A 1,

31T 14

LAW 768218 FAILED



£198,

£199,

£2egd.,

SpatZiL
~As 4

CLALCLL
LAK 2
RTe
RTL
RTL
RTL
RTL
RTL
RTL
RTL
SMA
HALT

CLAICLL
LAW 1
RAL
RTL
RTL
RTL
RTL
RTL
RTe
RTL
TL
SMA
HALT

/TEST LAw
/AC=Q
/AC=760004
/AC=740010
/AC=60B2843
/AC=000217

/AC=281276

/AC=@0437¢
/AC=02174¢
/AC=1@76082
/AC=437800

/ERROR: AC BIT 15 NOT A 1,

/TEST LAW 760p€2,

/AC=0

/AC=768002
/AC=780911
/AC=400047
/AC=0828237
/AC=p81174
/AC=004769
/AC=023700
/AC=z117489
/AC=476009

/ERRQR; AC BIT 16 NOT A 1,

/TEST LAW 768001,

/AC=0¢

/AC=760001
/AC=740002
/AC=680013
/AC=0080057
/AC=p82276
/AC=091378
/AC=zP@574¢
/AC=027620
/AC=13788¢
/AC=574999

/ERROR: AC BIT 17 N3T A 1,

LAW 760884 FAILED

LAW 768882 FAILED

LAW 60201 FAILED




£2e1,

E2¢2,

€203,

£204,

CiarTpLtoML
i

LR

<7 R

S lmb
LAs 7777
T

AT

AT
SZ-1CMA
jALT

SZA

AALT

CLAITLLICML
TAR

TR

RTR

TR
CLutCML
LAN 13777
QA

RTL

RTL

T
SZ.1UMA
HALT

SZA

HALT

Page 56

/1EST LAw /67777, AZ 31T 5

/AC=@, ~1
/AC=208K
/AC=40K
/C=1EK

/aC=767777
/AC=737777
/AC=577777
/L=D
/AC=@

JERROR; AC BIT 5 NOY & ¥, LAW 767777 FAILED
/AC=@
JERROR; AC DROPPED & RBRIT, LAW 767777 FAILED
JTEST LAW 773777, AZ 31T 6

/AC=8, L1

/AC=408K

/AC=100K

/AC=20K

/AC=4K

sAC=773777
/AC=767777
/AC=737777
/AC=577777
/L@
/AC=0
JERROR; AC BIT 6 NOT A B, LAW 773777 FAILED

JERROR: AC DROPPED A 31T, LAW 773777 FAILED
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/TEST LAW 775777, AZ 31T 7

CLarsibiome /AC=0, L=1
RTR /AC=2088K
RTR /AC340K
TR /AC=10K
TR /AC=2K
CL-t1lML
AW 15777 /AC=775777
ITL ) /AC=767777
3T /AC=737777
3TL /AC=577777
T /L=0
. SZL!ICMA /AC=0
£205, HALT JERROR; AC BIT 7 NOT & @, LAW 775777 FAILED
Sza
£206, 4ALT /ERROR; AC OROPPED A 31T, LAW 775777 FAILED
e /TEST LAW 776777, AZ 31T 8
{767 CLATCLLIOML /AC=8, L=1
RARY 7 % /AC=400K
]TR /AC=100K
]RTR /AC=28K
RTR . /AC=4K
TR /AC=1K
CLutml
LAd 16777 /AC=776777
RAL /AC=775777
RTL: B /AC=2767777
RTL /AC=737777
RTw /A4C=577777
RTL /L0
SZLICMA /AC=D
£287, HALT JERROR; AC BIT 8 NOT A& @, LAW 776777 FAILED
SzZA :
£208, HALT 5 e JERROR: AC DROPPED A 31T, LAW 776777 FAILED
/TEST LAW 777377, AC 31T 9
CLAYCLLICML /AC=08, L=1
RTR /AC=200K
TR /AC=48K
RTR /AC=10K
]7TR /AC=2K
RTR /AC=400
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CLot oMl
AN 173877 /aC=2777377
T . /AC=775777
AT /AC=2767777
AT . /AC=737777
T /AC=2577777
ATw /.98
SZoOMA /AC=0
£E2¢9, AT JERROR; AC BIT 9 NOT & @, LAW 777377 FAILED
SEA
€218, HAT /ERROR; AC DRQPPED & 31T, LAW 777377 FAILED
/TEST LAW 777577, ACZ 317 10
SLasCLiiomL /AC=8, L=1
RAR /AC=400K
TR /AC=1080K
TR /AC=28K
TR /AC=4K
TR /AC=1K
TR /AC=208
CLutlmb
LAN 17577 /AC=777577
AL /AC=777377
RT. /AC=775777
RTL /AC=767777
L /AC=737777
RTe /AC3577777
RTw /L=@
SZLICMA /AC=0
E2ii, HALT /ERROR; AC BIT 10 NJOT A @, LAW 777577 FAILED
SZA /ERROR; AC DROPPED A 31T, LAW 777577 FAILED

£212, HALT




E213,
E214,

E218,
E218,

CoAarCLL oMy
TR

RTR

7R

TR

7R

TR
CLotlim
LAW 17677
T

RTL

RT.

qTL—

RT.

RTL
SZLICMA
HALT

SZA

HALT

CLAICLLICML
RAR

RTR

RTR

RTR

RTR

RTR

RTR
CLLICML
LAW 17737
RAL

RTL

RTL

RTL

RTL

RTL

RTL
SEL1CMA
HALT
SEA
HALT

/TEST LAW 777677,

/AC=B, | =1
/4C=200k
/AC=40K
/AC=10K
/AC=2K
/AC=402
/AC=100

/AC=2777677

/AC=777377
/AC=775777
/AC=767777
/AC=737777
/AC=577777
/LED

/AC=g

/ERROR; AC BIT 11 NJT A @,
/ERRORs AC OROPPED A 31T,

/TEST LAW 777737,

/AC=8, =1
/AC=480K
/AC=100K
/AC=28K
/AC=4K
/AC=1K
/AC=280
/AC=40

/AC=777737

/AC=777677
/AC=777377
/AC=775777
/AC=2767777
/AC=7377277
/AC=577777
/Le@

/AC=8

/ERROR: AC BIT 12 NOT A @,

/ERROR; AC ORQPPED A 31T,

31T 11

LAW 777677 FAILED

LAW 777677 FAILED

317 12

LAW 777737 FALILED

LAW 777737 FAILED



E247,
E218,

£219,
£E228,

CLACLLICML
TR

RTR

TR

RTR

RTR

RTR

RTR
CLetiml
LAA 17757
7.

RT..

RTw

RTL

RTw

RTL

RTL
SELICMA
HALT
SzA
HALT

CLATCLLICML
RAR

RTR

RTR

RTR

RTR

RTR

RTR

RTR
CLL1CML
LAW 17767
RAL

RTL

RTL

RTL

RTL

RTL

RTL

‘RTL

S2L!1CMA
HALT
SzA
HALT
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/TEST LAW 777757, a2 31T 13
/AC=@, =1

/ACs248x

/AC=40k

/AC=10k

/AC=2K

/AC=400

/AC=108

/AC=28

/4C=777757
/AC=777677
/AC=777377
/AC=775777
/AC=2767777
/AC=737777
/AC=577777
/=8
/AC=8

/ERROR} AC BIT 13 NOT A@, LAW 77757 FAILED

/ERROR; AC DROPPED A 31T, LAW 777757 FALLED

/TEST LAW 777767, AC 31T 14
/AC30, L=¢

/AC=400K

/AC=2180K

/AC=28K

/AC=4K

/AC=1K

/AC=200

/AC=48

/AC=218

/AC=777767
/AC=777757
/AC=777677
/AC=777377
/AC3775777
/AC=767777
/AC=737777
/AC=577777
/=0
/AC=Q

/ERRORs AC BIT 14 NOT 18, LAW 777767 FAILED

/ERROR3 AC DROPPED A 31T, LAW 777767 FAILED
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JTEST LAW 777773, AZ 31T 15

CLAICLLICML /AC=8, L=1
RTR /AC=208K
RTR /AC=40K
RTR /AC=10K
RTR /AC=2K
TR /AC=440
RTR /AC=100
RTR /AC=20
RTR : /AC=4
CLetCML
LA® 17773 /AC=777773
RTL /AC=777757
RTL /AC=777677
RTL /AC=777377
RTL /AC=T75777
RTw /AC=767777
T /AC=737777
RTL /AC=2577777
RTL /Lxg@
SELICHMA /AC=P
E22y, HALT /ERROR3 AC BIT 15 NOT A @, LAW 777773 FAILED
SzA .
£222, HALT /ERROR3 AC DROPPED A 31T, LAW 777773 FAILED
/TEST LAW 777775, AC 31T 16
CLascLbicML /AC=0, L=t
RAR /AC3408«
RTR /AC=100K
RTR /AC=28K
RTR /ACE4K
ATR /AC=1K
RTR /AC=2g0p
RTR /ACzdg
RTR /AC=19
RTR /AC=2
CLLiCML
LAW 17775 /AC=777775
RAL /AC=777773
RTL /AC=777757
RTL /AC=777677
RTL /AC=777377
RTL /AC=277577
RTL JAC=767777
RTL /AC=2737777
RT, /AC=577777
RTL /Lud
SZLyCMA /AC=@
£223, HALT /ERROR: AC BIT 16 NOT A @, LAW 777775 FAILED
SZA

£224, HALT /ERROR} AC DROPPED A 31T, LAW 777775 FAILED
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JTEST LAW 777776, AZ 317 17

SLATLLICML /AC=8, (=1
TR /AC=20@K
TR /AC=40K
RTR /AC=10K
RTR /AC=2K
TR /AC=400
RTR /AC=108
TR /AC=20
TR /AC=4
RTR /AC=1
CLL!CML
LAW 17776 /AC=777776
AT /AC=777773
RTe /AC=2777757
RTi /AC=777677
AT /AC=777377
IMe /AC=z775777
RTL /AC=767777
RTL /AC=737777
RTw /AC=577777
RTL /L=0
SZLIOMA - /AC=0
£225, HALT JERROR; AC BIT 17 NJT A @, LAW 777776 FAILED
SZA
£226, 4ALT /ERROR3 AC ORQPPED & 31T, LAW 777776 FALLED

START
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/PDP-9 [NST TEST - PART 2

/TAPE 3
/TEST LAC @
CLAITLLICML /AC=@
-AC <p /800000
‘ SZA
E£226A, HALT JERROR; AC NOT @ LAC
/FAILED
SNL
.. E226B, HAALT JERRORS LINK NOT 1 AFIER
/A LAC KO
/TEST LAC X@, AC BIT 2
CLargLiroMe /AC=@, L=
RAR /AC=480K
LAC Xg /200000
SgA
£226C, HALT JERROR} AC 8IT @ NOT @
/AFTER LAC KB
/TEST LAC K@, AC BIT L
CLAICLLICML - /AC=p, L=1%
RTR /AC=2808K
LAC <@ /380000
SZA
E226D, HALT /ERROR} AC BIT 1 NOT @
JAFTER LAC K@
/TEST LAC XK@, AC BIT 2
CLAICLLICML /AC=@, =1
RTR /AC=280K
RAR /AC=182K
LAC Kg /000802
SzA
E226E, HALT /ERROR: AC BIT 2 NOT 3

/AFTER LAC K@




£227,

£228,

£229,

£238,

£E231,

SLATILL oML
~7R
RTR
AT K@
SZ4a
“ALT

CLAICLL 1CML
TR

RTR

QAR

LAC <9

Spa

HALT

CLAtcLL oML
TR

RTR

RTR

LAC <¢g

SZA

HALT

CLAtCLLICML
RTR

RTR

RTR

RAR

LAC Xg

SZA

HALT

CLArCLLICoML
RTR

RTR

RTR

]RTR

LAC Ag

SZA

HALT
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/TEST LAC 8. AC
/AC=0, L=}
/AC=200K
/AC=49K
/eeeRae
/ERROR3 AC BIT 3
/TEST LAC %@, AC
/AC=0, u=1
/AC=200k
/AC=40K
/AC=S20K
/800000
/ERROR; AC BIT 4
/TESY LAC %@, AC
/AC=0, L=j
/AC=2088«

/AC=40K

/AC=10K

/000808

/ERROR: AC BIT 5
/LAC K@ FAILED

/TESY LAC K@, AC
/AC=8, (=1
/AC=200K

/AC 40K

/AC=210K

/AC=4yK

/2090000

/ERROR) AC BIT 6
/LAC K@ FalLED

/TEST LAC K@: AC
/AC=8, L=}
/AC=208K

/AC=40K

/AC=10K

/AC=z2K

/9000082

JERROR; AC BIT 7

BI73

NO 't

Bl14

NOT

BIiS

NOT

BIT

NOT

BIT7

NOT

d'

2

5

3

2,

LAC K¢ FAILED

LAC K@ FAILED

LAC K8 FAILED
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/TEST LAC X8, AC B!V 3

CLACLLICML /AC=2, =1
TR /AC=200K
RIR /AC=48K
]TR /AC=10K
TR /AC=2K
RAR /AC=1K
LAC <2 /800000
Szh '
£232, HALT /ERROR; AC BIT 8 NOT 4, AC K@ FAILED
/TEST LAC K@, AC BIT9
CLAITLLICML /AC=8, L=t
RTR /AC=288K
RIR /AC=48K
RTR /AC=18K
RTR /AC=2K
RTR /AC=4080
LAC <g /800080
SZA
£233, HALT /ERROR) AC BIT 9 NOT 3, LAC K@ FAILED
- /TEST LAC X@, AC BIT1D
CLAITCLLICHL /AC=0, _=1
RTR /AC=2080K
RIR /AC=48K
RTR /AC=18K
RTR /AC=2K
RTR /AC=480
RAR /AC=2088
LAC Xg /000888
SEA
£234, HALT /ERROR) AC BIT 1@ NOT @, LAC K@ FAILED
/TEST LAC K@, AC BITH1L
CLAICLLICML /AC=0, | =1
RTR /AC=288K
RTR /AC=42K
RTR /AC=10K
RTR /AC=2K
RTR /AC=480
RTR /AC=100
LAC Xg /300080
SZA

£235, HALT /ERROR; AC BIT 11 N3IT @ LAC K@ FAILED




£236,

£237,

E£238,

SLAatCLLICML

TR
TR
TR
T
TR
TR
RAR
LAC
SZA
HALT

CLAICLLICML

RTR
RTR
RTR
RTR
TR
TR
RTR
- AC
SZA
HALT

CLA'CLLICML

RTR
RTR
RTR
RTR
RTR
RTR
RTR
RAR
LAC
SZA
HALT

<0

X9

X

/TEST LA
/AC=@, L
/AC=2082K
/AC=408K

/AC=18K
/AC=2K

/AC=408
/AC=10@
/AC=48

/320008

JERROR}

/TEST LA
/AC=z0, L
/AC=200K
/AC=49K
/AC=18K
/AC=2K
/AC=400
/AC=108
/AC=28
/080200

/ERRQOR}

/TEST LA
/AC=0@, L
/AC=288K
/AC=40K
/AC=10K
/AC=2K

/AC=4AB0
/7AC=108
/AC=28

/AC=1g

/0000600

/ERROR}
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C X@, AC BIT 12
=1

AC BIT 12 NJIT @

C XK@, AC BIT13
=1

AC BIT 13 NOT 4.

C K@, AC BIT L4
=1

AC BIT 14 NOT @,

LAC K@ FAILED

LAC K@ FAILED

LAC K@ FAILED



£239,

E248,

£241,

CLAITLLICML

TR
XTR

CLasCLLoML

RTR
TR
RTR
RTR
RTR
RTR
RTR
RTR
RAR
LAC
SZA
HALT

CLAtCLLICML

RTR
RTR
RTR
RTR
RTR
RTR
RTR
RTR
RTR
LAC
SZA
HALT

<9

Xe
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/TEST LAC XK@, AC 811

/AC=8, L=1
/AC=200K
/AC=48K
/AC=108K
/AC=2K
/AC=400
/AC=10@
/AC=20
/AC=4
/908000

15

/ERROR3 AC BIT 5 NoOT 2,

/TEST LAC X@,» AC BIT1S

/AC=g, L=1
/AC=208K
/AC=40K
/AC=18K
/AC=2K
/AC=400
/AC3100
/AC=20
/AC=4
/AC=2
/000800

/ERROR; AC BIT 16 NJOT 2.

/TEST LAC XK@, AC BIT17

/AC=8, L=1
/AC=200K
/AC3 48K
/AC=18K
/AC=2K
/AC=400
/AC=1082
/AC=20
/AC=4
/AC=1
/800000

/ERROR; AC BIT 17 NOJT @,

LAC K@ FAILED

LAC K@ FAILED

LAC K@ FAILED




E2421

£243,

E244,

E245,

£246,

£247,

E248,

SLATCOMAICLL
AT 4

SZA

HA-T

CLAICMAICLLCML
LAT <@

SNw

AT

CLAICMAICLL
LAC «p

SZL

HALT

CLatCLL
LAC <40¢K
AL

SNL

AALT

SZa

HALT

CLaiCLi
LAC X208k
RTL

SNL

HALT

Szh

HALT
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/TEST LAC <8 AC=0NES
/AC=0ONES, L=¢
/e 00
/ERROR; AC NOT @, LAC KO FAILED
/TEST LAC <@, AC=QN:S, L=1
/AC=0ONES, L=1
/0080808
/ERROR; LINK nNOT 1, LAC K@ FAILED
/TEST LAC K@, AC=(QNZS, L=8
/AC=0ONES, L=0
/ERROR; LINK NOT 1, LAC K@ FAILED
/TEST LAC K489K, AC BITY
/AC=8, (=@
/423K
VARLD
/ERRDR} AC BIT@ NOT 1, LAC K40@K FAILED
/ERROR; AC PICKED A BIT, LAC K4QGK FAILED
/TEST LAC K28gK; AC BIT1
/AC=28, L=
/298K
/L%
/ERRORs AC BIT 1 NOT 1, LAC K288K FAILED

/ERROR) AC PICKED A BIT, LAC K2@8K, FAILED
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/TEST LAC Xx1@yK, AC BT 2

CLAICLL /AC=0, L=¢
~AC £1¥@K /120K
ATL /AC=430XK
RAv /=1
SNL
£249, HALT /ERROR: AC BIT 2 NOT L, LAC 108K, FAILED
SZA
259, HALT "/ERROR3; AC PICKED A BIT, LAC K190K FAILED
/TEST LAC X4@K, aC 3113
CLACLL /AC=8, L=
LAC <42k /43K
T /AC=208k
RTL /L=l
SzA
£251, HALT /ERROR; AC PICKED A BIT, LAC K4@KX FAILED
SNw
£252, HACLT /ERROR; AC BIT 3 NOT L, LAC K4@K FAILED
/TEST LAC X28K, AC 3174
CLAICLL /AC=8, =0
LAD X28K /20K
RTL | /AC=1@80K
RTL /AC=400K
RAL /L=1
SN
£253, HALT /ERROR; AC BIT 4 NOT 1, LAC K28K FAILED
SZA
£E254, HALT /ERROR: AC PICKED A BIT: LAC K28K
/TEST LAC K18K. AC 8175
CLAICLL /ACz@, L=¢
LAC K10k /18K
RTL /AC=48K
RT. /AC=288K
RTL /L=1
SNL
£255, HALT /ERROR} AC BIT 5 NOT L, LAC K18K FAILED
SZA

£E256, HALT /ERROR; AC PICKED A BIT., LAC K18K FAILED



£e57,

£258,

E259,

£268,

£261,
tz62,

SLATTLL
LAC <4k
<T.
T
Rage
RA
SN
HALT
SZA
HALT

CLA!:LL
LAC <2K
ATL

RTw

RTL

RTL

SNL
HALT
SZA
HALT

CLACLL
LAC X1K
RYL
RTL
RTL
RTL
RAL
SNL
HALT
SZA
HALT
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/TEST LAC K4K, 4C RITS
/AC=8, L=¢

74K

/AC=20K

/AC=1802K

/AC=400K

/L=l

/ERROR; AC BIT 6 NO7T L, LAC K4K FAILED
/ERROR; AC PICKED A 8T, LAC K4K FAILED

/TEST LAC X2K, AC BIT?/
/AC=8, (=0

/2K

/AC=108K

/AC=40K

/AC=288K

/L=l

/ERROR: AC BIT 7 NOT 1 LAC K2K FAILED
/ERROR; AC PICKED A BIT,» LAC K2K FAILED

/TEST LAC KiK, AC BIT3
/AC=0, L=0

/1K

/AC=4K

/AC=28K

/AC=180K

/AC=400K

/L=1

/ERRORs AC PICKED A BIT, LAC KiK

/ERROR} AC PICKED A BIT:, LAC K1K
/FAILED
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/TEST LAC X48g, AC 311 9

CLarlLL /AC=8, Lz4
LAC K490¢ /448
L /AC=2K
RTe /AC=10K
RTL /AC=40K
T /AC=208K
]TL /L=1
SNL
£263, HALT : ZERROR: AC BIT 9 NOT L, LAC K488 FAILED
SZA
£264, HALT /ERROR; AC PICKED A BIT: LAC K420
/FALLED
/TEST LAC X20@, AC 811 19
CLAICLL /AC=08, L=0
LAC %2089 /229
R7L /AC=1k
RTL /AC=4K
RTL /AC=28K
RTL /AC=108K
TL /AC=400K
RAL /L=t
SNL
£265, HALT /ERRORS AC BIT 18 NOT 1, LAC K288 FAILED
SZA
£266, HALT /ERROR: AC PICKED A BIT,» LAC K288 FAILED
/TESY LAC X189, AC BI!T 13
CLAICLL /AC=@, L=p
LAC X109 /189
RTL /AC=408
RTL /AC=2K
RTL /AC310K
RTL /AC=42K
RTL /ACz=208K
RTL /L=l
SNL
E267, HALT /ERROR; AC BIT 11 NIT 1: LAC K186 FAILED
SzA

E268, HALT /ERROR; AC PICKED A BIT, LAC K188 FAILED



Page 72

/TEST LAC <48, aC 817 12

CLArZLL /AC=0, _=¢
_AC K4¢ /42
AT /AC=2¢2
RTe /AC=1K
AT /AC=4K
RT. /AC=28K
IT. /AC=182K
IT. /AC=4REK
RAn : /L=l
ONw-
£269, HALT /ERROR; AC BIT 12 NJT 1, LAC K48 FAILED
SzA
£270, 4ALT /ERROR; AC PICKED A BIT, LAC K4@ FAILED
/TEST LAC K28, AC BIT 13
CLAYCLL /AC=0, L=0¢
LAC <22 /20
T /AC=100
RTe /AC=400
R /AC=2K
TL /AC=10K
RTw /AC=4PK
RTL /AC=200K
RTL /L=1
SNu
£271, HALT /ERROR: AC BIT 13 NJT 15 LAC K28 FAILED
SZA
E272, HALT /ERROR; AC PICKED A BITs, LAC K28 FAILED
/TEST LAC <12, aAC BIT 14
CLA!CLL /AC=0, L=@
LAC <18 /18
T /AC=49
RTL /AC=200
ATL /AC=1K
RTe /AC=4K
RTL /AC=28K
RTL /AC=100K
RTL /ACz400K
RAL /LE1
SNL
€273, HALT /ERROR; AC BIT 14 NJT 1., LAC K1@ FAILED
SZA

£274, HALT /ERRORy AC PICKED a 31T, LAC K1P FAILED
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/TEST LAC K4, AC BIT L5

CLAITLL /AC=0, (=0
AT <4 /4
T /AC=28
RT e /AC=102
RTe /AC=400
RTL /AC=2K
T /AC=18K
ATe ~ /AC=48K
RTw /AC=208K
RTw /b=1
SNL
£E275, HALT /ERROR; AC BIT 15 NIT 1, LAC K4 FAILED
SzA
£276, HALT /ERROR; AC PICKED A BIT, LAC K4 FAILED
/TEST LAC K2, AC BIT 16
CLAITLL /AC=8, L=0
LAC <2 /2
ATL /AC=10
RTL /AC=49
RTL /AC=208
RTL - /AC=1K
RTL /AC=4K
RTL /AC=20K
T /AC=1008K
RTL /AC=4gpK
RAL /Lel
SNL
E277, HALT /ERROR; AC BIT 16 NOT 1, LAC K2 FAILED
SZA
£E278, HALT /ERROR; AC PICKED A BIT, LAC K2 FAILED
/TEST LLAC K1, AC BIT 17
CLA!CLL /AC=0, L=@
LAC «1 /1
RTL /4
RTL /72¢
RTL /108
RTL /409
RT /2K
RTL /10K
RTL /49K
RTL /288K

RTL /L=1



E279’

£289,

£281,

£282,

£283,

£284,

E285,

E286,

SNw
4AT
SZA
AALT

CLAYSLLICML
4R

CLutiml

LAC Y49pk
RA-

Szt TMA
~HALT

SZA

HALT

CrusluMircra
ATR

CLLitmy

LAC %229k
RTL

SZLtCMA
HaLT

SZA

HALT

CLLICMLICLA
RTR

RAR
CLiiCmi
LAC 189K
RTL

RAL
SZL!1CMA
HALT

SgA

HALT
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JERROR; AC BIT 17 NOJT 1, LAC F1i FAILED
JERROR; AC PICKED A RIT,» LAC K1 FAILED

/TEST LAC M402K, aAC 8IT @
/=1
/AC=408K

/4C=377777
/L=8

/ERROR; AC BIT @ NOT 3, LAC M480K FAILED

/ERROR; AC DROPPED A 31T, LAC M420 K1
/FATLED

/TEST LAC M28@K ac 31T 1
/151 :
/AC=208K

/AC=577777
/L=¢

/ERROR: AC BIT 1 NOT @ LAC M288K FAILED

/ERROR; AC DRQPPED 4 31T, LAC M28@K FAILED

/TEST LAC M18pK, AC BIT 2
/L=l

/AC=200K

/AC=128K

/AC=677777
/AC=377777
/L=8
JERROR; AC BIT 2 NOT 3, LAC M108K FAILED

/ERROR; AC DROPPED 4 317, LAC M1882K
/FAILED
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/TEST LAC M48K: aAC 31T 3

CLutTMLICLA /L=1
TR /AC=208K
TR /AC=40K
CLio!CML
LAT M40k /AC=737777
RTw /ACE5T77777
RTw /L=9
SZLICHMA
£287, HALT /ERROR; AC BIT 3 NOT 4, LAC M48K FAILED
SZA
£288, AALT /ERROR; AC DROPPED A 31T LAC M4QK
/TEST LAC M28K, AC 81T 4
CLw:iCMbrcLA /L=l
]TR /AC=2008K
RTR /AC=z40K
RAR /AC=20K
CLL!CML
LAC 420K /AC=757777
RTL /AC=677777
RTL /AC=377277
RAL /L=0
SELICMA
E£289, HALT /ERROR; AC BIT 4 NOT 2, LAC M28K FAILED
SgA
€292, HALT /ERRQOR; AC DROPPED A 317,
/LAC M2@K FAILED
/TEST LAC M18BK, AC BIT 5
CLLICHML!ICLA /L=l
RTR /AC=2808K
RTR /AC=48K
RTR /AC=18K
CLLICML
LAC M18K /AC=767777
RTL /AC=737777
RTL /AC=577777
RYL /.20
SZLICMA )
€291, HALT /ERROR} AC BIT 5 NOT 3, LAC M18K FAILED
SZA
E292, HALT /ERROR; AC DROPPED A 31T LAC M18K FAILED
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/TEST LAC M4K, AC BIT 6

CiLorlmbiCra /=1
RTR /AC=200K
RTR /AC=40K
TR /AC=z10K
AR /AC=4K
CLotTML
~AC “4K /AC=773777
T ; /AC=757777
RTL /AC=677777
7L /AC=377777
RAL /1%
SZLICMA
£293, HALT . /ERROR; AC BIT 6 NOT 2, LAC M4K FAILED
SzA
E29%94, AALT /ERROR; AC DROPPED A 31T, LAC M4K FAILED
/TEST LAC M2K, AC BiT 7
CLuilMbicLa /L=1
TR /AC=z200K
RTR /AC=4BK
RTR . /AC=10K
RTR /AC=2K
CLutlml
LAC M2K /AC=775777
RTL /AC3767777
ATL /AC=737777
AT /AC=577777
RTL /138
SZLICMA
£295, HALT /ERROR; AC BIT 7 NOT 3, LAC M2K FAILED
SZA

E296, HALT /ERROR; AC DROPPED A 31T, LAC M2K FAILED
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/TEST LAC 1K, AC RIT R

CLetCMLICLA /=1
TR /AC=208K
TR /AC=40K
TR /AC=10K
iR /AC=2K
QAR /AC=1K
CL-1CML
LAC M1k /AC=776777
7o ) /aC=773777
. /AC=757777
AT /AC=677777
RTe /AC=377777
RAL /L=0
St TMA
£297, HACT /ERROR; AC BIT 8 NOT 2 LAC MiK FAILED
SZA
£298, HALT /ERROR; AC DROPPED A 31T, LAC M1K FAILED
/TEST LAC M48¢, AC 31T 9
CLuetZMLicL A /L=1
RTR /AC=200K
RTR /AC=4PK
TR /AC=10K
TR /AC=2K
7R /AC=400
CLut oML
LAC v4¥9 /AC=777377
T /AC=775777
RTL /AC=767777
TL /AC=737777
RTL /AC=577777
RTL /L=8
SgL {CMA
£299, HALT JERROR: AC BIT 9 NOT 3, LAC M4@2 FAILED
SZA

£3ee, HALT /ERROR; AC DROPPED A 31T, LAC M489 FAILED
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/TEST LAC ™M28%, 4C 311 12

SLLtCMLICLA /L=1
ITR /AC=2408K
RTR /AC=4PK
TR /AC=10K
TR /AC=2K
RTR /AC=400
AR /AC=200
CiLwtIML
~AC ¥22g ’ /AC=27775%77
RTL /AC=776777
RTL /AC=773777
TL /AC=757777
R /AC=677777
RTL /AC=377777
RAL /L=@
SZLITMA
E301., HALT /ERROR; AC BIT 10 NOT 92, LAC M28@ FAILED
SzA .
E382, HALT /ERROR; AC DROPPED A 31T, LAC M208@ FAILED
/TEST LAC ™18@, ac 3117 11
CLLiCMbicLA . /L=l
RTR /AC=288K
RTR /AC=408K
TR /AC=10K
RTR /AC=2K
RTR /AC=400
RTR /AC=1080
CLLICHML
LAC v180 /AC=777677
RTL /ACs777377
]TL /AC=2775777
RTL /AC=767777
RTL /AC=737777
RTL /AC=577777
RTL /L=@
SZL!1CMA
£383, HALT /ERRQR; AC BIT 11 NJT @, LAC M188 FAILED
SZA

£324, HALT /ERRDOR; AC DROPPED A 31T, LAC M108 FAILED
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/TEST LAC v42, aCc ®i7 12

CLutSMbiCcLA /L=l
TR /AC=28¢K
TR /AL=40K
XPR /AC=10K
TR /AC=2K
TR /AC=420
TR /AC=108
QAR /AC=48
CLo1OML .
“AC M40 FAC=777737
T /AC=777577
RTL /AC=2776777
M /AC=773777
T /AC=757777
T /AC=677777
RTL /AC=377777
RAL /L=0
SZLICMA

£395, HALTY /ERROR; AC BIT 12 NJT @, LAC M4Q FAILED
SZA

E306, 4ALT /ERROR: AC OROPPED A 31T, LAC M4@ FAILED

© /TEST LAC ™28, ac BIT 13

CLAICLLICML /L=1
RTR /AC=200K
RTR /AC=40K
RTR /AC=10K
RTR /AC=2K
RTR /AC=400
RTR /AC=1080
RTR /AC=28
CLL!ICML
LAC Mp20 /AC=2777757
RTL /AC=777677
RTL /AC=777377
RTL /AC=775777
RTL /AC=2767777
RTL /AC=737777
RTL /AC=577777
RTL /L=0
SZL!CMA

€307, HALT /ERROR; AC BIT 13 NJT @, LAC M20 FAILED
SZA

£308, HALT /ERROR; AC OROPPED A 31T, LAC M28 FAILED




E£E309,

£310,

SLATZLLICHL
<1

TR

<73

TR

TR

TR

27X

AR
CLotimb
.AC 112
AT

T

RTL

RT%

RTL

RTL

RTL

AL
Szt TMA
HA-T
SZA
HALT

CLAICLL!ICML
RTR

RTR

]TR

RTR

RTR

RTR

RTR

RTR
CLLICML
LAC Y4
RTL

RTL

RTL

RTL

RTL

RTw

RT

RTL

/TEST LAC 419,

/L=1
/AC=20802K
/AC=48K
/AC=10K
/AC=2K
/AC=4087
/AC=100
/4C=28
/AC=18

/AC=T777767
JAC=777737
/AC=777577
/AC=776777
/AC=773777
/AC=757777
/AC=677777
/AC=377777
/L=0

JERROR, AC BIT 14 N2T 2.

LAC Mi@@ FAILED

/ERROR; AC DROPPED A 31T, LAC M18 FAILED

/TEST LAC Y4,

/L=l
/AC=2080K
/AC=40K
/AC=18K
/AC=2K
/AC=400
/AC=100
/AC=28
/AC=4

/AC=777773
/AC=2777757
/AC=777677
/AC=777377
JAC=775777
/AC=767777
/AC=737777
/AC=577777
/L=0
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SZ-!CMA
£311, SALT /ERROR; AC BIT 15 N3JT &, LAC M4 FAILED
S4a
£312, HALT /ERRGR: AC DRQPPED & 31T, LAC M4 FAILED
/TEST LAC ¥2, AC BIT 16
CLAatSLLCcML /L=1
TR /AC=282K
TR /AC=42K
TR : /AC=18K
RTR /AC=2K
RTR /AC=400
’7R /AC=100
RTR /AC=20
RTR /AC=4
RAR /AC=2
CLiLtTHML
LAC 2 /AC=777775
RTL /AC=777767
RTL /AC=777737
RTL /AC2777577
RTu /AC=776777
RTL /AC=773777
RTL © /AC=757777
RTL /AC=677777
RTL JAC=377777
RAL /L=0
SzL1CTMA
£313, HALT /ERROR; AC BIT 16 NOIT @, _AC M2 FAILED
SZA

E314, HALTY /ERROR; AC DRQPPED A 31T, LAC M2 FAILED
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/TEST LAC ™M1, AC BIY 17

CLATILLICML /L=l
TR /AC=2060PK
TR /AC=40K
TR /AC=10K
TR /AC=2K
TR /AC=400
TR /AC=108
TR /AC=20
TR /AC=4
TR ' /AC=1
CLLYIML
“AC 1 /AC=2777776
ITL /AC=7277773
T /AC=777757
RT. /ACz2777677
RTL /AC=777377
RTw /AC=775777
RTL /AC=767777
AT /AC=737777
RTL /AC=577777
RTL /L=0
SZL ! OMA

E£E315, AALT /ERROR; AC BIT 17 NOT @, LAC M1 FAILED
SZA

£316, HALT /ERRQOR, AC DROPPED 4 317, LAC M1 FAILED

START



/INSTRUCTION TEST TAPE 4

, ¢ 75 E3168,

£316C,

E£3160D,

E316E,

E316F,

CLA
AND A2
SZA
AALT

“AC X400K
AND g
SZA

HALT

LAC X22pK
AND L3
SZA

AALT

LAC X100K
AND K@
SZA

HALT

LAC K42K
AND K@
SgA

HALT

LAC K20K
AND XK@
SZA

HALT
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/TEST AND X8,
/AC=0
/9

/ERROR,

/TEST AND K@,
/aC=4p8K
/8

/ERRQOR,

/TEST AND X8,
/4C=2@0K

/¢
/ERROR, AC BIT 1
/TEST AND X@.

/AC=z1908K
/8
/ERROR, AC BIT 2
/TEST AND K@,

/AC=4gK
/8
/ERROR, AC BIT 3
/TEST AND K@,

/AC=28K
/8

/ERRQOR, AC BIT 4

AC=

AC=

AC=

AC=

AC=

AC=

a

403K

AC BIT @ NOT ¢,

203K

NOT A

182K

NOT 4

4904

NOT A

28«

NO1 &

AND K@

8,

g,

AC NOT @ AND <@ FAILED

FAILED

AND K@ FAILED

AND K@ FAILED

AND K @ FAILED

AND K@ FAILED
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/TEST AND <@, AC=18<«

~AC <18k /4C=1gK
AND <@ /9
SEA
£316G, AA-T /ERROR, AC BIT 5 NO1 & 4, AND K@ FAILED
/TEST AND XK@, AC=4K
LAC <4K /AC=4K
AND <@ /8
SzA _
E316H, HALT /ERROR, AC BIT 6 NOT & 4, AND K@ FAILED
/TEST AND <@, AC=2K
LAC <2K /AC=2K
AND < /8
S7A
E3161, HALT /ERROR: AC BIT 7 NOT A @, AND K@ FAILED
/TEST ANO K@, AC=1K
LAC 4K /AC=1K
AND Xg /8
SZA
E316,, HALT /ERROR, AC BT 8 NOT & 8, AND k@ FA;LED
/TEST AND %@, AC=402
LAC X429 /AC=400
AND K@ /8
SzA
E317, HALT JERROR, AC BIT 9 NOT A ©, AND K@ FAILED
/TEST AND K@, AC=200
LAC X208 /AC=2@9
AND Kg /8
SZA

£318, HALT JERROR, AC BIT 12 NOJT A 8, AND K@ FAILED



£319,

£328,

£321,

E322,

£323,

£324,

“AC <120

LAC <40
AND ¢

HALT

LAC <29
AND (0

HALT

LAC %18
AND X9
SZA
HALT

LAC X4
AND Xg

HALT

LAC X2
AND Kg
SzA
HALT
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/TEST AND X@: AC=122

/83

/ERROR,

/AC=100

AC BIT 11 NIT A @,

JTEST AND K@.» AC=40

/AC=40
/8

/ERROR,

AC BIT 12 NOT A @,

/TEST AND Xg. AC=20

/AC=290
/9

/ERRQR}

AC BLIT 13 NOT A @,

/TEST AND K@, AC=z10

/AC=10
/2

/ERROR,

AC BIT 14 NOT A 9,

/TEST AND XK@, AC=4

/AC=4
/8

/ERROR,

AC BIT 15 NOT A @,

/TEST AND X@,» AC=2

/AC=2
/8

/ERROR,

AC BIT 16 NIT A 8,

AND K@ FAILED

AND K@ FAILED

AND K

FAILED

AND K@ FAILED

AND K@ FAILED

AND K@ FAILED



£325,

£326,

£327,

£328.,

£329,

£338,

~AC <1
AND <@g
Sgh
AT

-AC <g
Ayl <42¢K
SZA

HAT

AND <208K
SEA
HACT

LAC Xp
AND <109k
SzA

AALT

LAC Kg
AND K48k
SZA

HALT

LAC g

CAND £28K

SZA
HALT
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JTEST AND X@s AC=1

/aC=1
/@

/ERROR,

AC BIT 17 NOT A @,

/TEST AND <48pK, A

/AC=g

/ERROR,

/480K

C=2

AND K@ FAILED

AC NOT @ AND <4¥@8K FAILED

/TEST AND K289K, A

/AC=0

/ERROR,

/200K

AC NOT 2,

/TEST AND K10gK, A

/AC=8

/ERROR,

/129K

AC NOT @,

/TEST AND K40K, AC

/AC=g

/ERROR,

/492K

AC NOT 19,

/TEST AND K28K: AC

/AC=Q

/ERROR,

/28K

AC NOT 8,

C=9d

AND 200K FAILED

C=9

AND K10@K FAILED

=2

AND K4QK FAILED

=2

AND K28,

FAILED



E331,

£332,

E333,

E334,

£335,

E£336,

LAC <
AND <12K
SzaA

HALT

~AC <g
AND <4K
SEA
HALT

LAC Xg
AND XK
SZA
HALT

LAC «g
AND «1K
SZA
HALT

LAC Xg
AND X409
SZA

HALT

LAC Xp
AND X222
SZA

HALT
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/TEST AND K10K.

/AC=g
/10K

JERROR, AC NOT
/TEST AND K4K,
/AC=0
/4K
/ERROR, AC NOT
/TEST AND K2K,
/AC=D
/2K
/ERROR, AC NOT
/TEST AND KiK,
/AC=g
/1K
/ERROR, AC NOT
/TEST AND X489,
/AC=g

/420
/ERROR, AC NOT
/TEST AND K200,
/AC=0

/208

/ERROR, AC NOT

AC=2

B, AND K19K FAILED

AC=¢

g AN)D

AC=z=0

2 AND

AC=0

@ AND

AC=2

g AND

AC=3

@, AvD K208 FAILED

4K FAILED

<2K FAILED

1K FAILED

498 FAILED



£337,

E£338,

E339,

£349,

E341,

E342,

LAC <
And <198
SEA

HALT

LAC <g
AND K49
SZA
HALT

\.AC (g
AND «20
SZA
HALT

wAC Xg
AND K10

HALT
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/TEST AND X188, AC=2
/AaC=¢

/3160
/ERROR, AC NOT @9, AND
/TEST AND K48, AC=0
/AC=0
/42
/ERROR, AC NOT @, AND
/TEST AND K20, aAC=0
/ACzg
/29
/ERROR, AC NOT @, AND
/TEST AND K1@, AC=0
/AC=g
/10
/ERROR, 'AC NOT @, AND
/TEST AND X4, AC=g
/AC=9
/4
/ERROR, AC NOT g, avD
/TEST AND K2, AC=¢g
/AC=0
/2

/ERROR, AC NOT g, AND

K123 FAILED

K4 FAILED

K20 FAILED

K18 FAILED

K4 FAILED

K2 FAILED



£343,

£344,

E345,

E346,

£E347,

E34s,

LAC <g
AND K1
SzZA
HALT

LAC M4a0pK
AND X4€8K
SZA

HALT

LAC ¥2@8K
AND <208k
SZA
AALT

LAC M1@8K
AND X18@K
SzA
HALT

LAC M40K
AND K40K
SZA
HALT

LAC M28K
AND K20k
Sgh
HALT
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/TEST AND X1, AC=zQ
/AC=9
/1

/JERROR, AC NOT @, AND K1 FAILED
JTEST AND K40pgK, AC=M4g0K
/AC=377777
/400K
/ERROR, AC NOT @, AvD K4@PK FAILED
/TEST AND X28@K, AC=M20¥K
/AC=577777
/208K
/ERROR. AC NOT @, AND K288K FAILED
/TEST AND K18@K, AC=M180K
/aC=677777
/188K
/ERROR, AC NOT @, AND X18@K FAILED
/TEST AND K48K, AC=v42K
/AC=737777
/48K
/ERROR, AC NOT @, AND K48, FAILED
/TEST AND K20K, AC=422K
/AC=757777
/20K

/ERROR, AC NOT @, AND K28K FAILED



£349,

E358,

E35%,

£352,

£353,

E354,

AW 7777
AND 10K
SZA
HACT

~AN 13777
AND <4K
SZA

HALT

LAA 15777
AND K2K
SzA

HALT

LAW 16777
AND X41K
SzA

HALT

Lad 172377
AND x400
SzA

AALT

Law 17877
AND X288
SZA
HALT
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/TEST AND <40, AC=v1dK
/AC=767777
/18K

/ERROR, AC NOT @, AND K1¢K FAILED

/TEST AND K4K, AC=M4K
/aC=773777

/4K

/ERROR; AC NOT @, AND x4K FAILED
/TEST AND K2K, AC=zM2K
/AC=775777
/2K
/ERROR, AC NOT @, AND x2K FAILED
/TEST AND K1K, AC=sM1K
/AC=776777
/1K
/ERROR, AC NOT @, AND K1K FAJLED
/TEST AND K409, AC=v400
/aC=777377
/430
/ERROR; AC NOT @, AND K488 FAILED
/TEST AND K288, AC=v238
/AC=777577
/208

/ERROR, AC NOT @, AND k2@@ FAILED



£355,

E356,

£357,

£E358,

E359,

E3688,

LAA 17677
AND X109
SgA
HALT

LAW 17737
AND €49
SZA

HALT

LAW 17757
AND %28
SZA

HALT

LAN 17767
AND %10
SZA

HALT

LAN L7773
AND X4
SgA

MALT

LAW 17775
AND X2
S2A

HALT
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/TEST AND X18@, AC=4100
/40=777677
/108

/ERROR; AC NOT g, AND K1g@ FAILED
/TEST AND K4@, AC=M42
/AC=777737
/40
/ERROR, AC NOT @, AC=<40 FAILED
/TEST AND K28, AC=M20
/AC=777757
/20
/AC NOT @, AND K28 ~AjLED
/TEST AND K18, AC=M18
/AC=777767
/108
/ERROR, AC NOT g, AND K1@ FAILED
/TEST AND K4, AC=M4
/AC=777773
/4
/ERROR, AC NOT 8, AND K4 FAILED
/TEST AND X2, AC=K2
/AC=777778
/2

/ERROR, AC NOT 9, AND K2 FAILED




E£E361,

E362,

E363,

£364,

E365,

£366,

LAA 17776
AND <1
SaA

HA.T

CLAICMA
LAC <400K
AND 4409k
SZA

HALT

CLAICMA
LAC <200k
AND M289K
SEA

HALT

CLA!ITMA
LAC <109k
AND ¥189K
SZA

HALT

CLA!CMA
LAC X48K
AND MaBk
SZEA
HALT

CLAICMA
LAC X208K
AND ¥28K
SZA
HALT
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/TEST AND K1, AC=K1
/AC=777776
/1

/ERROR, AC NOT @, AND K1 FAILED

/TEST AND M48gK, AC=K4@dK
/AC=0ONES

/AC=408K

/377727

/ERROR, AC NOT @, AND M4098K FAILED

/TEST AND M2009K, AC=K289K
/AC=0ONES

/AC=200K

/577777

/ERROR, AC NOT @, AND M289K FAILED

/TEST AND M10@K, AC=X180K
/AC=ONES

/AC=108K

/677777

/ERRORY AC NOT @, AND M4@K FAILED

/TEST AND M40K, ACm<42K
/AC=0ONES
. /AC=4pK
/737777

/ERROR; AC NOT @, AND M4@K FAILED
/TEST AND M20K,» AC®<23K
/AC=ONES

/AC=28K

/797777

/ERRQR, AC NOT @, AND M28K FAILED



£E367,

£368,

E369,

£378,

E3vL,

E372,

CLAICHA
LAC <18k
AND M12K
SgA
HALT

CLAICMA
LAC K4x
AND v4K
SZA
HALT

CLAICMA
LAC <2K
AND 92K
SZA
HALT

CLAICKHA
LAC «1K
AND “qK
Szh
HALT

CLAICMA
LAC Xa40p
AND Ra4Dp
SZA

HALT

CLAICMA
LAC X289
AND ®209
SEA

HALT
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/TEST AND M10@K,» AC=<123K
/AC=0ONES

/AC=1¢K

/767777

/ERROR, AC NOT @, AND M1@, FAILED

/TESY AND M4K, AC=K4K
/AC=0ONES

/AC=4K

/773777

/ERROR, AC NOT @, AVD M4K FAILED

/TEST AND M2K, AC=K2K
/AC=z0ONES

/AC=2K

/775777

/ERROR: AC NOT B, AND M2K FAILED

/TEST AND M1K, AC=K1K
/ACEONES .

/AC=1K

/1776777

/ERROR) AC NOT @, AND M1K FAILED

/TEST AND M4@pK, AC=K400
/AC=0ONES

/AC=400

/777377

/ERROR, AC NOT @, AND M4¢8 FAILED
/TEST AND M20@, AC=x228
/AC=ONES

/AC=2p8

/777577

/ERROR, AC NOT g, AND M280 FAILED



£373,

€374,

E375,

£376,

£377,

CLAtIMA
LAC <109
AND M10p
SZA

AT

CLAICMA
LAC <49
AND 949
SZA
HALT

CLAICMA
LAC <28
AND v20
Sza
HALT

CLAICMA
LAC X180
AND 12
SzA
HALT

CLA!CMA
LAC X4
AND M4
SZA
HALT
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/TEST AND M10@, AC=<120
/AC=0ONES

/AC=108

/7776727

/ERROR, AC NOT @, AVD M1Q30 FAILED

/TEST AND M40, ACzK47
/AC=0ONES

/AC=40

/777737

/ERROR: AC NOT @, AND M4@ FAILED

/TEST AND M20, ac=K2@
/AC=0ONES

/AC=28

/7777757

/ERROR, AC NOT '@, AND M2@ FAILED

/TEST AND M18, AC=K1D
/AC=0NES

/AC=48

/777767

/ERROR; AC NOT B, AND M1g FAILED
/TEST AND M4, AC=zk4

/AC=0NES

/AC=4

/777773

/ERROR, AC NOT 8, AND M4 FAILED



£378,

E379,

€389,

£381,

£382,

SLATTHMA
~AC <2
ANJ M2
SZA
AT

CLAICMA
AL (1
AND Mg
SZA
SALT

AT <408k
ANJ <48k
SMATCLL
HALT

LAC <200k
AND 228K
RTe
SNetCLL
HALT

LAC <100k
AND <1@9K
AT
SMAICLL
HALT
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/TEST AND M2, AC=zx2
/AC=0ONES

/AC=2

/777775

/ERROR, AC NOT 2, AuD M2 FAILED

/TEST AND M1, ACzk1
/AC=ONES

/AC=1

/777776

/ERROR: AC NOT @, AND M1 FAILED

/TEST AND K4BgK, gIT 2
/AC=4g08K
/480K

/ERROR, BIT @ NOT A 1, AND K408K FAILED

/TEST AND K28gK, BIT 1
/AC=290K
/724@gK
/L&l
/ERROR, BIT 1 NOT A& 1, AND K200, FAILED
/TEST AND K1@gK, BIT 2
/AC=1Q0K
/120K
/AC=400K

/ERROR, BIT 2 NOT A 1, AND K100, FAILED



£383,

E384,

E£385,

£386,

£387,

WAC <2¢x
AND K2¢K
RT -

T -
SMAICLL
AALT

LAC X10K
AND <10k
RTL

RTe

qTL

SNL CLL
HALT

LAC 4K
AND <4K
TL
RTL
RTL
SMALCLL
HALT

LAC X2K
AND «2K
RTL
RTL
RTL
RTL
SNLICLL
HALT

/TEST AN

/AC=200K
/L=l

/ERROR,

/TEST AN

/AC=108K
/AC=400K

/ERROR,

/TEST AN

/AC=48K
/AC=208K
/L=l

/ERROR,

/TEST AN
/AC=4K
/4K
/AC=208K
/AC=100K
/AC=408K

/ERROR,

J/TEST AN
/AC=2K
/2K
/AC=10K
/AC= 40K
/AC=2200K
/Lel

/ERROR,

Page 96

D K4PKk, RIT 3
/ACz4K
/48K

BIT 3 NgT A 1.
0 X208k, BIT 4

/AaC=2pK
/28K

BIT 4 NQT A 1,
D K18k, BIT 5

/aC=10K
/198K

BIT 5 NOT & 1,

D X4K, BIT 6

BIT 6 NOT A 1,

D X2K, BIT 7

BIT 7 NOT A 1,

AND K48K FAILED

AND K288K FAILED

AND K10, FAILED

AND K4K FAILED

AND K2K FAILED



£388,

£389,

E£E398,

£391,

“AC <1K
ANJD 1K
RT.
RT L

RTo
SMATTLL
HALT

-AC <40¢g
AND <4¢0
T

RT.

QTL

RTw

RTo
SNL ! SLL
HALT

LAC <201
AND <2ug
TR

TR

TR

RTR
SNLICLL
HALT

LAC K100
AND <109
RTR

RIR

RTR

RIR
SMATCLL
HALT
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/TEST AND X1X, BIT 3
/AC=1K

/1K

/AC=4K

/AC=20K

/AC=102K

/AC=400K

/ERROR, BIT 8 NOT 14, AND K1K FAILED

/TEST AND XK49@, BIT 9
/AC=4p0
/409

/AC32K

/AC=19K

/AC=40K

/AC=288K

/L=l

/ERROR, BIT 9 NOT A 1, AND K4P@® FAILED

/TEST AND x28@, BIT 14

/AC=208
/229
/AC=49
/AC=18
/AC=2
/LEL

/ERROR, BIT 18 NOT A 1, AND K200 FAILED

/TEST AND K188, 81T 11

/4C=109
/108
/AC=28
/AC=4
/AC=1
/AC=480K

/ERROR, BIT 11 NOT A 1, AND K188 FAILED




£392,

£3%3,

£394,

£395,

JAC 44%
AND <44
TR
TR
1R
>t CLL
AALT

AL Lp2
AND K28
TR
TR
TR
SMAICLL
HALT

LAC K10
AND <10
RTR
RTR
SNL!CLL
HALT

LAC <4
AND <4
RTR
RTR
SMAICLL
HALT
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/TEST AND <48, B[T 17
/AC=48

/42

/AC=18

/AC=2

/LEl

JERROR, Bli 12 NOT A 1, AND x40 FAILED

/TEST AND K28, BIT 13
/AC=20

/2¢

/AC=4

/AC=1q

/AC=400K

/ERROR, BIT 13 NOT A L, AND K28 FAILED

/TEST AND X189, BIT 14
/AC=10

/10

/AC=2

/=1

/ERROR, BIT 14 NOT A L, AND Ki@ FAILED

/TEST AND X4, BIT 15
/AC=4

/4

/AC=1

/AC=z408K

/ERROR, BIT 15 NOT A L, AND K4 FAILED



£396,

£397.,

£398,
£399,

E400,

E401,

492,

LAl K2
AND K2
RTR
Sno ! OLL
AT

~AC <1
AnND K1
TR
SMATCLL
HALT

CLAICMAICLLICML
AND 400K

A

SZLICMA

HALT

SZA

HALT

SLAICMAICLLICML
AND ¥28pk

RTL

SELITMA

HALT

SZA

HALT

CLAICMArTCLLICML
AND ¥100K

RTL

RAL

SZL1CMA

HALT
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/TEST AND X2, BT 15
/AC=2

/2

/=1

/ERROR, BI1 16 NOT & L, AND K2 FAILED

/TEST AND K1, BT 17
/AC=1

/1

/AC=430K

/ERROR, BIT 17 NOT A L, AND K1 FAILED

/TEST AND M4@gK, AC=zOVES
/AC=ONES, L=1
/1377777
/AC=0NES
/L@, AC=@
/ERROR BIT @ NOT @, AND M490K FAILED

/ERROR, AC DROPPED A 31T, AND M4R2@K FAILED

/TEST AND M28¢gK, AC=0VES
/AC=ONES, L=1
/AC=2577777
/ACSONES
/L.t@, AC=9
JERROR, BIT 1 NOT A 2, AND M280 FAILED

/ERROR, AC DROPPED A 31T, AND M208K FAILED

/TEST AND M1PgK, AC=0VES
/AC=ONES, L=1
/AC=2677777
/AC=377777
/AC=0NES
/L@, AC=0
/ERROR, BIT 2 NOT A 9, AND M168K FAILED



£4e3,

£404,

E4¢5,

£406,

E427,

£E408,

Ed4g9,

SEk
AT

CLATSMAICLL tCML
byl Mgex

T

EREN

S4.1CMA

AT

Sga

AALT

CLAIIMATCLLICML
AND M€K

RTw

RAL

RTL

SZL!CMA

HALT

SZA

HALT

CLAtCHMAICLL I CHL
AND M@K

RTL

RTL

RTL

SZLICMA

HALT

S#A

HALT
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/ERROR, AC DROPPFEN & 31T AND M180K FAILED

/TEST AND 448, AC=0O\F3
/TEST AND “40, anzonEs
/aC=2737777
/AC=577777
/AC=0ONES
/L=0, AC=¢
/ERRQOR, 3173 NOT A 2, AND M40K FAILED

/ERROR, AC DROPPED 4 31T, AND M4pK FAILED

/TESY AND M20K, AC=01N:IS
/AC=0ONES, L=1
/AC=757777
/AC=677777
/AC=5727777
/AC=0ONES
/L=2@, AC=g
/ERROR, BIT4 NOT A 4, AND M20K FAILED

/ERROR, AC DROPPED A 31T, AND M2BK FAILED

/TEST AND M18K, AC=2N:S
/AC=ONES, L=1
/AC=767777
/AC=737777
/AC=577777
/AC=0ONES
/AC=@, L=@
/ERROR, BIT 5 NOT A @, AND M1@K FAILED

/ERROR, AC DRQOPPED A 31T, AND M2QF FAILED
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/TEST AND M4K, AC=z0\S
CLATCMAICLLICML /AC=ONES, .=1
AND MgK s AC=773777
T /AC=757777
T /AC=677777
AL /AC=577777
AT /AC=ZNES
SZEL1TMA /AC=3, L=0
t418, HALT /ERROR, BIT 6 NOT A 2, AND M4K FAILED
SZA
€411, ~HALT /ERROR, AC OROPPED a 31T, AND M4K FAILED
/TEST AND M2K, AC=0VES
CLAICMAICLLICML /TEST AND M2K, AC=0vES
AND MoK /ACz775777
RTL /AC=767777
Th /AC=737777
RTL /AC=577777
RTL /AC=0ONES
SZLICMA /AC=@, L=¢
£412, HALT /ERROR, BIT7 NOT A 2, AND M2K FAILED
SZEA
£413, AALT /ERROR, AC DROPPED A 31T, AND M2K FAILED
/TEST AND M1K, AC=zQOVES
CLAICMAICLLICML /AC=ONES: L=
AND 41K /AC=776777
RTL /AC=773777
RTL JAC=757777
RTL /AC=677777
RAL /AC=577777
RTL /AC=QONES
SEL!CMA /AC=@, (=0
E414, HALTY /ERROR, BIT8 NOT A 2, AND MiK FAILED
SgA
£415%, HALT /ERROR, AD OROPPED A 31T, AND MiK FAILED
/TEST AND M48@, aC=)NIS
CLA!CMAICLL!ICML /AC=SONES, L=1
AND M40p /AC=777377
RTR /AC=777677
RAR JACET77737
RTR /AC=777767
RTR /AC=777778




€416,

E417l

£418,

E419,

E420,
E421,

£422,

TR
SE.1IMA
HA T
SZA
HALT

CLAtTMAICLLICML
AND M20¢0

TR

7R

7R

TR

SE.'CMA

HALT

SzA

HALT

CLATOMAICLLICML
AND ¥109

RTR

RTR

RAR

RTR

SZuLtOMA

HALT

SZA

AALT

CLATCMAICLLICML
AND M40

RTR

RTR

RTR

SZL1CMA

HALT
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/AC=0ONES
/AC=8Q, L=
/ERROR, BIT 9 NOT A7, AND M4¢8 FAILED
/ERROR, AC DROPPED A 31T, AND M4@@ FAILED
/TEST AND M20g, aC=2nN:S
/AC=ONES, L=1
/aC=777577
/AC=777737
/AC=777767
/AC=777775
/AC=0NES
/AC=8,L =0
/ERROR, BIT 19 NOT A 2, AND M20@ FAILED
/ERROR. AC DROPPED A 31T,AND M200 FAILED
/TEST AND M18@., AC=)IN:IS
/AC=0ONES, L=1
/AC=777677
/AC=777757
/AC=777773
_/AC=Z777775
/AC=QONES
/AC=8, =0
/ERROR, BIT 11 NOT A 3, AND M10@ FAILED
/ERROR, AD DROPPED & 31T, AND M100 FAILED
/TEST AND M40, AC=0VES
/AC=0ONES, L=1
/AC=2777737
/AC=777767
/AC=777775
/AC=20ONES
/ACz8, L=¢
/ERROR, BIT 12 NOT A 3, AND M489 FAILED



£423,

£424,

£425,

E426,

E427,

SZA
A4ALT

CLAITCMAICLL!ICML
AND M20

373

AR

RTR

SELI1CMA

HALT

SZA

AALT

CLAICMAICLL: CML
AND 91

ATR

RTR

SZL1CMA

HALT

SzA

HALT
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/ERROR, AC OROPPEQ a4 31T, AND M44 FAILED

/TEST AND M28, AC=0NES

/AC=0NES, =1

/AC=777757

/AC=777773

/AC=777775

/AC=0ONES

/AC=0, [ =¢

/ERRORs BIT 13 NOT A &, AND M28 FAILED

/ERROR, BIT 13 NOT A &, AND M20 FAILED

/TEST AND M18, AC=sOVES

/AC=ONES, L=1

/AC=777767

/AC=777775

/AC=0ONES

/AC=0, L=¢

/ERROR; BIT 14 NOT A 2, AND M18 FAILED

/ERROR; AC DROPPED A 31T, AND M18 FAILED



£428,

£429,

£439,

E‘sll
START

CLAISMAICLL tCML
AND ¥4

4R

TR

SE-1CMA

ALY

SZA

AALT

CLAICMAICLLICML
AND M2

RTR

SZL!ICMA

HALT

SZA

HALT
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/TEST AND M4, AC=ON£S

/AC=0ONES, L=1

JAC=777773

/AC=777775

/AC=ONES

/AC=@, (=9

JERROR; BIT 15 [S NOT A @, AND M4 FAILED

/ERROR; Ac OROPPFp a4 31T, AND M4 FALED

/TEST AND M2, AC=zgN:IS

/AC=ONES, L=1

/AC=777775

/AC=0ONES

/AC=0, L=0

JERROR; BIT 16 NOT A 3, AND M2 FAILED

/ERROR; AC DROPPED A 31T, AND M2 FAILED



/INST

£432,

£433,

£434,

£435,

E£43s,

£437,

E438,

£439,

TEST TaAPE 5

CLATIMAYCLLICML
AND Mt

AR

SZ.1CMA

HALT

SZA

AALT

CLL1CML
LAC 409K
AND «7S
RAL
SELICHMA
HALT

SgA

HALT

CLLtCMb
LAC M20pK
AND £7S§
RTL
SELICMA
HALT

SzA

HALT

CLL:ICML
LAC M12gK
AND K78
RAL

RT_
SZL!CMA
HALT

SZA

HALT
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/TEST AND M1. AC=QNES

/AC=0NES, L=1

/4C=777776

/AC=0ONES

/AC=8, =9

/ERROR; BIT 17 NOT A ¢, AND M1 FAILED

/ERROR; AC DROPPED A 31T, AND M1 FAILED

/TEST AND X78, AC=M4Q3K
/L=l
/AC=377777
/AC=ONES
/AC=0ONES
/AC=0,1 =0
/ERROR; BIT @ NOT A @, AND K7S FAILED

/ERROR1 AC DROPPED A 31T, AND K7S FAILED

/TEST AND K78, AC=M202K
/L=1
/aC=577777
/AC=0NES
/AC=0ONES
/AC=8, (=9
/ERROR; BIT 1 NOT A @, AND K7S FAILED

/ERROR; AC DROPPED A 31T, AND K7S FAILED

/TESY AND K78, AC=M1p3K
/L=l
/AC=677777
/AC=0ONES
/AC=577777
/AC=0ONES
/AC=8, L=0
/ERROR; BIT 2 NOT A @, AND K7S FAILED

/ERROR; AC ORQPPED A 31T, ANDK7S FAILED




E44p,

£441,

£442,

£443,

E444,
£445,

£E446,

E447,

CLLtIML
~AC V42K
ANI <7S
T

AT
SELIIMA
HALT

SZA

HALT

CLetIMb
LAC M22k
AND <78
RA\..
RTe
RTw
SZLICMA
HALT
SZA
HALT

CLipcML
LAC M1k
AND «7S
RTL

RTL

RTL
SZL1CMA
HALT

SZA

HALT

CLL!CML
LAC M4K
AND X7S
RAL
RTy
RTL
RTL
SZLICMA
HALT
SzA
HaLT €

Page 106

/TEST AND K7S, ACzM4ac<
/L=1
/AC=2737777
/AC=0ONES
/AC=577777
/ACzONES
/AC=@, L=@
/ERROR; BIT 3 NOT A @2, AND K7S FAILED

/ERROR; AC OROPPED A 31T, AND K7S FAILED

/TEST AND K78, M2gK
/L=1
/aC=757777
/AC=0ONES
/AC=737777
/AC=577777
/AC=0ONES
/AC=8, L=0
/ERROR; BIT 4 NOT A @, AND K7S FAILED

/ERROR; AC DROPPED A 31T, AND K75 FAILED

/TEST AND K75, M1@X
sLel
/AC=767777
/AC=0ONES
/AC=737777
/AC=577777
/AC=ONES
/AC=8, =@
/ERROR; BIT 5 NQT A @, AND K7S FAILED

/ERROR; AC DROPPED A 31T, AND K75 FAILED

/TEST AND K78, M4x

/L=l

/AC=773777

/AC=0ONES

/AC=767777

/AC=737777

/AC=2577777

/AC=0ONES

/AC=@, L=0

/ERROR; BIT 6 NOT A @, AND K7S FAILED

/ERRQR; AC DROPPED 4 31T AND K75 FAILED
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/TST AND K75, M2K

CLuilMmL /=1
LAC M2K /AC=775777
AND £7S /ACZONES
ATL /AC=763777
AT /AC=737777
T /AC=877777
ATw /AC=0NES
SZLITMA /AC=0, L=@
448, HALT . /ERROR; BIT 7 NOT A 2, AND K7S FAILED
SzA
E449, HALT /ERRQOR; AC DROPPED A 31T, AND K7S FAILED
/TEST AND K75, Mixk
CLL:CML /L=l
LAC ¥1K /AC=776777
AND 478 /AC=0NES
RAL /AC=775777
RTL /AC=767777
RTL /AC=737777
RTL /AC=577777
ATL /AC=0NES
SELICMA /AC=0, L*@
E£45g, HALT © /ERROR: BIT 8 NOT A @, AND K7S FAILED
SZA .
£451, HALT /ERRQR) AC DOROPPED A 31T, AND K7S FAILED
/TEST AND X7S, M4pe
CLL1CML /L=l
LLAC %409 /AC=777377
AND X78 /AC=QNES
RAR /AC=777877
RTR /AC=2777737
RTR /AC=777767
RTR /AC=777775
RTR /AC=0ONES
SELICMA /7AC=0, L=0
£452, HALT /ERROR; BIT 9 NOT A @, AND K7S FAILED
SZA

E453, HALT /ERROR; AC DROPPED A 31T, AND K7S FAILED
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/TEST aND X7S, M29¢

LML /L=1
~AC “22¢ /AC=777577
anl <78 /AC=0ONES
TR /AC=7777387
TR /aC=777767
7R /AC=777775
TR /AC=0ONES
SE.1TMA /AC=g, L#g¢
E454, HACT /ERROR; BT 1¢ NOT & ¢, AND X7S FAILED
S7ZA
E455, AT /ERROR; AC DROPPED A 317, AND K7S FAILED
/TEST AND X785, M108
CLwtTML /L=1
LAC “169Q /AC=777677
AND <78 /AC=0ONES
RAR /AC=777737
RTR /AC=777767
TR /AC=777775
TR /AC=0ONES
SZFLI1TMA /AC=8, (=0
£456, 4ALT /ERROR; BIT 11 NOT A 3, AND K7S FAILED
SEA
£457, AT /ERROR; AC DORQOPPED A 317, AND K78 FAILED
/TEST AND £7S, M49
CLu'CML /L=1
LAC v480 JAC=777737
AND 475 /AC=0ONES
RTR /AC=777767
RTR /AC=777775
RTR /AC=0NES
SzL1CMA /AC=8, L=0
£E458, HALT /ERROR; BIT 12 NOT A 2, AND K7S FAILED
SzA

£459, HALT /ERROR; AC DROPPED A 31T, AND K7S FAILED



£46g,

E461,

£462,

£463,

E464,

Eq65,

SLwtIML
AT M22
AND <7S
AR

TR

RTR
SZLUtIMA
AT
SZA
AALT

CLLtOML
~AC M10
AND K78
RTR
RTR
SZL!1THA
HALT
SZA
HALT

CLutCML
LAC Y4
AND 478
AR
RTR
SgLICMA
HALT
SZA
HALT
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/TEST AND K7S, M2g
/=1

/AC=2777757
/AC=0NES
/AC=777767
/AC=777775
/AC=0ONES

/AC=0, =9

/ERROR; BIT 13 NnOT

/ERROR; AC DROPPED

/TEST AND K75, Mig
/L=l

/AC=777767
/AC=0NES
/AC=777775
/AC-0ONES

/AC=0, L =0

/ERRQR; BIT 14 nNoT

/ERROR; AC DROPPED

/TEST AND X7S, M4
/L=l

/AC=2777773
/AC30ONES
/AC=777775
/AC=0ONES

/AC=0, =0

/ERRORs BIT 15 NOT

/ERRORs AC DROPPED

2, AND K7S FAILED

31T, AND K7S FAILED

8, AND K735 FAILED

31T, AND K78 FAILED

3, AND K7S FAILED

31T, AND K7S FAILED



£466,

467,

£468,

£469,
START

CL. 1ML
_AC M2
A ) <78
TR
SZ- ! TMA
AALT
3Za
HALT

CLuL oML
-AC M1
AND <7S
QAR
SFLICMA
HALT
SZA
HALT
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JTEST AND <75, M2
/L=l

/AC2777775
/AC=0NES

/AC=0ONES

/AC=@, L=¢

/ERROR; BIT 16 NOT

/ERRQR; AC DROPPED

/TEST AND K75, M1
/L=l

/AC=777776
/AC=0ONES

/AC=ONES

/AC=8, L=0

/ERROR; BIT 17 NOT

/ERROR; AC DROPPED

4, AND K78 FAILED

31T, AND K75 FAILED

3, AND K7S FAILED

31T, AND K7S FAILED



/TAPE 5 PART 2
/XOR, TAD, AJD

CLA
XOR g
SZA

£E479, HALT

CLAtCMAICLL

LAC <488k
X0R Xg
RAL
SNL
E471, HALT
SZA

E472, HALT

CLAICMAICLL
LAC X288k
XOR «g
RTL
SNL
£473, HALT
SZA

E474, HALT

CLAICMAICLL
LAC K1@@x
X0R Kg

RTL

RAL

SNL

HALT

E475,

SZA

E476, HALT
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/TEST XOR 2, AC=g
/AC=¢
/8

/ERROR; AC NOT g,

/TEST XOR XgS, AC=

/ACSONES, L=0

/AC=400K
/9
/AC=¢
/L=1, AC=9

/ERROR; BIT # NgT
/FALLED

/ERROR; AC PJCKED
/FAILED

/TEST XOR K@S, AC=

/AC=0ONES: L=0

/AC=200K
/AC=10
/AC=g
/=1, AC=g

/ERROR; BIT 1 NoT
/FALILED

/ERROR; AC PICKED
/FAILED

/TEST XOR K@S, AC=

/AC=0ONES, L=0
/AC=190K

4]

/AC=488K

/AC=8

/L2l, AC=9

/ERROR; BIT 2 NoTv

/FAILED

XJR @ FAILED

440<

A 1 XOR K@S

A BIT, XOR k@S

238¢

A 1, XOR K@$S

A BIT, XOR K@S

128<

A 1, XOR KBS

/ERROR: AC PICKED A BIT, XOR K@S$

/FAILED




£477,

£478,

E479,

E480,

E484,

E482,

CLAICHMAICLL
LAC K40K
X0 <g

RTe

CLAICMAICLL
LAC <20k
X0R £g

RTu

RTL

RAL

SNL

HALT

SzA
HALT

CLAICMAICLL
LAC K12K
XOR Kg

RTL

RTL

RTL

SNL

HALT

SZA
HALT
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/TEST XOR X@S, AC=43K

/AC=0ONES, L=0
/AC=43K

4’}

/AC-238K

/AC=2

/L=1, AC=¢

/ERROR; BIT 3 NOT A 1.,

/FAILED

XO0R K@S

/ERROR; AC PICKED A BIT, XOR K@S

/FALLED

/TEST X0R X@S, AC=223K

/AC=0ONES, L=8
/AC=28K

/@

/AC=100K

/AC2400K

/AC=0

/1.=s1, AC=@

/ERROR; BIT 4 NOT A 1,

/FALLED

X0R K@S

/ERROR) AC PICKED A BIT, XOR K@S

/FAILED

/TEST XOR K@S, AC=12K

/AC=0ONES, L=
/AC=1pK

/8

/AC=40K

/AC=208K

/AC=@

/L=1, AC=9

/ERROR; BIT 5 NOT A ¢,

/FAILED

XOR K@S

/ERROR3 AC PICKED A BIT,» XOR KOS

/FAILED



E483,

£484,

E485,

486,

€487,

E488,

CLAICMAICLL
LAC K4x

X0R Xg

AT.

T

RTL

JAL

SNL

AALT

SZA
HALT

CLAICMAICLL
LAC £2K

X0R <@g

RTL

RTL

RTL

RTL

SNL

HALT

SzZA
HALT.

CLAICMAICLL
LAC X1K

XOR «g

RTL

RTL

RTL

RTL

RAL

SNL

HALT

SZA
HALT
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/TEST XOR X@S, AC=4x
/AC=0ONES, L=0

/AC=4K

/e

/AC=208K

/AC=108K

/AC=400K

/AC=0

/L=1, AC=Q

JERROR; BIT 6 NOT A 1, XOR K@S
/FALILED

/ERROR; AC PICKED A BIT: XOR K@S
/FATLED

/TEST XOR K@S, AC=2<
/AC=0ONES, L=0

/AC=2K

/9

/AC=18K

/AC=40K

/AC=208K

/AC=0

/L=1, AC=@

/ERROR: BIT 7 NOT A 1, XOR K@S
/FAILED

/ERROR; AC PICKED A BIT, XOR K8S
/FALLED

/TEST XOR K@S, AC=1iX
/AC=0ONES, L=9

/AC=1K ’

/@

/AC=4K

/AC=28K

/AC3108K

/AC=3400K

/AC=@

/L=1, AC=@

/ERROR; BIT 8 NOT A 1, XOR KgS
/FATLED

/ERROR; AC PICKED A BIT,» XOR KB@S
/FALLED




£489,

E4983,

£491,

£492,

E493,

£494,

CLAICMAICLL
LAC <440
X0R <@

TR

TR

RTR

RTR

RAR

SNo

HALT

SZA
“ALT

CLAtCMAICLL
LAC K200
X0 ¢

TR

RTR

TR

RTR

SN

HALT

SZA
HALT

CLAICMAICLL
LAC <109
X0R Kg

RTR

RTR

RTR

RAR

SNL

HALT

SzZA
HALT
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/TEST XOR X@S, AC=430
/AC=ONES, L=0

/9
/AC=102
/AC=20
/AC=4
/AC=1
/AC=0

/AC=492

/L=1, AC=g
BIT 9 ~NOT A 1, XOR K0S

/ERROR;
/FALILED

/ERROR;
/FALLED

AC PICKED A BIT,

/TEST XOR X@S, AC=228
/AC=0NES, L=0

/8
/pC=48
/AC=18
/AC=2
/AC=@

/AaC=2¢p0

/L=1, AC=g

/ERROR}
/FAILED

BIT 18 NOT A I,

XOR K@s

XOR K#8S

/ERROR; AC PICKED A BjT, XOR k@S

/FAILED

/TEST XOR X@S, AC=199
/AC=0ONES, (=8

/8
/AC=1080
/AC=20
/AC=4
/AC=1

/AC=100

/L=1, AC=9

/ERRORS
/FALLED

/ERROR;
/FAILED

BIT 11 NOT A 1,

AC PICKED A BIT,

XOR K@S

X0OR K8S



E495,

£496,

£497,

£498,

E499,

E588,

CLATTMAICLL
~AC <49

X0R <@

RTR

RTR

A7

Snw

HALT

SzA
HALT

CLATCMAICLL
“AC <20

XQR £g

RTR

RTR

RAR

SNL

HALT

SzA
HALT

CLAICMAICLL
LAC K18

XOR Kg

RTR

RTR

SNL

HALT

SZA
HALT
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/TEST X0OR X@S, AC=42

/AC=ONES, L=0

/AC=4p

/8

/AC=19

/ACz2

/AC=Q

/L=1

/ERROR: BIT 12 NOT & 1, XOR K@S
/EATLED

/ERROR; AC PICKED A BIT, XOR K#S
/EALLED

/TEST XOR K@S, AC=22

/AC=0ONES, L=0

/AC=2@

/98

/AC=4

/AC=1

/AC=8

/L=1, AC=2

/ERROR; BIT 13 NOT A L, XOR K83S
/FAILED

/ERROR; AC PICKED A BIT: XOR. KOS
/FAILED

/TEST XOR K@S, AC=13

/AC=0ONES, L=0

/AC=10

/8

/AC=2

/AC=8

/L=1, AC=0

/ERROR; BIT 14 NOT A 1. XOR KgS
/JFAILED

/ERROR; AC PICKED A BIT, XOR K@S
/FALILED



ES@1,

£502,

ES@3,

£E504,

E5@5,

£586,

CLATCMAICLL
“AC <4

X0 <@

TR

AR

SiNw

AALT

SEA
HALT

CLAtOMAICLL
LAC «2

X0R <@

RTR

SNL

HALT

SEA
HALT

CLAICMAICLL
LAC X1

XOR «g

RAR

SNL

HALT

SZA
HALT
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/TEST X0OR X@8S, AC=4

/AC=0ONES, L=z=0

/AC=4

/@

/AC=1

/AC=0

/L=l, AC=@ :

/ERROR; BIT 15 NOT 4 L1, XOR KgS
/FATLED

/ERROR; AC PICKED A BIT, XOR K@S
/FATLED

/TEST XOR XK@S, AC=2

/AC=ONES, L=0

/AC=2

/0

/AC=0

/L=1, AC=@

/ERROR; BIT 16 NOT 4 1, XOR K@S
/FAILED

/ERROR; AC PICKED A BIT,» XOR K@S
/FAILED

/TEST XOR K@S, AC=1

/AC=0ONES, L=0

/AC=1

/8

/AC=@

/L=1l, AC=Q

JERROR; BIT 17 NOT A L, XOR K@S
/FAILED

/ERROR; AC PICKED A BIT, XOR K@S
/FALLED



£507,

E508,

ESgo:

€518,

E511,
£s512,

E513,
£E514,

CLatCLL
XOR <49¢K
RAL

SNo

HALT

SzA

HALT

CLatCLL
X0 <2088k
RTL

SNL

HALT

SZA

AALT

CLAICLL
X0R X1068K
RTL

RAL

SNt

HALT

SZA

HALT

CLAICLL
XOR X48K
RTL
RTL
SNL
HALT
SZA
HALT

Page 117

/TEST X0R K409K, AC=2

/AC=@, L=8
/428K

/AC=0

/L=l, AC=¢

/ERROR; BIT © NOT A 1, XOR K48@K FAILED
/ERROR; AC PICKED A BIT,» XOR K4@@8K FAILED

/TEST XpR X20pK, AC=@

/AC=0, L=@
/288K

/AC=@

/L=1, AC=9

JERROR; BIT 1 NOT A 1+ XOR K2ggK FAILED
/ERROR; AC PICKED A BIT,» XOR K2@8K FAILED

/TEST XOR K18@K, AC=2
/AC=@, L=8
/189K
/AC=4Q0K
/AC=g
/L=1, AC=8
JERROR; B1T 2 NOT A 1, XOR K19@8K FAILED

/ERROR) AC PICKED A BIT, XOR K1@@K FAILED

/TEST XOR K49PK, AC=2

/AC=8, L=P
/48K

/288K

/AC=0

/=1, AC=0

JERROR: BIT 3 NOT A 1, XOR K4@K FAILED

/ERROR; AC PICKED A BIT, XOR K4@K FAILED



E515,

£516,

€517,

E518,

E519,
€528,

CLAICLL
XQ1 <28k
e
XTw
QN
SNu
AT
SZA
HAT

CLAISLL
X0R <10K
RTL
RT.
RTL
SNL
HALT
SZA
HALT

CLAICLL
XOR X4K
RTw
AT
RTL
RAL
SNL
HALT
SZA
HALT
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/TEST X0OR X20@K,» AC=2
/AC=8, =0

/20K
/AC=108K
/AC=400K
/AC=0
/L=1, ACSY

JERROR; BIT 4 NOT A 1, XOR K28K FAILED

/ERROR; AC PICKED A BIT, XOR K28K FAILED

JTEST XOR 18K, AC=3
JAC=2, L=2
/12K
/AC=40K
/AC=2088K
/AC=@
/L=1, AC=p
/ERROR; BIT 5 NOT A 1, XOR Ki@K FAILED

/ERROR; AC PICKED A BiT, XOR K18K FAILED

/TEST XOR X4K, AC=0

/AC=8, (=9

/4K

/AC=20K

/AC=100K

/AC=400K

/AC=0

/L=1, AC=0

/ERRQOR; BIT 6 NOT A 1, XOR K4K FAILED

/JERROR; AC PICKED A BIT: XOR K&K FAILED



£521,

£E522,

E523,

E524,

£525,
£526,

CLAICLL
XOR <2K
RTL
T
ITL
RTw
SN-
HA_T
SZA
HALT

CLA:CLL
X0R K1K
RTL

RTL

RTL

RTL

RAL

SNL
HALT
SZA
HALT

CLAICLL
X0R X409
RTR
RTR
RTR
RTR
RAR
SNL
HALT
SZA
HALT
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/TEST XQR X2K, AC=@
/AC=0, =0

/2K

/AC=108K

/AC=40K

/ACZ2288K

/AC=0

/L=1l, AC=¢

JERROR; BT 7 NOT A 1.,

XOR k2K FAILED

/ERRGR; AC PICKED A BIiT, XOR K2K FAILED

/TEST XOR XKiK, AC=0
/AC=0, (=@

/1K

/AC=4K

/AC=28K

/AC=180K

/AC=4080K

/AC=0

/Ls1, AC=9

/ERROR; BT 8 NOT A 1,

XOR g1k FAILED

/ERROR; AC PICKED A BIT:» XOR K1K FAILED

/TEST XQR K498, AC=3
/AC=8, L=0
/408
/AC=100
/AC=20
/AC=4
/AC34
/AC=0
/L=l, AC=Q

- /ERROR: BIT 9 NOT A 1.

XOR K408 FAILED

/ERROR} AC PICKED A BIT» XOR K4@8 FAILED



£527,

£528,

E529,

£538,

E531,
E532,

CLAICLL
X0R <284
TR
3TR
TR
RTR
SNL
HALT
SZA
HALT

CLAICLL
X0 X109
RTR
RTR
RTR
RAR
SNu
HALT
SzA
HALT

CLA'CLL
XOR K40
RTR
RTR
RTR
SNL
HALT
SZA
HALT
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/TEST XOR K204, AC=2

/AC=2, (=9
/228

/AC=48

/AC=18

/AC=2

/AC=Q

/L=1, AC=0

JERROR; BIT 13 NOT a L, XOR K260 FAILED
/ERRQOR; AC PICKED A BIT, XOR K200 FAILED

/TEST XOR K1B@, AC=2
/AC2@,L=0
/128
/AC=28
/AC=4
/AC=1
/AC=8
/L=1l, AC=@
/ERROR; BIT 11 NOT A 1, XOR K180 FAILED

/ERROR; AC PICKED A BIT, XOR K18@ FAILED

/TEST XOR K48, AC=0

/AC=0, =8

/48

/AC=10

/AC=2

/ACzp

/Lel, ACFD

/ERROR; BIT 12 NOT A 1, XOR K48 FAILED

/ERROR: AC PICKED A BIT, XOR K48 FAILED



£533,

E534,

£535,

E536,

£537,
E538,

SLAICLL
X0’ <3¢
TR
TR
RAR
SN
HAWT
SEA
HALT

cLarZib
X0 <18
RTR
RTR
SN
HALT
Sgh
HALT

CLA:CLL
XOR K4
RTR
RAR
SNL
HALT
SzA
HALT
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/TEST XOQOR X208, AC=z@

/AC=8, L=@

/28

/AC=4

/AC=1

/AC=0

/L=1, AC=¢

/ERROR; BIT 13 NOT A L, XOR K2# FAILED

/ERROR; AC PICKED A BIT, XOR K28 FAILED

/TEST XOR K18, AC=8

/AC=@, L=g
/1@

/AC=z2
/AC=zg
/Lel, AC=Q

JERROR; BIT 14 NOT A L, XOR Ki@ FAILED
/ERROR; AC PICKED A BIiT, XOR K1i@ FAILED

/TEST XOR K4, AC=z=g

/AC=8, L=0Q
/4

/AC=1
/ACzg
/Lel, AC=Q

/ERRORs BIT 15 NOT A L, XOR K4 FAILED

/ERROR) AC PICKED A BIT, XOR K4 FAILED



£539,

£E549,

£E54y1,
E542’

START

SLAITLL
X3 €2
TR
S
AALT
524
AALT

SLAITLL
X0 <1
QAR
SN
HALT
SzA
HALT
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/TEST XOR =2, AC=g
/AC=0, L=

/2
/AC=Y
/L=1, AC=¢

JERROR; 81T 16 NOT 4 L, XOR K2 FAILED
/ERROR; AC PICKED A 81T, XOR K2 FAILED

/TEST XQR X1, AC=zg

/AC=0, =0
/1

/AC=@
/L=1, AC=¢

/ERROR; BIT 17 NOT A L, XOR K1 FAILED

/ERROR; AC PICKED A BIT:, XOR K1 FAILED
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/INST., TeST  TAPE 6

/TEST XOR <48¢gK, AC=K3IQYK

AT £4€8K /ACz409K
XU <499K /429K
SZA
£E543, 4ALT /JERROR: BIT € NOT A 3, XOR K4QOK FAILED
JTEST XOR A28gK, AC=x22UK
AT K208K : /AC=20K
X0 202K /280K
SZA
£E544, HALT /JERROR; BIT 1 NQT A 2, XOR K200K FAILED
/TEST XOR X18¢K, AC=K1B0K
LAC €1082K /AC=1008K
XOR X129K /100K
SZA
£545, HALT JERROR; BIT 2 NOT A 2., X0OR K19@K FAILED
/TEST XOR K40@K, AC=K40K
LAC <4@K /AC=4pK
XOR £4@K . /42K
SZEA
E546, HALT /ERROR; BIT 3 NOT A 2, XOR K4@K FAILED
/TEST XOR X2UK, AC=<20K
LAC <28K /AC=2gK
X0R 20K /23K
SEA
E547, HALT JERROR; BIT 4 NOT A 2, XOR K2@K FAILED
/TEST XOR K1BK:, AC=KL@K
LAC X18K /4C=z1gK
XQR X10K /10K
SEA

E548, HALT /ERROR; BIT 5 NOT A 2, XOR K1@K FAILED
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/TEST X0R X4K, AC=K4EX

AT €4X /AC=4K
ADX 4K /4K
SAA
£549, ~aT JERRQR: B! 6 NOT A 7, XNR K4K FAILED
/TEST X0OR X2K, AC=zK2X
~AT <2K /AC=2K
XQR 2K /2K
5ZA
E550, HA-T ’ /ERROR; BIT 7 NOT A& 2, XOR K2K FAILED
/TEST X0OR 1K, AC=X1K
LAC <1K /ACzLK
Xy £1K /1K
SZA
E551, HALT JERROR3 BIT 8 NOT A @, XOR KiK FAILED
/TEST XQR K48p, AC=<420
~AC <409 /AC=4p0
XOR A£4C¢@ /448
SZA .
£552, HALT /ERROR; BIT 9 NOT A 9, XOR K499 FAILED
/TEST X0OR X20@, AC=z=<22%
LA £20¢ /AC=200
XOR £2¢9 /28¢
SZA
£553, HALT /JERROR: BIT 19 NOT A@: X0OR X288 FAILED
/TEST XOR K188, AC=K130
LAC <109 /AC=1@0
XOR <109 /140
SZA

E554, HALT /ERROR; BIT 11 NOT A 2, XOR K188 FAILED
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/TEST X0OR X408, AC=K4d

~AC K40 /AC=49
X0 <40 /42
SZA
£555, AT /ERROR; BT 12 NOT A 2, XOR K4@ FAILED
/TEST XQR K28, AC=K2¢
~AC <@ /AC=20
X0R 420 /20
S7A _
£556, 4ALT JERROR; BIT 13 NOT A 2, XOR K28 FAILED
/TEST XOR K19, AC=K12
~AC <10 /AC=10
XQR K10 /1@
SzA
£557, HALT /ERROR; BT 14 NOT A 2, XOR K18 FAILED
/TEST X0OR X4, ACzK4
-AC <4 /AC=4
XOR <4 /4
574
£558, AAnT /ERROR; BT 15 NOT A 3, XOR k4 FAJLED
/TEST XOR K2, AC=K2
LAC <2 /AC=?2
XOR A2 /2
SZA
£55¢9, HALT /ERROR: BIT 16 NOT A 2, XOR K2 FAILED
/TEST XOR X1, AC=K1
LAC X1 /AC=1
XOR <1 /1
SZA

E569, HALT /ERROR; BIT 17 NOT A 2, XOR K1 FAILED
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/TEST X0OR X785, AC=M422K

CL-
“AC v4202K /aC=377777
X0 €7S /777777
- /AC=D
SN /AC=0, L=1
£561, HauT JERROR; BIT @ A 1 , XIR K7S FAILED
SEAICLL
E£562, AALT /ERROR; AC PICKED A RIT, XOR K7 S FAILED
R /TEST XOR X7S, AC=M202K
“AC M20@K /AC=577777
XQR <78 /777777
RTw /AC=@
SNuw /AC38, L=}
E563 HALT JERROR; BIT 1 NOT A 1+ XOR K7S FAILED
SEAICLL
£E564, AALT /ERROR; AC PICKED A BIT, XOR K7S FAILED
/TEST X0OR X755, AC=M103K
LAC M1¢pK /AC=677777
XQR £7§ /777777
AL /AC=280K
RTL /AC=0
SNL o /AC=8, L=l
£E565, HALT /ERROR; BIT 2 NOT A 1, XOR K7S FAILED
SEAICLL
£E566, HALT /ERROR; AC PICKED A BIT., XOR K7S FAILED
-
/TEST XOR X7S, AC=M4@<
LAC 40K /AC=737777
XQR X78 /777777
RTL /AC=22080K
RTL /AC=0
SNL /AC=0, L=
E567, HALT /ERROR3 BIT 3 NOT A 1, X0OR K7S FAILED’
SzAICLL

E568, HALT /ERROR} AC PICKED A BIT, XOR K7S FAILED



£E569,

£579,

£E571,

E572,

E573,

E574,

_AT M2eK
X33 <75
Ao

T

T -

SN

HAuT
SZALTLL
HALT

LAC Y10K
X0 <78
RTL

RTL

RTw

SNL

HALT
SzarCLL
HALT

LAC My4K
X0R X7S
RAW

RTL

RTL

RTL

SNL
HALT
SzA1CLL
HALT
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/TEST XQR X7S, AC=M23<
/aC=75%7777
/777777
/AC=40K
/AC=28@K
/AC=0
/AC=zR, (=1
/ERROR; BIT 4 NOT A 1, XOR K7S FAILED

/ERROR: AC PICKED A BIT, XOR K7S FAILED

/TEST XOR XK7S, AC=M18<
/aC=767777
/7777777
/AC= 48K
/AC=280K
/AC:Q
/AC=20, L=1
/ERROR1 81T 5 NOT A 1, XOR K7S FAILED

/ERROR: AC PICKED A BIT,» XOR K7S FAILED

/TEST XOR K7S, AC=M4K

/AC=773777

7777777

/AC=10K

/AC=40K

/AC=2080K

/ACzp

/AC=0, =1

JERROR3 BIT 6 NOT A 1, XOR K7S FAILED

/ERROR; AC PICKED A BIT, XOR K7S FAILED



£E575,

E576.,

E577,
£578,

E579,
E588,

~AC MY2K
XQR <78
AT

RTw

EREN

RTL

SN
HALT
SACLL
HALT

LAC MK
X0R £7S
RAL

RTL

RTL

RTL

RTL

SNu
HALT
SZAICLL
HALT

LAC +4l@
XO0R «7S
RAR

RTR

RTR

RTR

RTR

SNL
HALT
SzACLL
HALT
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/TEST XOR K75, AC=M2K

/AC=775777

1777777

/AC=18K

/AC=40K

/AC=200K

/AC=0

/AC=8, (=%

JERROR; BIT 7 NOT A 1., XOR K7S FAILED

/ERRQOR; AC PICKED A BIT,» XOR K7S FAILED

/TESY XOR K75, AC=M1K

/AC=776777

/7777777

/AC32K

/AC=1 9K

/AC= 48K

/AC=288K

/AC=2

/AC=@, L=1

/ERROR; BIT B NOT A 1, XOR K7S FAILED

/ERROR; AC PICKED A BIT, XOR K7S FAILED

/TEST XOR K7S, AC=M402
/AC=777377
/777777
/AC=2080
/AC=40
/AC=10
/AC=2
/AC=@
/AC=8, (=1
/ERROR: BIT 9 NOT A 1, XOR K7S FAILED

/ERRORs AC PICKED A BIT, XOR K7S FAILED



£581,

£582,

£583,

£E584,

E585,
E586,

wAC Mvoup
XpR %78
RIR

<TR

TR

TR

SNu

HALT
SzACLL
HALT

“AC 41¢p
XQR X7§
AR
TR
TR
TR
SNL
HALT
SgA!ICQLL
HALT

LAC M40
XOR K78
]TR
RTR
TR
SNL
HALT
SzA!CLL
HALT
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/TEST xOR X7S, AC=M2@32
/AC=777%77
/777777
/AC=40
/AC=10
/AC=2
/AC=0Q
/AC=8, L=1
/ERROR} BIT 18 NOT 4 L, XOR K7S FAILED

/ERROR; AC PICKED A BIT, XOR K7S FAILED

/TEST XOR K7S, AC=Mip2
/4C=z777677
/777777
/AC=40
/ACE1D
/AC=2
/AC=8
/AC=8, L=t
/ERROR) BIT 11 NOT A 1, XOR K7S FAILED

/ERROR3 AC PICKED A BIT, XOR K7S FAILED

/TEST XOR K7S, ACcM4g

/AC=2777737

7777777

/AC=10

/AC=2

/AC=8

/ACE@, L=1

/ERROR3 BIT 12 NOT A 1, XOR K7S FAILED

/ERROR; AC PICKED A BIT: XOR K7S FAILED




£E587,

£588,

£589,

E590,

E591,
E592,

€593,

€594,

LAC Mp0
XQR «7S
AR
TR
37X
SNL
HALT
SZAICLL
HALT

LAC 419
XgrR 7%
RTR
RTR
SN
HALT
SZAICLL
HALT

-AC Y4
XQR %78
RAR
RTR
SNL
MALT
SEALCLL
HALT

LAC H¥2
XOR K78
RTR
SN
HALT
SEAICLL
HALT
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/TEST XOR K78, AC=M27

/AC=777757

1777777

/AC=210

/aC=2

/AC=8

/AC=8, (=1

/ERROR: BIT 13 NOT A 1, XOR K7S FAILED

/ERROR; AC PICKED A BIT,» XOR K7S FAILED

/TEST XOR K7S, AC=M13

/AC=777767

/777777

/7AC=2

/AC=@

/AC=0, L=1

/ERROR} BIT 14 NOT A L, XOR K7S FAILED

/ERROR} AC PICKED A BIT, XOR K7S FAILED

/TEST XOR K7S, AC=M4

/AC=777773

1777777

/AC=2

/AC=0

/AC=@, =1

/ERROR; BIT 15 NOT A L, XOR K7S FAILED

/ERRQOR3 AC PICKED A BIT,» XOR K7S FAILED

/TEST XOR X7S, AC=M2

/AC=777775

1777777

/ACS0

/AC=@, =1

JERROR; BIT 16 NOT A L, XOR K7S FAILED

/ERROR; AC PICKED A BIT, XOR K78 FAILED



£595,

£596,

£597,

£598,

£599,

E6889,

Eée1,

E682,

wAC 11
X0R <78
AR

SNw
AT
SEAICLL
HALT

CLAtCMAICLL

XOR v408K
RALC
SN
HALT
SzA
HALT

CLAICMAICLL
X0OR ¥200K
RTL

SN

HALT

SZA

4ALT

CLAICMAICLL
XOR ¥1908K
RAL

RTL

SNu

MALT

SZA

HALT
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/TEST XOR K75, AC=M1

/AC=777776

/777777

/AC=¢

/AC=20, L=1

JERROR: BIT 17 NOT A L, XOR K7S FAILED

JERROR: AC PICKED A BIT,» XOR K7S FAILED

JTEST XQR M4@9K, AC=0NES
/AC=ONES, L=
/377777
/AC=@
/AC=0, (=1
JERROR; BIT @ NOT A 1, XOR M4@@K FAILED
JERROR; AC PICKED A BIT, XOR M4BBK FAILED

/TEST XOR M20@K, AC=0VES
/AC=ONES, L=@
/577777
/AC=0
/AC=0, L=1
JERROR; BlT 1 NOT A 1, XOR M2P@K FAILED
JERROR; AC PICKED A BIT, XOR M2@@BK FAILED

/TEST XOR M10¢K, AC=0NES
/AC=ONES, L=0
/677777
/AC=2p0K
/AC=0
/AC=@, L=1
/ERROR} BIT 2 NOT A 1, XOR M1@@K FAILED
/ERROR) AC PICKED A BIT, xOR M1@8K FAILED



€663,

£604,

E605,

£E606,

E607,

Eeos,

E609,

E6108,

SLATCMAICLL
XX M4LK
RT-

T

SN -

AALT

Sz4

AALT

CLAICMAICLL
XOR M28K
RA-

RTu

RTL

SNL

HALT

SZA

HALT

CLAICMAICLL
XOR M10K
RTL

RTL

RTL

SNL

HALT

SZA

HALT

CLAICMAICLL
XoR 94K

RAL

RTL

RTL

RTL

SNL

HALT

SzA

HALT
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/TEST XOQR M4¥K, AC=)NIS
/AC=ONES, 1=@
/737777
/AC=286K
/AC=@
/AC=@, (=1
/ERROR; BIT 3 NOT A 1, XOR M48K FAILED
JERROR; AC PICKED A BIT, XOR M4QK FAILED

/TEST XOR M28K, AC=IN:IS
/AC=0ONES, L=0
/757777
/AC=40K
/AC=286K
/AC=0
/AC=@, =1
/ERROR3 BIT 4 NOT A 1, XOR M2@K FAILED
/ERROR; AC PICKED A BIT,» XOR M2@K FAILED

/TEST XOR M1@K, AC=INIS
/AC=0ONES, L=0
/767777
/AC=4BK
/AC=2280K
/AC=8
/AC=0, L=1
JERROR3 BIT 5 NOT A 1 XOR M1@K FAILED
JERROR; AC PICKED A BIT: XOR M1i@K FAILED

/TEST XOR M4K, ACmONES
/AC=0NES, L=z2@
/773777
/AC=18K
/AC= 48K
/AC=2006K
/AC=0
/AC=28, L=1
/ERROR; BIT 6 NOT A 1, XOR M4X FAILED
/ERROR; AC PICKED A BIT, XOR M4X FAILED



Eell,

£612,

£613,

Ec14,

E615,

£616,

CLATCMATICLL
xi)x MoK

<To

<Tw

<.
<1
SN
SALT
SEA
HALT

CLATIMAICLL
XOR MK
A

T

AT

RTo

T

SiNw
HALT
Sz4
HALT

CLAtCMAICLL
X0 “4L@
RAR

TR

IR

RIR

RTR

SNw

HALT

SZA

HALT

Page 133

/TEST XQR #M2K, AC=
/aC=0nEg,
/775777
/AC=18K
/AC=42K
/AC=z240K
/AC=R
/AC=g, =
/EKRQOR; B8
JERROR; A

17 7 NQT
C PICKED

/TEST XOR M1K, AC=
/AC=0ONES,

/776777

/AC=2K

/AC=10K

/AC=40K

/AC=208K

/AC=0

/AC=8, L=1

/ERROR; BT 8 NgT

JERRNR; AC PICKER

/TESY XOR 4489,

/AC=ONES, L=0
/777377

/AC=200

/AC=40

/AC=10

/AC=2

/AC=0

/AC=8, (=1

/ERROR; BIT 9 Not

JERROR; AC PICKED

0:ES
L=2 |

A 1o
A RIT,

XOR M2K FAILED
X007 M2K FAILED

A 1, XOR Mix TAJLED
£ BiTe x0w ¥4k FAJLED

AC=UNCIS

A 1, XOR M4¢@ FAILED
A RIT,

XOR M4@d FAILED
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/TEST XQR “28¢, AC=zMIS

SLAITMAICLL /AC=0ONES, =0
AR M2LY /777577
<TR /AC:4Q}
R /ACz18
<= i< /AC=7?
T~ /AC=2
Sy. /AC=2, =1
£E617, SALT ZERROR; 31T 1y w07 & L, XOR M200 FAILED
SZA /EPROR; AC PICKED 4 BIT, x0OR M280 FAILED

Fe18, HALT

/TEST XOR M1i@g, ac=z=ovis

LAY IMAL oL /ACZONES, L=@
X0 ¥%14¢ /777677
AR /AC=49
RTR /AC=10
TR /AC=2
<7< /AC=2
SN. /AC=8, L=1
E619, 4ALT /ERROR: BIT 11 NOT & 1» XOR Mipg FAILED
S#A /ERROR; AC PICKED A BIT, XOR M188 FAILED

£628, HALT

/TEST XOR M48, AC=0vES

CLArCmAICcLL /AC=ONES, L=8
X0 %4z /777737
TR /AC=10
TR /AC=?
TR JAC=¢
S /AC=@, 71
£621, FALT JERROR; BIT 12 NOT & L, XOR M4 FAILED
SZA /ERROR; AC PICKED A BIT, XOR M4@ FAILED

£E622, HACT

/TEST XOR M2@, AC=OVES

CLAICMAICLL /AC=ONES: =D
XOR M28 /777757
AR /AC=10
RTR /AC=?2
RTR /AC=0
SNL /AC=@, | =1
£623, HALT /ERROR; BIT 14 NOT 4 L, XOR M28 FAILED
SZA /ERROR; AC PICKED A BIT, XOR M28 FAILED

£E624, HALT



£625,

E6z6,

£627,

£628,

£629,

E638,

631

E632,

CLATIMAICLL
XQ3 v4

AR

RTR

SN

HALT

SZA

HALT

CLAICMAICLL
XOR M2

RTR

SN«

HALT

Sgh

HALT

CLAICMAICLL
X0 M1

RAR

SN«

HALT

SZA

HALT
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/TEST XQR M1, aC=0vES3

/ACEONES, L=Y

;777767

SaC=2

/4C=@

/AC=2, _=1

JERROK; 31T 14 NOT A 1, XOR M10 FAILFD
JEFROR; AC PICKED A RIT, XOR M1@ FAILED

/TEST XOR M4, AC=0ONZIS

/AC=ONES, L=

/77773

/AC=2

/AC=¢

/AC=@, L=1

JERROR: BT 15 NOT A 1,, XOR M4 FAILED
/ERROR: AC PICKED A BIT: XOR M4 FAILED

/TEST XOR M2, AC=QN:S

/AC=0ONES: L=Q

/777775

/AC=

/AC=@, =1

JERROR; 81T 16 NOT & L, XOR M2 FAILED
/ERROR; AC PICKED A BIT,» XOR M2 FAILED

/TEST XOR M1, AC=QNIS

/AC=0ONES, L=0

/777776

/AC=0

/AC=@, L=1 ,
JERROR: BIT 17 NOT A 1, XOR M1 FAILED
/ERROR, AC PICKED A BIiT, XOR Mi FAILED




E£E633,

£E634,

E£635,

E636,

€637,

£E638,

E639.,

SLAtCMAICLL tCML

XQR <7S
SZA
HAWT
SN-
HALT

CLATCMAICLL

X0R £7S
SZL
HALT

CLLITML
LAC %2525
XQR %2525
SZA

HALT

SNL

HALT

CLL
LAC K525
XOR X525
SZA
HALT
SzL
HALT

2
2
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/TEST XQR K7S, AC=0NES, L=1
/AC=Z(ONES, L=l
/777777
JERROR; AC NOT @, X.JR X7S FAILED
/JERROR: LINKS@, X0OR K75 FAILED
/TEST XOR K75, ACsOVES, L=0
/AC=ONES, L=8
/777277
JERROR} LINK=1, XOR K7S FAILED
/TEST XOR X2525, AC=252525, L=1
T

/AC=252525

/2525925
JERROR) AC NOT @, XJR K2525 FAILED
JERRORS LINK NOT A 1, XOR K2525 FAILED

/TEST XOR K5252,
/L8

AC=325252, L=0

/4C=5252572
/525252

JERROR) AC NOT g, XOR k5252 FAILED

JERROR3 LINK NOT A 8, XOR K5252 FAILED



£E640,

€641,

£642,

£643,

644,

£645,

E646,

LAC
X0R
CMA
Séa
HALT

CLus
LAC
AND
XOR
SZA
HALT
SN
HALT

CLe
LAC
XoR
AND
CMA
SZA
HALT
S#L
HALT

CLLiCLAICHMA

X0OR
X0R
X0R
XO0R
XOR
XQR
CMA
SEA
HALT
SZL
HALT

2525
£5252

CML
<78
£7S
<7S

A0
K78
X78%

K78
K7S
K7S
X7S
7S
K78
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/TEST XOR X5252, AC=25252%5
/AC=252525
/525252

/AC=¢

/ERROR; AC NOT ONES, XOR K5252 FAILED

/TEST LAC, AND,» XOR SiRIES, L=1
/=1

/AC=0NES

/AC=ONES

/AC=D

/ERROR; AC NOT @, SZIRIES FAILED
/ERROR: LINK NOT A 1, SERIES FAILED

/TEST LAC, XOR, AND S:IRIES, L=0
/L=9

/AC=g

/AC=0ONES

/AC=0ONES

/AC=0

/ERROR; AC NOT QNES, SERIES FAILED
JERROR; LINK NOT A g, SERIES FAILED

/TEST XQR X7S SERIES, L=8
/AC=0ONES

/AC=0

/AC=0NES

/AC=0

/ACSONES

/AC=0

/AC=0ONES

/AC=@

/ERROR; AC NOT @, XOR SERIES FAILED

/ERROR; LINK NOT @, XJR SERIES FAILED



£E647,

£648,

£E649,

£658,

£651,

E652,

CLAICLL I CML -

TAD <g
SN
AT

CLA!:MA
LAC K440K
TAD <9
XOR <4080k
SZA

HALT

CLAICHA
LAC 200K
TAD <@
X0 290K
SZA

HALT

CLAICMA
LA XK10@K
TAD Kg
XQR K168K
SZA

HALT

Page 138

/TEST TAD X@, AC=3, L=¢
/AC=0, L9
/A0

/JERROR; AC NOT @, TAD K6 FAILED
JERROR: LIVK NOT @, TAD K3 FAILED
/TEST TAD <@+ AC=9g, L=t
/AC=3, L=1
/AC=8
JERRQR; LINK NOT A 1, TAD K@ FAILED
/TEST TAD K@, AC=z483X
/AC=@NES
/al=4p0K
/9
/¢
JERROR; BIT © NOT A 1, TAD K8 FAILED

/TEST TAD X@» AC=203K

/AC=0NES

/AC=290K
/@
/2
JERROR; BIT 1 NOT &4 1, TAD K@ FAILED

/TEST TAD K@, AC=z103X

/AC = ONES
/AC=100K
/2
/8

JERROR; B1T 2 NOT A 1, TAD K@ FAILED



£653,

£654,

£655,

E656,

E657P

CLAIOMA
~AC K4¢K
TAJ <@
X0 €4¢K
SZA

HALT

CLAICHA
LAC <20k
TAD <@
X0 <22K
SzA

HALT

CLA!TMA
LAC K1¢K
TAD <g
XQR 18K
SgA

HALT

CLAICMA
LAC A4K
TAD <«
X0 <4K
SZEA
HALT

CLAICMA
LAC X2K
TAD K@
XOR K2
SZA
HALT

/TEST T4
/AC=0NES

/@

/ERROR

/TEST TA
/AC=0NES

/8

/ERROR;

/TEST TA
/AC=0ONES

/8

/ERROR;

/TEST TA
/AC=0ONES
/AC=4K
/2

/9

/ERROR;

/TEST TA
/AC=0ONES
/AC=2K
/8

/@

/ERROR:
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0 X9, AC=42<
/AC=4pK

/8

BIT 3 NOT 4 1,
D K@, Ac=28<
/aC=20K

/9

BIT 4 NOT A 1,
D K@, AC=10<
/AC=1pK

/8

BiT 5 NOT A 1.
D X8, AC=z4K
BIT 6 NOT A 1,
D K@, AC=2K
BIT 7 NOT A 1,

TAD

TAD

TAD

TAD

TAD

K2

Ka

K@

K@

K@

FAILED

FAILED

FAILED

FAILED

FATLED



£658,

£659,

£668,

E661,

CUATTOMA
LAC A1K
fad <@g
X0 1K
SZA
AT

CLA!ICMA
“AC K4iée
TAD g
XQR K408
SEA

AT

CiLA1CMA
LAC X200
TAD Ag
XOR <280
SzA

AACT

CLA!CMA
LAC <100
TAD %g
XQR <188
SZA

HALT
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/TEST TAD K@, AC=1K
/AC=0ONES

/AC=1K

/8

/¢

JERROR; BIT B8 NOT A 1, TAD K@ FAILED

JTEST TAJ K@» AC=402
/AC=0ONES

/AC=490
/0

/Q

/ERROR; BIT 9 NOT A 1, TAD K@ FAILED

/TEST TAD K@, AC=203
/AC=0ONES

/AC=2@@
/8

/3

JERROR; BIT 1@ NOT A L, TAD K@ FAILED

/TEST TAD <A@, AC=100
/AC=0ONES

/AC=10@
/@

/g

JERROR: BIT 14 NOT A L, TAD K@ FAILED



£662,

£663,

E664,

E665,

CiAIIMA
40 K4¢
TAd <
£ <42
SAA
AT

CLACMA
AT L20
Tad <g
XQR 428
SZA
“HALT

CLATCMA
LAC <18
TAD <g
X0R <10
SZA
HALT

CLAYOMA
AT 44
TAD <g
X0 <4
SZA
HALT
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JTEST T4AD <@, AC=47
/AC=ZONES

/AC=40

/8

/@

JERROR; BIT 12 NoT & 1, TAD

JTEST TAD XK@, AC=z2p
/AC=0ONES

/AC=20

/8

/@

/ERRQOR; BIT 13 NOT A L, TAD

/TEST TAD X@, Ac=19
/AC=0ONES

/AC=10

/8

/@

/ERROR: BIT 14 NOT A L1, TAD

/TEST TAD X@, AC=4
/AC=0ONES

/AC=4

/AC=@

/2

/ERROR: BIT 15 NOT A 1, TAD

K@ FAILED

K@ FAILED

K@ FAILED

K@ FAILED
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/TEST TaD XK@, AC=?2

SLAtIMA /AC=0ONES
Al K2 /AC=2
T43 <2 /9
XU <P /@
SgA
£E666, HALT /ERROR: 317 16 NOT 4 L, TAD x@ FAILED
/TEST TAD K@, AC=1
CLAICMA /AC=0ONES
“AT «1 ‘ /AC=1
TAd <@g /0
X0 <1 /0
SZA
£667, HALT /ERROR; BIT 17 NOT A L, TAD K@ FAILED

START



ZINSTRUCTION TEST TAPE 7

£668,

£669,

E678,

£671,

Sk
TAJ <4¢ @K
Ag% <a2¢K
SZA
4ACT

SLA

Thd <272¢K
X% £24PK
3k

HAT

cLa
TaAd <1¢@k
X0 <1£@K
IZA
HaoT

CLA
TAD 44K
XnR <48K
SgA
AT
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JTEST TAD <4RyX, AC:=%

/AC=p

/ERROR

/AC=403K
/¢

108 NOT A 1,

JTEST TAD <20pK, AC=?

/AC=2

/ERROR;

/AC=288K
/¢

BIT 1 NOT & 1.,

/TEST TAD K18gK, AC=8

/AC=2

/ERROR;

/AC=1¢08K
/9

Bri 2 NOoT A 1,

/TEST TAD K48K,» AC=2

/AC=0

/ERROR;

/AC=4¢K
s

Bi1 3 NOT A 1,

TAD

TAD

TAD

Ta0

K4d@K FAILED

K2@@ K FAILED

K19@K FAILED

K49K FAILED



£E672,

£E673,

E€74,

£E675,

! K27K
5ROKPEK

TAd <1¢x
X33 <1¢x
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JTEST TAD K20K, AC=2
JAC=0

/AC=24K

/6

FERHRQOR; BiT 4 NOT 4 1,

JTEST TAD <1@2Ks AC=2
JACEHA

/aCz1pX

/¢

/ERRQOR; BIT 5 NgT A 1,

/TEST TAD X4K, AC=D
/AC=p

/AC=4K

/8

/ERROR; BIT 6 NOT A 1,
/TEST TAD K2K, AC=0
/AC=8

/AC=2K

/9

/ERROR; BT 7 NOT A 1.,

TaD K28Kx FAILED

TAD K1@K FAILED

TAD K4K FAILED

TAD K2K FAILED
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/TEST TAD X1K, Af=z=¢

CLA /AC=E
Tad <1« /4C=1K
X0 <1K /¢
SZA
£676, HALT JERROR: 311 8 NOT A 1, TAD K1K FAILED
/TEST TAD 148Q, AC=y
ik /AC=¢
TAd <48¢ /8C=40¢
X0 <409 : /3
SZA
€677, HALT /ERROR; BIT 9 NOT A 1, TAD K44@ FAILED
/TEST TAD X284, aC=z3
CLA /AC=¢
TAD <p0¢ /AC=208
XQR K2¢g /¢
SZA
E678, AT /ERROR; 81T 12 NOT a4 1, TAD K200 FA[LED
/TEST TAD X129, aC=2
CLA /AC=@
TAd <108¢ ) /AC=194¢
XQR <1¢@ /9
SZA

£679, HALT /ERROR; BIT 11 NOT & L, TAD K148 FAILED




E669d,

£681,

£682,

£683,

Sk
TAD <42
X3 <48
SEA
HALT

TAd A28
X0 K28

AALT

CLA
TAD %10
X0R <10
SzA
HALT

cLa
TAD <4
XOR <4
SzA
HALT
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/TEST TAD <42, ACz=2

/AC=s@R
/AC=4¢
/3

/ERRORS

BIT 12 NOT A

/TEST TAD %28, aC=9

/AC=¢
/AC=20
/9

/ERROR;

BIT 13 NOT A

/TEST TAD X190, AC=@

/AC=g
/AC=10
/8

/ERROR;

BIT 14 NOT &

/TEST TAD K4, AC=g

/AC=0
/AC=4
/2

/ERROR;

BIT 15 NOT A

1,

TAD

TAD

TAD

TAD

K48 FAILED

K22 FAILED

K19 FAILED

K4 FAILED



E684,

E685,

£686,

£687,

CiLA
TAd <2
X9 <2
SEA
AALT

CLLA
iAo <1
X0 <1
SZA

HA.T
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JTEST TAD X2, AC=Q
/AC=8

/AC=?2

/0

JERROR; BIT 16 NOT A 1, TAD K2 FAILED

/TEST TAD X1, AC=g
/AC=Q

/ACEY

/0

/ERROR; 81T 17 NOT A L, TaD K1 FAILED

/TEST TAD M40@K, AC=2
/AC=8

/aC=377777

/0

/ERROR: TAD M4aGpx Faj.ED
JTEST TAD M20¢K, AC=2
/AC=@

/AC=577777

/9

/ERROR; TAD M20pk FAp-ED



E688,

E689,

E698,

£E691,

CiA
TAD 41¢¢K
XQ0R M17@K
S2A
AT
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JTEST TAD “180K, AC=0

/AC=¢

/ERROR;

/TEST TAD M4gK,

CLA
TAD M40k
XQR M48K
SZA
HALT

CLA
TAD M20K
XpR v2@K
SZA
AALT

CLA
TAD ¥1@g
XOR M10K
SZA
HALT

/AC=0

/ERROR}

/AaC=677777
4%

Tald M10@x Fal_£D
AC=9

/aC=737777
/9

TAD M4OK FAILID

/TEST TAD M208K, AC=3

/AC=@

/ERRQOR}

/AC=757777
/9

TAD M28K FAILZID

/TEST TAD M18K, AC=3

/AC=8

/ERROR;

/aC=767777
/¢

TAD M18K FAILZD



E692,

£693,

£694,

£695,
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JTEST TAD M4X, aAC=#

CLA /AC=D

Tald 44K /AC=773777

X0QR 94K /2

324

AT /JERRQOR; TAD M4K FA]_ED

/TEST TAD ¥2K, AC=2

[ /AC=@

TAD 42x . /AC=775777

XQ)I M2K /3

SZA

HALT /ERROR; TAD M2K ral ED
/TEST TAD M1iK, AC=@

CLA /AC=0

TAD “1K /AC=776777

X0R M{K /9

SZA

HALT /JERROR: TaAD MiK FALl_FD
/JTEST TAD M400, AC=2

CLA /AC=@

TAD M40¢8 /AC=777377

X0 Y4908 /¢

SzZA

HALT /ERROR; TAD M4@9 FAILID




£696,

£697,

£698,

£699,

CLA
TAd 4228
XX M2¢@
SZA
HALT

CLA
TAD ¥1d¢
X0R M1¢p
SZA
4ALT

CLA
TAJ M40
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JTEST TAD “28¢, AC=2

/AC=0

/aC=2777577

/¢
JERROR; TAD M28¢ FAILID
/TEST TAD M10¢, ac=2
/AC=8

/AC=777677

/¢
/ERROR; TaD M10g FajLID
/TEST TAD M4@, AC=p
/AC=@
/hC=777737
/@
JERROR; TAD M4@ FAl _ED
/TEST M28, AC=0
/AC=@
/AC=2777757
/8
JERROR; TAD M20 FAI_ED



E7¢e,

£E701,

E7¢2,

£E783,

CLA

TAd vpd
X0 16

SZA
HA-T

JLA
Tad
X0R
SZA
AT

¥4
14
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/TEST TAD %19, AC=2
/AC=2

/AC=777767

/@

JERROR: TAD M1¥ FALI_ED

/TEST TAD M4, AC=¢
/AC=0

/AC=777773

/9

JERROR; TAD M4 FAILZID

/TEST TAD M2, AC:=0
/AC=@

/AC=777775

/0

JERRQOR; TAO M2 FaAiL:zZD
/TEST TAD Mi, AC=g
/AC=D

/AC=777776

/3

/ERROR; TAD Mi FAILED



E7es,

£E7¢5,

£706,

€707,

£708,

£789,

CLAYSL
TAD M4¥eK
Tad 409K
Sk

SZA

HALT

SEL

AACT

CLACLL
Tad M200K
TAD €20@K
CMA

SZA

HALT

SE-

HALT

CLATCLL
TAD +412¢K
TAD <108¢K
CMA

SZA

HALT

SZ.

HALT
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JTEST TAD “M40¢K, 723 443K, =§
/ACEE, L=a

/aC=377777

/64736 ge
/AC=Q

JERRQOR; INIZLUSTVE Tan FATLURE
JERROR; <INk NOT A &
/TEST TAD M2EgK, TAD <2¥ex, L=0
/AC=0, =y

/4C=577777

/2200029
/AC=0
JERROR; INCLUSIVE TAD FAILURE
/ERROR: LINK NOT A 2

/TEST TAD M10¢K, TAJ <18@K, L=0

/AC=8, L=
/ACz677777
/108008
/AC=¢

/ERROR; INCLUSIVE TAD FAILURE

/ERROR; LINK NOT A 2



£E718,

£711,

£712,
£713,

£714,

£715,

CLarliLt
TAD ¥M4EK
TAD 42K
CMA
SZA
HAT
57
AT

CLAICLL
TAD M20K
TAD <28K
CMA

SZA

HAWT

SZL

HALT

CLAICLL
TAD M18K
TAD 18K
CMA
SZA
HALT
SZL
HALT
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/TEST TAD M4BK, TAD X42K, L=@

/aC=@, L=0
/AC=737777
/048092
/AC=8

JERROR; INCLUSIVE TaAD FAJLURE
JERROR; LINK nNOT A 2

/TEST TAD M20K, TAD K22K, L=8

/AC=8, L=0
/AC=75%7777
/220009
/AC=@

/ERROR; INCLUSIVE TAD FAJLURE
/ERROR; LINK NOT A 2

/TEST TAD M1iBK, TAD Ki2K, L=0

/AC=@, L=@
/AC=767777
/310289
/ACzp

JERROR; INCLUSIVE TAD FAILURE

JERROR; LIVK NOT A 2




£716,

£E717,

£718,

E719,

£7289,
£721,

E722,
E723,

CLATCLL
FAD Mgk
TAD <4K
CMA

SZA
HALT
SA-
JA_T

CLALCLL
TAd MoK
TAD <2K
CMA
SZA
HALT
SZ.
-‘A‘—T

CLAIC L
TAD +1K
TAD «4K
CMA

SZA
HALT
SZ*...
HALT

CLAICLY,

TAD M40¢
TAD K409
CMA

SZA

HALT

SzL

HALT
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/TEST TAD M4K, TAD <4<, =9
/AC=0, L=

/AC=773777

/4042 ga

/AC=@

/ERROR; INCLUSIVE TAN FATLURE
ZERROR: LINK NOT A 3

/TEST TAD M2K, TAD <2<, L=@
/AC=8, L=

/AC=775777

/00208930

/AC=9

/ERROR; INCLUSIVE TAD FAILURE
/ERROR; LINK NOT A 2

/TEST TAD M1K, TAD <14, L=
/AC=8, =9

/AC=776777

/301002

/AC=8

/ERROR; INCLUSIVE TAD FAILURE

/ERROR; LINK NOT 4 3
/TEST TAD M48@, TAD K492, L=0
/AC=8, L=0
/AC=777377
/800430
/AC=g

/ERROR; INCLUSIVE TAD FAILURE

/ERROR; LINK NOT A 2



£724,

£725,

£726,

£727,

£728,

£729,

SLATTIL
TAd v2vg
TAD <L2¢¢
CMA

SEA

44T

SE.

dALT

SLAITZLL
TAD 410Q
TAOD <188
CMA

S2A

da.T

SZe

AT

CLAITLL
TAd v4@
TAD <48
CMA
SZA
HALT
SEL
HALT

/TEST T
/4C=2,
/AC=0
/ERROR;
/ERRQR
/JTEST T
/AC=8,
/AC=@
/ERROR;
/ERROR;
/TEST T
/AC=8,
/AC=777
/000040
/AC=¢
/ERROR

/ERROR;

rage 155

AU M2V, TAD X228, L=
L=¢

/pC=27775%77

/P882¢¢

INCLUSIVE TaD FATLURE
LINK NOT A 2
AD M18¢. TAD <1%@, L=@
L=a

/AC=777677

/pegled

INCLUSVE TAD FAJLURE
LINK NOT A 3
AD M40, TAD <423, =9

L=¢
737

INCLUSIVE TAD FAILURE

LINK NOT A 2



£E738,

£E731,

£732,

£733,

£734,

£735,

cLAtCiL
TADJ M24
TAS A28
CumA
324
AT
S# -
44T

cLatCLL
TAJ 18
TAS <1¢
CMA

S#A
HALT
SZ.
HALT

CLarlitb
TAD 44
TAJ <4
CMa

SZA
HALT
SF.
HALT
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/TEST TAJ 2@, TAD <22, L=@
/ACER, LFY

/AC=777757

/020029

/AC=8

JERROR; INCLUSIVE T4D FAILURE

/ERROR; LINK NOT A 2

/TEST TAD ™M1, TAD <12, L=0
/AC=0, =2

/AC=7777767

/73200012

/AC=0

/ERROR; INCLUSIVE TAD FAILURE
JERROR; LINK NOT A 23

JTEST TAD M4, TaAD K4, L=¢
/AC=8, L=0

/AC=777773

/0C0004

/AC=zQ

/ERROR; INCLUSIVE TaD FAILURE

JERROR; LINK NOYT A 9
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FTEST TAU M2, TaD K2, Lz2

SLATCL /ACE0, =22
Tad ¥ /AC=777775
TAS <2 /303002
CHAR /AC=Q
344
£736, HALT /ERROR; INCLUSIVE TAD FAILURE
S5E-
£737, SAnT /ERROR: LINK NOT A 2
/TEST TAD M1, Tad ki, L=9
CLAtliL /AC=@, L=¢
TAD %1 /AC=777776
Tad A1 /023201
MA /AC=@
SZA
£738, HALT /ERROR; INCLUSIVE TaD FAJLURE
570
£739, HALT /ERROR} LINK NOT A 2
/TEST TAD K40QK, TAD 41408K, (=1
CLATCLLIOML /AC=@, =1
TAD X40¢K /AC=4p6000
TAD “400K /7377777
CMA /AC=0
SZA
E£E749, HAwT /ERROR; INCLUSIVE TAD FAILURE
SNL

E741, HALT /ERROR: LINK NOT A 1



£742,

£743,

£E744,

E745,

E746,

E747,

SLATCLLICML
TAD K26PK
TAD 4289k
CMA

SZA

ANLT

SNe

AALT

CLaslLb oML
TAJ <108K
TAD M10pK
CMA

SZA

HALT

SN

HALT

CLAIC LML
TAD X48K
TAD MYaodK
CMA

SZA

HALT

SN

HALT
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JTEST TAD X2¥yK, L=1

INCLUSIVE TAD FAILURE

4190K, L=1

INCLUSIVE TAD FAILURE

TAD M42K, L=1

INCLUSIVE TAD FAILURE

JAC=g, L=
/4C=244928
/577777

/AC=0

/ERROR

JERKROR: LIVK NOT A 1

/TEST TAD X19gK, TA)D

/AC=8, L=1
/aC=1¢8000
/7677777

/AC=¢

/ERRQOR;

/ERROR: LINK NOT A 1

/TEST TAD X489k,

/AC=g, (=%
/AC=040200
/737777

/AC=9

/ERROR;

/ERROR; LINK NOT A %



£748,

£E749,

£758,

£751,

£752,

E753,

SLAL T L oML
TAJ A2¢K
TAD M2UK
CMa

524

AT

SN

HACT

SLATTLL oML
TAD «18x
TAJ M1éK
CMA

SZA

fALT

SN-

HALT

CLAICLLICML
TAD X4K

TAJ M4K

CMA

SzA

HALT

SN

HALT
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/TEST TAQ X29K, TAD M24K, L=1
/AC=6, =1

/AC=z8228220

/758¢p¢
/AC=g

/ERROR; INCLUSIVE TaD FATLURE
JERRQR: LINK 80T 4 1

/TEST TAD K18K, TAD MLigK, L=t

/AC=23, (=1
/AC=01092¢
/767777
/AC=Q

/ERROR; INCLUSIVE TaD FAILURE
JERRORS LINK NOT A 1

/TEST TAD K4K, 1AD v4<, (=1
/AC=8, =1

/AC=004090

1773777

/AC=8

/ERROR; INCLUSIVE TAD FAILURE

/ERROR; LINK NOT A 1



£E754,

£755,

E756,

£E757,

£758,

£759,

CiAarTiLLICML
Tald <2K

TAD M2K

CMA

SzA

HALT

Sive

AT

SLarlilicoMe
TAD <1K

TAD MK

CMa

SZA

AALT

SNu

AAWT

CLaropbrome
TAD <409
TAD 4499
CMA

SzZA

HALT

SNL

HALT
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/TEST TAD A2K, TAD +2<, (=1

/AC=8, L=
/AC=302040
1775777
/AC=g

JERROR; INCLUSIVE TaD FAILURE
/ERROR; LIVK nNOT A 1

/TEST TAD X1, 7aD «1<, (=1
/AC=0, L=1

/AC=001022

/776777

/AC=8

/ERROR; INCLUSIVE TaAD FAILURE
/ERROR; LINK NOT A 1

/TEST TAD X42¢, TAD M4g0, L=1

/AC=8, =1
/AC=900400
/777377
/AC=0

/ERROR; INCLUSIVE TAD FAILURE

/ERROR3 LINK NOT A 1




£E7€2,

£E761,

£E762,

£763,

£764,

E765,

SLATCLLICML
PAD A2ep
TAd ¥oig
CMA

324

HALT

Shie

Ha.T

CLatliLbl oML
TAD A1¢p
TA) %120
CMA

SZA

HALT

SN

HALT

CLasCLLoML
TAD K48

TAD 448

CMA

SZA

HALT

SNL

HALT
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JTEST TAD <244,

TAD 4242, L=i

JACE=Y, 71
/AL=290220
/777577
/AC=2

/ERRAR; INCLUSIVE TAD FATLURE

/ERRQR: LINK NOT & 1

/TEST TAD X189,

TAD M128, L=t

/AC=0, =i
/AC=0g2107
/777677
/AC=0

/ERROR; INCLUSIVE TAD FAILURE

/ERROR; LINK NOT A 1

/TEST TAD X482,

/AC=@, L=1
/AC=000042
/777737
/AC=0

TAD 442,

L=1

/ERROR; INCLUSIVE TAD FAILURE

/ERROR; LINK NOT A 1



E746,

€767,

£768,

£769,

£E772,

€771,
START

SLA LI
TAD <2K
TAD M¥2¢
CMA

SEA

AT

SN«

HACT

SLArCLLrCML
Tad <42

TAD %12

CMA

SZA

HALT

SNL

HALT

CLatCLL oML
TAD <4

TAD ¥4

CMA

SghA

HALT

SN

HALT
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/TEST TaO X2¢, 7TAD <20, (=1
/AC=8, L=1

/AC=30082¢

/1777757

/AC=0

JERKOR: INCLUSIVE TaD FAILURE
JERRNR; LINK NOT A 1

/TEST TAD <19, 74D %12, L=1
/AC=z8, L=1

/AC=00001¢

/777767

/AC=0

JERROR; INCLUSIVE TAD FAJLURE
JERROR; LINK NOT A 1

/TEST TAD X4, TAD M4, L=1

/AC=¢, L=1
/AC=000604
1777773
/AC=2

/ERROR: INCLUSIVE Tad FAILURE

/ERROR; LINK NOT 4 1



/INST,

£772,

£773,

£774,

£775,

£776,

£777,

1237 TAPE &
SLAICLLICML
TAD <2
TAD Mo
CMA
SZA
HA.T
SN
HALT

CLAISLLICML
TAD <1

TAD M1

CMA

SZA

HALT

SNL

HALT

CLA
TAD %18
TAD £6S
CMA
SzA
HALT

CLA
TAD «28
TAD <58
CMA
SZA
HALT
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/TEST TAD X2, TaAD M2, =1

/AC=3, (=1

/AC=030022

/777775

/AC=p

/ERROR; INCLUSIVE TAD FAILURE

/ERROR; LINK NOT A 1

/TEST TAD X1» TAD M1, L
/AC=9, (=1

/AC=002021

/777776

/AC=@

"
s

/ERROR; INVLUSIVE TAD FAILURE

/ERROR; LINK NOT A 1

/TEST TAD K1S, TAD <63
/AC=8

/AC=111111

/666666
/AC=8
/ERROR: INVLUSIVE TAD FAILURE
/TEST TaD K2S, TAD <53

/AC=@

/AC=222222

/555555

/AC=0

/ERROR) INCLUSIVE TAD FAILURE



£778,

£779,

£E788,

£781,

CLA

TAD %68
TAD <48
CMA

SzZA
HALT
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/TEST TAU <3S, TAD <45
/AC=E

/AC=2333333

/446444

/AC=0

JERROR; INCLUSIVE TAD FATLURE

JTEST TAD X4S, TAD <353
/AC=¢

/AC=444444

/AC=333333

/AC=8

JERROR; INCLUSIVE TAD FAILURE

/TEST TAD X85S, TAD <23
/AC=0

/AC=555555

/AC=222222

/AC=R

JERROR; INCLUSIVE .TAD FAILURE

/TEST TAD X655, TAD <13
/AC=0Q

/AC=666666

/111111

/AC=0

JERROR) INCLUSIVE TaAD FATLURE



£782,

£783,

E784,

£785,

Ci 4

fad 478
TAD <9
CMA

SZA
AT

CLA
TAD <g
TAD %75
CMA
SZA
HALT

CLA

TAD <2525
TAD %5252
CMA

SZA

HALT

CLA
TAD X5252
TAD <2525
CMA
SZA
HALT
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/TEST TAD %75, TAD <2
/AC=Q

/AC=777777

/AC=0P0322

/AC=Q

/ERRORs INCLUSIVE TAD FAJLURE

/TEST TAD X@, TaAD k7§
/AC=¢

/AC=000¢29

/777777

/AC=E

JERROR; INCLUSIVE TAD FAILURE

/TEST TAD K2525, TAD <5252
/AC=¢

/AC=252525

/525252
/AC=0

/ERROR; INCLUSIVE TAD FAILURE

/TEST TAD K5252, TAD <2525
/AC=0

/AC=z525252

/252525
/AC=8

/ERROR; INCLUSIVE TAD FAILURE
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/TEST TAD K40pK, AC=408K, L=

Sl /LE0
LAC X482K /aC=4¢8K
TAD <40gK /420K
SEA
£E766, “ALT /ERROR; BIT © NOT A 2, SUM FAILED
SNw
£787, HALT /ERROR; LINK NOT A 1, CARRY FAILED
- /TEST TAD XK4¥gK, AC=4208K, L=1
CLw-tCML /L=1
AL £408K /AC=4p8K
TAD <499k /408K
SEL
£788, HALT /ERROR; BIT @ CARRY FAILED TO COMPLEMENT LINK
/TEST TAD K28gK, AC=x220K
LAC X289k /AC=200K
TAD X208K /AC=40K
XQ0R 44088K /9
SzA
E£789, HALT JERROR; BIT 1 SyuM 0R ZARRY FAILED
/TEST TAD K18@K, AC=XLlO8K
LAC 129K /aC=1808K
TAD A199K /AC=280K
XOR X28¢K /¢
SgA

E£E798, HALT JERRORY BIT 2 SuM 032 ZARRY FAILED



£791,

£792,

E£E793,

£794,

“AC <42k
TAD X408K
X0 <10¢gK
SzA
HALT

LAC <2¢K
TAD <20k
XOR £408K
SZA

HALT

LAC <10k
TAD 10K
XOR X28K
SzA

HALT

LAC <4K

TAD X4x

XOR X190k
SZA

HALT
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/TEST TAD X49K, AC=<44K
/AC=4gK
/aC=1geK
4]

/ERROR; BIT 3 SuM 03 ZARRY FAILED

/TEST TAD X28K, AC=<20K
/AC=29K
/AC=4pK
/9

/ERROR; BT 4 Sum 03 ZaRRY FA[LED

/TEST TAD K18K» AC=< 1@K
/AC=1pK
/AC=2¢gK
/8

/ERROR; BIT 5 SyM 03 IARRY FAILED
/TEST TAD XK4K, AC=K4K
/AC=4K
/AC=10K
/0

/ERROR; BIT 6 Sum 03 ZARRY FAILED



E795,

£796,

E797,

£798,

“AC 2K
TAJ £2K
X0R 44K
SZA
HALT

LAC <1K
TAD K4K
X0 <£2K
SZA
HALT

LAC <400
TAD <409
XQR €1K
SgA

HALT

LAC X209
TAD £208¢
X0R 4409
SzA
HALT
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/TEST TAD K2K, AC=zK2K
/AC=2K

/AC=4K

/@

/ERROR; BT 7 SuyM 03 ZARRY FAILED

/TEST TAD XKiK, AC=K1XK
/AC=1K

/AC=2K

/@

JERROR; ByT 8 SyM 03 ZARRY FA[LED

/TEST TAD X483, AC=<420
/AC=490
/AC=1K

/9

/ERRORY BIT 9 SyM 03 ZARRY FAILED
/TEST TAD X288, AC=<220

/AC=200

/AC=4¢8

2’

/ERROR; BIT 1@ SUM JR CARRY FAILED



£799,

£8080,

E801,

£E802,

E823,

LAT £1¢é¢
TAD <1¢@
XQR K209
Sza
HALT

LAC <40

TAD <49

X0 <10¢¢
SZA

HALT

LAC 420
TAD <28
XQR <40
SZA
HALT

LAC <10
TAD X41@
XQR <20

HALT

LAC K4
TAD X4
XO0R X498
SZA
HALT

Page 169

/TEST TAD K180, AC=<100

/AC=10@
/AC=290
/9

/ERROR; BIT 11 Sum IR

/TEST TAD X488, AC=K49
/AC=48
/AC=100

/8

/ERRORS BIT 12 SuM 3R

/TEST TAD K20, AC=K2@
/AC=28

/AC=40

/%

/ERROR; ByT 13 SUM IR

/TEST TAD K19, AC=x10
/AC=18

/AC=28

/@

/ERROR; BIT 14 SuM IR
/TEST TaD K4, AC=K4
/AC=4

/AC=18

/9

/ERROR; BIT 15 SUM IR

CARRY

CARRY

CARRY

CARRY

CARRY

FATLED

FAILED

FATLED

FAILED

FAILED




Ese4,

£805,

E806,

£807,

£ags,

E889,

~AC L2
TAY X2
XQR X4
SEA
4ALT

LAC A1
TAD <1
XoR X2
Sgha
HALT

CLAITCMAICLL ! CML
TAD ¥400K

XOR M4BQKM

S2A

HALT

SZL

HALT

CLAICMAICLLICHL
TAD M2pgK

XOR 4288KM

SzA

HALT

Szl

HALT
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/TEST TAD K2, AC=x?2
/AC=2

/AC=4

/8

/ERROR; BIT 16 SUM IR CARRY FAILED

/TEST TAD X1, AC=zKi1
/AC=1

/AC=2

/2

/ERROR; BIT 17 SUM JR CARRY FAILED

/TESY TAD M42pK, AC=0VES, L=1
/AC=ONES, L-1
/377777
/377776
/AC=R
/ERROR3 TAD M4BgK FAI.ED

/ERROR} LINK NOT A @, CARRY FAILED

/TESY TAD M209K, AC=0VES L=1
/ACSONES, L=1
/577777
/1577776
/AC=q
/ERROR; TaAD M20gx Fal gD

/ERROR) LINK NOT & 3, CARRY FAILED



£810,

€811,

£g12,

£813,

£E814,

£815,

£816,
£817,

CLAISMAICLL I CML
TAD M1¢@K

X0 M1U@KM

SZA

AT

SEu

AT

CLAICMAICLL 'OML
TAD M4pk

XOR M40KM

SzA

HALT

SZL

HALT

CLATCMAICLLICML
TAD 9v20K

XOR M2B8KM

SzA

HALT

SZL

HALT

CLAICMAICLL ! CML
TAD M10K

XOR M1BKM

SEA

HALT

SzL

HALT
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/TEST TAD M10¢gK, Ac=0NES, L=1
/AC=0ONES, L=1

/677777
/677776
/AC=D
/ERROR; TAD M1dépgK Fal_£Dd
/ERROR; LINK NOT A 4, CARRY FAILED
/TEST TAD M4@K, AC=INIS, (=1
/AC=0ONES, L=1

/737777

/7737776
/AC=¢
/ERROR; TAD M48K fFAILID
/ERROR:; LINK NOT A 3, CARRY FAILED
/TEST TAD M2BK: AC=3NIS, L=t
/AC=0ONES, L=1

/757777

/757776
/AC=0
/ERROR; TAD M28Kx fFAILID

/ERROR: LINK NOT A 3, CARRY FAILED
/TEST TAD M108k, AC=ONIS, L=1
/AC=ONES, L=1

/767777

/767776
/AC=0
JERRQOR; TAD M1@K FAILID

/ERROR; LINK NOT A 2 ZARRY FAILED



£818,

£819,

€829,

£821,

Egz22,
E823.

£Eg824,

E82s5,

CLATSMALCLL I OML
TAJ “4K

XOR M4KM

SZA

HALT

HALT

CLATCMAICLL ' CML
TAD oK

XQR M2KM

S5zA

HALT

SZL

HALT

CLATOMAICLL 1 CML
TAD ¥iK

XQR MgKM

SzA

HALT

SZL

HALT

CLATCMAICLL I CHL
TAD Y409

XO0R M40oM

SZA

HALT

SEL

HALT

/ERROR:
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/TEST TAD “4K,
/AC=ONES, =1
/773777

AC=0ONES L=t

/773776
/AC=0@
/ERROR; TAD M4K FAL_ED

LINK NOT A 2, CARRY FAILED
/TEST TAD M2K,
/AC=ONES, =1
/775777

AC=INIS, L=1

/775776
/AC=0
/ERROR) TaAD M2k FAl_ED
JERROR3 LINK NOT A 2, CARRY FAILED

/TEST TAD MiK,
/AC=0NES, L=1
/776777

AC=0NES, L=1

/776776
/AC=0
JERRORSTAD MLIK FAILZID

JERROR; LINK NOT A 2, CARRY FAILED
/TEST TAD M42@, aC=INiIg, =1
/AC=DONES, L=1

/777377

/777376
/AC=@

JERROR; TAD Maod raiLzD

/ERRORs LINK NOT A &, CARRY FAILED



£828,

£829,

£838,

E831,

E832,
E833,

CLAITMAICLLTOML
TAd v22p

XQR Mo@pgm

SEA

HALT

SZ.

HALT

CLATOMAICLL ' CML
FAD M1ée

XOR “18¢M

Szh

HALT

Sz

HAWT

CLAtCMAICLLICML
TAD v40

XOR M40M

SZA

HALT

S#L

AALT

CLAtCMAICLLICML
TAD 420

XOR “2@M

SzA

AALT

SzL

HALT
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/TEST TAD M22¢, AC=1NIS, | =1
/AC=0ONES, L=1

/1777577

/777576
/AC=@
JERROR; TAD M28g rali:iD
/ERROR; LINK NOT A 2, CARRY FAILED
/TEST TAD M1@@, AC=INIS, L=1
/AC=ONES, L=1

/777677

/777676
/AC=0
/ERROR; TAD Mi@g rFalL:ID
/ERROR; LINK NOT A 23, CARRY FAILED
/TEST TAD M48, AC=0vES, L=1
/AC=ONES: L=1
1777737

/777736
/AC=D
JERROR} TAD M40 ral_E)
/ERROR; LINK NOT A 3, CARRY FAILED
/TEST TAD M28, AC=0vES3, (=1
/AC=ONES, L=1
/777757

/777756
/AC=0
JERROR}) TAD M28 rFal_£2

/ERROR; LINK NOT A 2, CARRY FAILFD



E834,

£835,

£836,

£837.

£838,
E8397

£844,
E841,

CLAICMAICLLICML
TAD M1¥

X0R ¥1éM

Sza

HALT

SZ‘-‘

AALT

CLATTMAICLLICML
TAD M4

XOR M4M

SZA

HALT

SZL

qALT

CLAICMAICLL I CML
TAD M2

XQR M2M

SZA

HaLT

SE.

HALT

CLAICMAICLLICHML
TAD ™1

XOR ¥iM

SgA

HALT

Szl

HALT
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/TEST TAD i€,
/AC=0ONES (=1
/777767

AC=0NES, L=1

/777766
/AC=0
/ERROR; TAD M1@ fFAl_ED

/ERROR; LINK NOT A 2, CARRY
/TEST TAD M4,
/AC=0ONES, L=1
/777773
/777772
/AC=@

/ERROR;

AC=0NZS, L=1

TAD M4 FAILED

/ERROR; LINK NOT A 2, CARRY
/TEST TAD 2,

/AC=ONES, L=1
/777775
/777774
/AC=@

/ERROR;

AC=zONES, L=%

TAD M2 FAILZD

/ERROR; LINK NOT A 2., CARRY
/TEST TAD M1,
/AC=0ONES, Ls=1
1777776

/777775

/AC=8 .
JERRORI TAD M1 FAILZD

AC=z0ONES, L=1

/ERRORs LINK NOT A 2, CARRY

FAILED

FAILED

FAILED

FAILED



€84z,

£843,

£E844,

£845,

£846,

£EB47,

£848,

E849,

o

~AT vM4é¢gK
Al <78
AOR M420KM
S£4

HALT

SNu

AL T

Ctw

LAC M288K
TAD £7S
XO0R M2@QKM
SZA

HALT

SN

HALT

CLL

~AC M1dgx
TAD 75
X0R M100KM
SZA

HALT

SNL

HALT

CLL

LAC M408kK
TAD K78
XOR M4@KM
SzA

"ALT

SNL

HALT

Page 175

/TEST TAD K7S, AC=M420K, L=0
/=g
/aCz377777
/ONES
/377776
/AC=g
/JERROR; Tad K7S FAl_E)

/ERROR: LINK NOT A 1, CARRY FAILED

/TEST TAJ K7S, AC=M220K, L=@
/LE8
/AC=577777
/0ONES
/577776
/AC=8
/ERROR; TAD K7S Fal_£D

/ERROR3 LINK NOT A 1, CARRY FAILED

/TEST TAD X7S, AC=M102Kx, L=@
/L=0
/aC=677777
/ONES
/677776
/AC=@
/ERROR: TAD K7S FAl. ED

/ERROR3 LINK NOT A 1, CARRY FAILED

/TEST TAD K7S, AC=M48<M, Lzg
/L=8
/AC=737777
/ONES
/737776
/AC=0
/ERROR3 TAD K78 FAILED

/ERROR; LINK NOT A 1, CARRY FAILED




£850,

£851,

£852,

£853,

£854,

£855,

~

[

AT M2uK
TAd <7S
XO0X Mo2KM
SzA

AALT

SN

HALT

Cl

AL M18K
TAD X7S
XOR M1UKM
SzA

HALT

SNL

HALT

CLb
LAC M¥ax
TAD X7S
XOR M4KM
SgA
HALT
SNL
AALT

/TEST TAD K78,

/L=¥

/AC=757777
/0ONES

/757776
/AC=g
/ERROR; TAD K78 fFaAl_F)
JERROR: LINK NOT A 1,
/TEST TAD K7S,
/=8

/4C=767777
/ONES

/1767776
/AC=zg
/ERROR;: TAD K7S FAI_E2
/ERROR: LINK NOT A 1,
/TEST TAD K78, AC=zM4K,
/L=8
/AC=773777
/ONES

/773776
/ERROR; TAD K7S Fal_£)

/ERROR;
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LINK NOT

A

1.

AC=M20<, 1LL=0

CARRY FAILED

AC=M13<, L=¢

CARRY FAILED

L=@

CARRY FAILED



£856,

£857,

£858,

£859,

£E868,

E861,

€862,

£863,

AT MoK
Tad <78
XN M2KM

SN
HALT

wi -

TAd £7S
XOR MiKM
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/TEST TAD K75, AC=M2K,
/L=8
/AC=775777
/ONES
¢ /775776

JERROR; TAD K7S rfal_E3
JERROR; LIVK NOT A 1,
JTEST TAD K7S, AC=MiK,
/=0
/AC=776777
/ONES

/776776
/AC=0
JERRQOR; TAD K8S FAI_ED
/ERROR; LINK NOT A 1,
/TEST TAD K7S, AC=M4#d
/L=

/AC=777377
/ONES

/777376
/AC=Q
JERROR; TAD K7S FAl_ED
/ERROR; LINK NOT A 1,
/TEST TAD K75 AC=M220,
/LEQ

/4C=777577
/ONES

/777576
/AC=0
/ERROR: TAD K75 FAI_ED
JERROR; LINK NOT A 1,

t=d

CARRY FAILED

L=l

CARRY FAILED

» L=0

CARRY FAILED

Le@d

CARRY FAILED

\
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/TEST TAD X7S, AC=Mi0¢, =0

v /1.=9
_AC v1ée /aC=777677
TAd K78 /ONES
XOR M1LoM /777676
SZA /AC=8
£E864, JA-T JERROR; TAD K7S FAI_ED
SNw
£86%, AACT JERROR; LINK NOT A 1, CARRY FAILED
/TEST TAD K78, AC=M4@, L=0
Che /=0
LAC M40 /AC=777737
TAD X7S /ONES
XOR M40M /777736
SZA /AC=0
£866, AALT /ERRQOR; TAD K7S FALL_E3
SNL
E867, HALT JERROR LINK NOT A t, ZARRY FAILED
/TEST TAD K75, AC=M2@, L=0
cLL /L=0
LAC M29 . /AC=777757
TAD 78 /ONES
XQR ¥20M /7777756
SZA /AC=0
£868, HALT /ERRORY TAD K7S FAl_ED
SNL

£869, HALT /JERROR3 LINK NOT A L, CARRY FAILED



£878,

£871,

£E872,

£873,

£E874,

£875,

Lo

AT Miv
TAd £7S
X0 v19pm
SZA

HALT

SNu

AACT

Lt

~AC %4
TAd X75
XQR 9v4gM
SzA
HALT
SNo
HALT

CLL

LAC “2
TAD <7S
X0R oM
SzZA
HALT
SNL
HALT
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/TEST TAD X7S, AC=M18,

/L=9

/AC=777776/7

/ONES

/AC=0
/ERROR;

/ERROR;

77777766
TAD K75 FaAl_ED

LINK NOT A 1,

/TEST TAD K7S, AC=M4,

/L=8

/AC=777773

/0ONES
/777772
/AC=p
/ERROR;

/ERRORS

TAD K7S ral_ED

LINK NOT A 1,

/TEST TAD K7S, AC=M2,

/L=0

/AC=777775

/ONES
/777774
/AC=0
/ERROR

/ERROR;

TAD K7S FAL_ED

LINK NOT A 1,

Lzd

CARRY FAILED

L=a

CARRY FAILED

L=g

CARRY FAILED




£876,

£E877,

£Eg7s,
€879,

START
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JTEST TAD A7S, AC=M1, L=0

Th- ALY

SAS M /AC=777776

Al <7¢ /0ONES

X0 MM 1777775

324 /AC=g@

dAuT JERROR; Tad K78 FAL_ED

SN -

HAT JERROR; LINK NOT 4 1, CARRY FAILED
/TEST TAD K7S, AC=0ONES, L=0

CLAtCMAICLL /AC=0ONES, L=8

TAd <7S /ONES

X0R %1 1777776

SZA /AC=D

HALT /JERROR; TAD K7S FAI_ED

SNw

HALT JERROR; LINK NOT A 1, CARRY FAILED



AACRPEGARARRAATAARDITIDB?ITIFR?%%! | QEPRERAF ) ) ) ¢

@/ INST TEST TAPE 9

£888.,

£881,

£882,

£883,

£8g4,

£88s,

cLL
ADD KiS

cLL

ADD K2S
ADD K55S
CMA

SZA
HALT
SZL
HALT

ctil

ADD K3S
ADD K4S
CMA

SZA
HALT
SZL
HALT
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/TEST ADD K1S TO K6&S, L=9

/L=@
/111111
/666666
/AC=0

/ERROR;

/ERROR;

ADD K1S TO KéS FAILED

LINK NOT & @

/TEST ADD K25 TO K5, L=¢

/L=9
/222222
/555555
/AC=0

/ERRQR;

/ERROR;

ADD K2S TO KSS FAILED

LINK NOT A @

/TEST ADO K3S TO K4S, L=@

/L=0
/333333
/444444
/AC=0

/ERROR;

/ERROR;

ADD K3S TO K4S FAILED

LINK NOT A @



£886,

£887,

£sss,

£889,

E898,

£891,

cLL

ADD K4S
ADD K3S
CMA

SZA
HALY
SZL
HALT

cLi

ADD X3S
ADD K2S
CMA

SZA
HALT
SZEL
HALT

CLL

ADD K6S
ADD K1S
CHA

SZA
HALT
SZL
HALT
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/TEST ADD K4S TO K3S, L=9

/=9
/444444
/333333
/AC=0Q

/ERROR;

/ERRQOR:

ADD K4S TO K3S FAILED

LINK NOT A 0

/TEST ADD K5S T0 K2S, L=0

/L=8
/555555
/222222
/AC=9

/ERROR;

/ERROR;

ADD K5S TO K2S FAILED

LINK NOT A 8

/TEST AND K6S T0 KiS, L=8

/L=0
/666666
/111111
/AC=8

/ERROR;

/ERROR;

ADD K6S TO K4S FAILED

LINK NOT A @



£892,

£893,

£894,

£895,

£896,

EB97.,

cLi

ADD K7S
ADD K@
CMA

SZp
HALT
SZL
HALT

cLLicLalCMA
LAC k5252
ADD k2525
CMA

SZA

HALT

SZEL

HALT

cLL

LAC K2525
ADD K5252
CMA

SZA

HALT

SZL

HALT
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/TEST ADD K75 TO K@S, L=
/L=
/777777
/¢
/AC=0

/ERROR; ADD K7S TO K@gS FAILED
/ERROR; LINK NOT A @
/TEST ADD 252525, AC=525252, L=0¢
/AC=0ONES, L=7
/AC=525252
/252525
/AC=0
/ERROR; ADD K2525 TO k5252 FAILED
/ERROR; LINK NOT A 2
/TEST ADD 525252, AC=252525, L=0@
/L=0
/AC=252525
/525252
/AC=8
/ERROR; ADD K5252 T0 K2525 FAILED

/ERROR; LINK NOT A @




E8974A,

£8978,

£897C,

EB970,

EB97E,

E897F,

EB976G,

E897H,

3

CLAICLL
ADD M4a9K
ADD K4@2K
CMA

SZA

HALT

SZL

HALT

CLAICLL
ADD M280K
ADD K2P08K
CMA

SZA

HALT

SZL

HALT

CLAICLL

ADD M1G9K

ADC Kipex
CMA

SZA

HALT

SZL

HALT

CLAICLL
ADD M48K
ADD K4gK
CMA

SZA

HALT

S2L

HALT
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/TEST ADD M40gK, ADD K4p8K, L=¢
/AC=8, L=0
/AC=377777
/400000
/AC=0

/ERROR: INCLUSIVE ADD FAILURE

/ERROR; LINK NOT A 9

/TEST ApD M290K, ADD K200K, L=0
/AC=8, L=0
/AC=577777
/28800890
/AC=@

/ERROR; INCLUSIVE ADD FAILURE
/ERROR; LINK NOT A @
/TEST ADD M18@K, K188K, L=0
/AC=0, L=@
/AC=677777
/1800800
/AC=9
/ERROR: INCLUSIVE ADD FAILURE
JERROR; LINK NOT A 8
/TEST ADD M406K, ADD K4@K, L=
/AC=8, L=0
/AC=737777
/8400800
/AC=8
/ERROR; INCLUSIVE ADD FAILURE

/ERROR; LINK NOT 4 8
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/TEST ADD M24K, ADD K2@K, L=0

CLA!CLL /AC=0, L=0
ADD M2eK /AC=757777
ADD K2¢K /P200089
CMA /AC=Q
SEA
£8971, HALT /ERROR; [NCLUSIVE ADD FAJLURE
SZL
£897J, HALT /ERROR; LINK NOT A 0
v /TEST ADD M1PK, ADD K1@K, L=g
CLA!CLL /AC=0, L=
ADD M18K /AC=767777
ADD K1eK /710000
CMA /AC=0
SZA
F897K, HALT /ERROR: INCLUSIVE ADD FAILURE
SEL .
E897L, HALT /ERROR; LINK NOT A

/TEST ADD M4K, ADD K4K, L=g

CLAICLL /AC=8, L=0
ADD M4K /AC=773777
ADD K4K /084000
CMA /AC=0
SZA
EB9T7M, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
EB97N, HALT /ERROR; LINK NOT A ¢

/TEST ADD M2K, ADD K2K, L=8

cLalCLL /AC=8, L=8
ADD M2K /AC=775777
ADD K2K /002000
CHA /AC=0
SZA
£8970, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL

Ego7pP, HALT /ERROR; LINK NOT A @



Page 186

/TEST ADD M1K, ADD KiK., L=@

CLA!CLL /AC=0, L=0
ADD M1K /AC=776777
ADD K1iK /981668
CHA /AC=9
SZA
£8978, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
EB97R, HALT /ERROR; LINK NOT A @

/TEST ADD M428, ADD K406, L=0

CLAICLL /AC=8, L=8
ADD M4ag0 /AC=777377
ADD K408 /8008408
CMA /AC=0
SZA
E897S, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
£897T, HALT /ERROR; LINK NOT ap

/TEST ADD M248, ADD K289, L=0

cLAICLL /AC=0, L=8
ADD M299 /AC=777577
ADD K209 /220299
CHMA /AC=0
SZA
E897U, HALT /ERROR; INCLUSIVE ADD FATLURE
SEL
EB97V, HALT /ERRQOR; LINK NOT A 9

/TEST ADD M108, ADD K100, L=0

cLAICLL /AC=8, L=8
ADD M1i@g /AC=777677
ADD Kig® /800108
CMA /AC=9
SZA
E89TH, HALT /ERROR; INCLUSIVE ADD FAILURE
SEL

€897X, HALT /ERROR; LINK NOT A @
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/TEST ADD M4p, ADD K4g¢, L:=@

CLAICLL /AC=8, L=8
ADD M42 /AC=777737
ADD K4g /06e040
CMA /AC=9
SZA
£897Y, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
£8972, HALT /ERROR: LINK NOT A ¢

/TEST ADD M2@, ADD K2@, L=@2

CLACLL /AC=9, L=g
ADD M29 /AC = 777757
ADD K29 /200028
CMA /AC=0
SZA
EBO7AA, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
£E89788B, HALT /ERROR; LINK NOT A @

/TEST ADD M10, ADD Kie, L=¢

CLAICLL /AC=8, L=0
ADD M19 /AC=777767
ADD K19 /020810
CMA /AC=8
SZA
£897CC, HALT /ERROR, INLUSIVE ADD FAILURE
SZL
E89700, HALT /ERROR; LINK NOT AB

/TEST ADD M4, ADD K4, L=0

cLalCLL /AC=8, L=8
ABD M4 /AC=777773
ADD K4 /000004
CMA /AC=8
SZA
EB97EE, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL

E8Q7FF, HALT /ERROR; LINK NOT A @



£89766G,

EB9T7HH,

Ego71l,

£897JJ,

E8984A,

E8948,

£898&C,

£8980,

CLAICLL
ADD M2
ADD K2
CMA

SZA
HALT
SEL
HALT

CLA!ICLL
ADD My
ADD K1
CMA

SZA
HALT
SEL
HALT

cLaicLL
ADD K489K
ADD M4@0K
CMA

SZA

HALT

S2L

HALT

CLAICLL
ADD K209K
ADD M298K
CHA

SZA

HALT

SEL

HALT
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/TEST ADD M2, ADD K2, L=0
/AC=¢, L=p
/AC=777775
/240002
/AC=0

/ERROR; INCLUSIVE ADD FAILURE

/ERROR; LINK NOT A @

/TEST ADD M1, ADD Ki, L=0
/AC=0, L=0
/AC=777776
/880001
/AC=0

/ERRQOR; INCLUSIVE ADD FAILURE
/ERROR; LINK NOT A @
/TEST ADD K499K, ADD M4peK, L=9
/AC=0, L=0
/AC=400008
/7377777
/AC=9
/ERROR: INCLUSIVE ADD FAILURE
/ERROR; LINK NOT A 0
/TEST ADD K2@88K, ADD M2@8K, L=
/AC=0, L=8
/AC=200008
/577777
/AC=0
/ERROR; INCLUSIVE ADD FAILURE

/ERROR; LINK NOT A @



Page 189

/TEST ADD K19@K, ADD M100K, L=9

CLAICLL /AC=Q., L=0
ADD K12¢K /AC=100009
ADD M1089K /677777
CMA /AC=9
SZA
E898E, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
£898F, HALT /ERROR; LINK NOT A @

/TEST ADD K40K, ADD M40K, L=@

CLAICLL /AC=8, L=¢
ADD K4BK /AC=0402000
ADD M48K /737777
CMA /AC=8
SZA
E8986G, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
E898H, HALT /ERROR; LINK NOT A @

/TEST ADD K20K, M2¢K, L=0

CLAICLL /AC=8, L=0
ADD K20K /AC=820000
ADD M28K /757777
CMA /AC=8
SZA
E8981, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
£8984J, HALT /ERRORS LINK NOT A 2

/TEST ADD Ki@K, ADD M16K, L=9¢

CLAICLL /AC=8, L=0
ADD KigK /AC=016080
ADD M19K /1767777
CMA /AC=0
SZA
E898K, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL

E898L, HALT /ERROR: LINK NOT A @
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/TEST ADD K4K, ADD M4K, L=¢

CLAICLL /AC=0, L=0
ADD K4K /AC=004780
ADD M4K /7773777
CMA /AC=8
SZA
£E898M, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
EB98N, HALT /ERROR; LINK NOT A@

/TEST ADD K2K, ADD M2K, L=8

CLAICLL /AC=0@, L=0
ADD K2K /AC=002000
ADD M2K /775777
CMA /AC=8
SZA
£8980, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
E898P, HALT /ERROR; LINK NOT A@

/TEST ADD K1K, ADD MiK, L=8

CLAICLL /AC=0, L=0
ADD KiK' /AC=z9010060
ADD MiK /776777
CHA /AC=z0
SZA
£8980, HALT /ERROR; INCLUSIVE ADD FAILURE
SEL
E898R, HALT /ERROR: LINK NOT A 8

/TEST ADD K408, ADD M408, L=2

CLAICLL /AC=0@, L=@
ADD K4g@ /AC=0080400
ADD M4p0 /777377
CMA /AC=8
! SZA
£898S, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL

E898T, HALT /ERROR; LINK NOT A ¢
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/TEST AQD K20¢, ADD M2g¢, L=2

CLAICLL /AC=0, L=@
ADD K229 /AC=002200
ADD M222 /777577
CHA /AC-9
SZA
8ggU, HALT /ERROR; INCLUSIVE ADD FAILURE
SEL
E898YV, HALT /ERROR: LINK NOT & ¢

/TEST ADD K149, ADD M10@, L=0

CLa:CLL /AC=0, L=@
ADD Kig@ /AC=000109
ADD M108 /777677
CMA /AC=9
SZA
EBO8H, HALT /ERROR; INCLUSIVE ADD FAILURE
SEL
£898X, HALT /ERROR; LINK NOT A @

/TEST ADD K43, ADD M49, L=¢

CLAICLL /AC=0, L=0
ADD K4p /AC=000048
ADD M4p /777737
CMA /AC=8
SZA
£898Y, HALT /ERRQR; INCLUSIVE ADD FAILURE
SZL
£8982, HALT /ERROR; LINK NOT A @

/TEST ADD K28, ADD M24g, L=9¢

CLAICLL /AC=@, L=¢
ADD K28 /AC=90p0a20
ADD ™22 /777757
CMA /AC=9
SZA
E898A4, HALT /ERROR: INCLUSIVE ADD FAILURE
SZL

£89888, HALT /ERRQOR; LINK NOT A 2
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/TEST ADD Ki¢, ADD Mi@, L=90

CLAICLL /AC=8, L=z=@
ADD Kig /AC=pR0010
ADD M19 /777767
CMA /AC=8
SZA
£898cc, HALT /ERRQOR; INCLUSIVE ADD FAILURE
SZL
E£E89800, HALT /ERRQR; LINK NOT A®

/TEST ADD K4, ADD M4, L=0

CLAICLL /AC=0, L=0
ADD K4 /AC=P200064
ADD M4 /777773
CMA /AC=9
SZA
E8G8EE, HALT /ERROR: INCLUSIVE ADD FAILURE
SEL
EB9BFF, HALT /ERROR; LINK NOT A 8

/TEST ADD K2, ADD M2, L=z0

CLAICLL /AC=8, L=8
ADD K2 - /AC=008082
ADD M2 /777775
CMA /AC=9
SZA
£898GG, HALT /ERROR; INCLUSIVE ADD FAILURE
SZL
EBG8HKH, HALT /ERROR; LINK NOT Ag

/TEST ADD Ki, ADD Mi, L=8

CLAICLL /AC=0, L=8
ADD K1 /AC=800981
ADD M1 /777776
CMA /AC=8
SZA
E89811, HALT /ERROR; INCLUSIVE ADD FAILURE
SZEL
E898JJ, HALT /ERROR; LINK NOT A @

START
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/PDP-9 INSTRUCTION TEST PART 1 - TAPE 9A

LAC K480K /AC=400K
ADD K7S /ONES
AND K7S /AC=4@8K
X0R K4geK
SZA /AC=8
£898. HALT /ERROR; ADD-D TO K403K FAILED
SZL
£899, HALT /ERROR; LINK NOT A ZERO, CARRY FAILED
/TEST ADD K24@K, AC=K2¢OK, L=9
CLA!CMAlCLL /AC=0NES, L=2
LAC K2006K /AC=208K
ADD k288K /ONES
AND K7S /AC=400K
XOR K49@8K
SZA /AC=8
£900, HALT /ERROR; ADD K288K TO K20@K FAILED
SNL
£991, HALT /ERROR; LINK NOT A ONE, CARRY FAILED
/TEST ADD X7S, AC=K1@0K, L=1
CLAICMAICLLICML /AC=0NES, L=1
LAC K188K /AC=108K
ADD K7S /ONES
AND K7S /AC=108K
X0R K1@9K
SZA /AC=0
g992, HALT /ERROR; ADD-8 TO K180K FAILED
SNL
€903, HALT /ERROR; LINK NOT A ONE, LINK RESET
/TEST ADD K7S, AC=K4@K, L=0
CLA'CMAICLL /AC=0NES, L=8
LAC K4gK /AC=409K
ADD K7S /0ONES
AND K7S /AC=49K
X0R K48K
SZA /AC=¢
E984, HALT /ERROR; ADD-2 TO K4@K FAILED
SZL
£905, HALT /ERROR; LINK NOT A ZERO, CARRY FAILED

CLAICMAICLL

/TEST ADD K7S, AC=K489K, L=g
/AC=0ONES, L=0



E£E906,

£E9907,

E998,

£989,

E918,

£E911.,

CLAICMAICLL
LAC K2@K
ADD K7S§

AND K7S

X0R K2@K
SZA

HALT

SEL

HALT

CLA!CMAICLL
LAC K1gK
ADD K7S

AND K7S

XOR K1i@K
SZA

HALT

SZL

HALT

clbatcMatcll
LAC K4K

ADD K7S

AND K78

XOR K4K

SZA

HALT

SZL

HALT
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/TEST ADD K7S, AC=K2ZK, L=0
/AC=0ONES, L=d

/AC=20K

/0ONES

/AC=20K

/AC=8

/ERROR; ADD-8 7O K20K FAILED

/ERROR: LINK NOT A #EROQ,

/TEST AND K7S, AC=K1@K, L=0
/AC=0NES, L=0 )
/AC=10K
/0ONES
/AC=10K

/AC=8

CARRY FAILED

/ERROR; ADD-® TO Ki@K FAILED

/ERROR; LINK NOT A ZERO,

/TEST ADD K7S, AC=K4K, L=0
/AC=ONES, L=8

/AC=4K

/ONES

/AC=4K

/AC=¢

CARRY FAILED

/ERROR; ADD~@ TO K4K FAILED

/ERROR; LINK NOT A ZERO,

CARRY FAILED
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/TEST ADBD K7S, AC=zK2K, L=0

CLAICMAICLL /AC=0ONES, L=8
LAC K2K /AC=2K
ADD K7S . /ONES
AND K7S /AC=2K
XOR K2K
SZA /AC=0
£912, HALT /ERROR; ADD-8 TO K2K FAILED
SEL
£913, HALT /ERROR; LINK NOT A ZERO, CARRY FAILED
/TEST ADD K7S, AC=K1K, L=
CLA!CMAICLL /AC=0NES, L=9
LAC KiK /AC=1K
ADD K7S /0ONES
AND K7S /AC=1K
XOR KiK
SZA /AC=0
£914, HALT /ERROR; ADD-8 TO KiK FAILED
SEL
£915, HALT JERROR; LINK NOT A ZERO, CARRY FAILED
/TEST ADD K7S, AC=K408, L=0
CLA!CMAICLL /AC=0ONES, L=@
LAC K40@ /AC=409
ADD K7S /ONES
AND K78 /AC=400
XOR K423
SZA /AC=0
£916, HALT /ERROR; ADD-@ TO K480 FAILED
SZL

€917, HALT /ERROR; LINK NOT A ZERO, CARRY FAILED



£918,

£919,

E928,

£921.,

E922,

E923.,

CLAICMAICLL
LAC K290
ADD K7S

AND K7S

XOR K229
SZA

HALT

SZL

HALT

CLAICMAICLL
LAC K10@
ADD K75

AND K7S

X0R K100
SZA

HALT

SZL

HALT

cLatcMalcLL
LAC K49
ADD K7S

AND K7S

XOR K40

SZaA

HALT

SZL

HALT
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/TEST ADD K7S, AC=K2890, L=0
/AC=(ONES, L=z=p

/AC=200
/ONES
/AC=20¢

/AC=0
/ERRQR;

/ERROR;

ADD-@ TO K2@@ FAILED

ADD LINK NOT A ZERO,

/TEST ADD K7S, AC=K10@, L=0

/AC=0NES, L=0

/AC=109
/ONES
/AC=186

/AC=9
/ERROQOR;

/ERROR;

ADD -2 TO Kig® FAILED

LINK NOT A ZERO,

/TEST ADD K7S, AC=K4@K, L=0

/AC=0ONES, L=8

/AC=48
/ONES
/AC=48

/AC=8
/ERRQR;

/ERROR;

CARRY FAILED

ADD~8 TO KA@ FAILED

LINK NOT A ZERO,

CARRY FAILED

CARRY FAILED



£924,

£925,

£E926,

£927,

£928,

£929,

CLAICMAICLL
LAC K28

ADD K7S

AND K7S

X0R K24

SZA

HALT

SEL

HALT

cbalcMatcLlL
LAC K10

ADD K7S

AND K7S

XOR K10

SZA

HALT

S#EL

HALT

CLAICMAICLL
LAC K4

ADD X7S

AND K7S

XOR K4

SZA

HALT

S#L

HALT
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/TEST ADD K7S, AC=K20 L=0

/AC=0NES, L=2

/AC=20
/0ONES
/AC=29

/AC=0
/ERROR;

/ERROR;

/TEST ADD K7S, AC=K1@, L=¢
/AC=ONES, L=2

/AC=19
/ONES
/AC=10

/AC=0Q
/ERROR;

/ERROR;

ADD -9 TO K2@ FAILED

LINK NOT A ZERO,

CARRY FAILED

ADD=@¢ TO K19 FAILED

LINK NOT A ZERO CARRY FAILED

/TEST ADD K7S, AC=4, L=@

/AC=0NES, L=g

/AC=4
/ONES
/AC=4

/AC=0
/ERROR

/ERROR;

ABD ~@ TO K4 FAILED

LINK NOT A ZEROQ,

CARRY FAILED



£938,

£931.,

£932,

£933,

CLaetemalriL
LAC #o

ADD K79

END K7S

X0R K2

SEa

HALT

S#L

HALT

CLAICMAICLL
LAC K1

ADD K7S

AND K7S

XOR Ki

SZA

HALT

SZL

HALT
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/TEST ADD K7S
/AC=0ONES, L=za

/AC=9
/ERROR;

/ERROR;

/TEST ADD K7S

/AC=0NES, L=p
/AC=1
/ONES
/AC=1

/AC=9
/ERROR;

/ERROR;

» AC=KZ L=¢

ADD-9 TO
LINK NOT

, AC=K1,

ADD-g TO

LINK NOT

K2 FAILED

A ZERQ,

L=g¢

CARRY rFAlILED

K1 FAILED

A ZERO,

CARRY FAILED



£E934,

£935,

£936,

E937,

£938,

E939,

cLL

LAW 17777
AND K7S
ADD K479K
XOR K4g0K
SZA

HALT

SZL

HALT

cLLICML
LAW 17777
AND K7S
ADD K288K
XOR K20¢K
SZa

HALT

SNL

HALT

CLLICML
LAW 17777
AND K7S
ADD K128K
XOR K108K
SEA

HALT

SNL

HALT
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/TEST ADD K440K, AC=0ONES, L=0

/L=0@

/AC=0NES
/AC=0NES

/488K
/AC=9

/ERROR; ADD K4@8K TO -¢ FAILED
/ERROR: LINK NOT A ZERO, CARRY FAILED

/TEST ADD K2@@K, AC=0NES, L=1

/L=1

/AC=0NES
/AC=0NES

/208K
/AC=8

/ERROR; ADD K2@88K TO - @ FAILED
/ERROR; LINK NOT A ONE, LINK RESET

/TEST ADD K1@@K, AC=ONES, LzZ1

/L=1

/AC=ONES
/AC=0NES

/180K
/AC=8

/ERROR; ADD K189K TO -8 FAILED

/ERROR; LINK NOT A ONE, LINK RESET
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/TEST ADD K42K, AC=ONES, L=1

CLLICML /=1
LAW 17777 /EG=ORES
AND X 7S /HC=ONES
ADD Kaak F 4K
XOR K4#K
SZA /AC=0Q
£949, HALT /ERROR; ADD K48K TO - FAILED
SNL
£941, HALT /ERROR; LINX NOT A ONE, LINK RESET
/TEST ADD K22K, AC=0ONES, L=1
CLLICML /L=1
LAW 17777 /AC=0NES
AND K7S /AC=0QNES
ADD K2¢K /28K
XOR K28K
SZA /AC=0
£E942, HALT /ERROR; ADD K28K TO -@ FAILED
SNL
£943, HALT /ERROR; LINK NOT A ONE, LINK RESET
/TEST ADD K1mK, AC=ONES, L=y
CLLICML /L=1
LAW 17777 /AC=0NES
AND K7S /AC=0NES
ADD K10K /18K
XOR K10¢K
SZA /AC=0
E944, HALT /ERROR: ADD K1@, TO ~8 FAILED
SNL

£945, HALT /ERROR; LINK NOT A ONE, LINK RESET



£946,

£947,

£948,

£949,

£958,

£951,

CLLICML
LAW 17777
AND K7S
ADD K4K
XOR K4K
SZA

HALT

SNL

HALT

CLLICML
LAW 17777
AND K75
ADD K2K
XOR K2K
SZA

HALT

SNL

HALT

CLLICML
LAW 17777
AND K7S
ADD K1K
X0R K1K
SZA

HALT

SNL

HALT
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/TEST ADD K4k,
/L=1

/AC=0NES
/4K

/AC=0

AC=0ONES,

/AC=0NES

/ERROR;: ADD K4K TO

/ERROR; LINK NOT A

/TEST ADD K2K,
/L=1

/AC=0NES
/2K

/AC=0

AC=0ONES,

/AC=0NES

/ERROR; ADD K2K TO

/ERRCR; LINK NOT A

/TEST ADD KiK,
/=1

/AC=0NES
/1K

/AC=8

AC=0ONES,

/AC=0NES

/ERROR; ADD K1iK TO

/ERROR: LINK NOT A

L=t

-2 FAILED
ONE, LINK RESET

L=1

-@ FAILED
ONE, LINK RESET

L=1

-8 FAILED

ONE, LINK RESET
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/TEST ADD K428, AC=ONES, L=1

cLL!CML /=1
LAW 17777 /AC=0NES
AND K78 /AC=0NES
ADD K4a9 /400
XOR Kagg
SZA /AC=9
E952, HALT /ERROR; ADD K488 TO -p FAILED
SNL
£953, HALT /ERROR; LINK NOT A ONE, LINK RESET
/TEST ADD K298, AC=ONES, L=1
CLLfCML /L=1
LAW 17777 /AC=0NES
AND K7S /AC=ONES
ADD K200 /208
XOR K2@g
SZA /AC=9
E954, HALT /ERROR; ADD K209 TO-@ FAILED
SNL
£955, HALT /ERROR; LINK NOT A ONE, LINK RESET
/TEST ADD K108, AC=ONES, L=1
CLLICML /L=1
LAW 17777 /AC=0NES
AND K7S /AC=ONES
ADD Kigg /108
XOR Kipg
. SZA /AC=g
E£956, HALT /ERROR; ADD K192 TO -9 FAILED
SNL

E957, HALT /ERROR; LINK NOT A ONE, LINK RESET



£958,

E959,

£960,

£961,

£962,
£963,

CLL!CML
LAW 17777
AND K7S
ADD Kag
X0OR K49
SZA

HALT

SNL

HALT

CLLICML
LAW 17777
AND K7S
ADD K22
XO0R K2p
SZA

HALT

SNL

HALT

CLLICML
LAW 17777
AND K7S
ADD K19
XO0R K19
SZA

HALT

SNL

HALT
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/TEST ADD K49
/L=1

/AC=0NES
/49

/AC=0
/ERRQOR;

/ERROR;

/TEST ADD K29
/L=1

/AC=0NES
/29

/AC=zg
/ERROR;

/ERROR;

/TEST ADD Ki@
/=1

/AC=0NES
/AC=0
/ERRQR;

/ERROR;

» AC=ONES,

/AC=0NES

ADD K4g TO
LINK NOT &
» AC=0ONES,

/AC=0NES

ADD K2¢ 7O
LINK NOT A
» AC=0ONES,

/AC=0ONES

ADD K1@¢ TO

LINK NOT &

L=1

-2 FAILED
ONE, LINK RESET

L=t

-3 FAILED
ONE, LINK RESET

tL=1

-2 FAILED

ONE, LINK RESET
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/TEST ADD K4, AC=0NES, L=1

CLLICML /L=1
LAW 17777 /AC=0ONES
AND K78 /AC=0NES
ADD K4 /4
XOR K4
SZA /AC=¢
£E964, HALT /ERROR; ADD K4 TO -9 FAILED
SNL
£965, HALT /ERROR; LINK NOT A ONE, LINK RESET
/TEST ADD K2, AC=ONES, L=1
CLLICML /L=1
LAW 17777 /AC=0NES
AND K7S /AC=0NES
ADD K2 /2
X0R K2
SZA /AC=9
E966, HALT /ERROR; ADD K2 T0-8 FAILED
SNL
£E967, HALT /ERROR; LINK NOT A ONE, LINK RESET
/TEST ADD K1, AC=ONES, L=1
CLL!CML /=1
LAW 17777 /AC=0ONES
AND K7S /AC=0NES
ADD K1 /1
X0R K1
SZA /AC=8
£968, HALT /ERROR: ADD K1 T0-8 FAILED
SNL

£969., HALT /ERROR; LINK NOT A ONE, LINK RESET
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/TEST ADD K7S, AC=0NES, L=@

CcLL /L=9
LAC K7S /AC=0NES
ADD K7S /ONES
CMA /AC=0NES
SZA /AC=¢
£978. HALT /ERROR; ADD K7S TO ALL ONES FAILED
SZL
£E971, HALT /ERROR: LINK NOT & ONE, LINK RESET
. /TEST ADD 525253, AC=252525, L=1
cLLICML /L=1
LAC K2525 /AC=252525
ADD K5253 /5252
XOR K1 /009831
SZA /AC=8
£972, HALT /ERROR; ADD K5253 TO K5252 FAILED
SNL
£973, HALT /ERROR; LINK NOT A ONE, LINK RESET
/TEST ADD 252525, AC=525253 L=¢
cLL /L=9
LAC K5253 /AC=525253
ADD K2525 /252525
XOR K1 - /008001
SZA /AC=@
€974, HALT /ERROR; ADD K2525 TO K5253 FAILED
SZL

£E975, HALT /ERROR; LINK NOT A ZERO, CARRY FAILED



£976.,
£977,

START

cLL
ADD
ADD
ADD
400D
ADD
ADD
ADD
CMaA
SZA
HALT
SNL
HALT

K1S
K2S
K3S
K4S
K5S
Ké6S
K7S

Page 206

/TEST ADD SERIES
/=0
/AC=111111
/AC=333332
/AC=666666
/AC=333333, L=1
/AC=111111,
/AC=777777
/AC=T777777,
/AC=Q

/ERROR: ADD SERIES FAlILED

/ERROR; LINK NOT A 1




/TAPE

£E978,

£979,

£E98@,

E981,

£982,

£983,

1g PART 3

WAC K4E2K
SAJ X2
AT

AT K2ugK
543 <@
4A.T

LAC <168K
SAd <p
AT

WAC 40K
SAd £z
HALT

LAC A2¢K
5A0 <p
HALT

LAC €10k
SAD <p
HA-T
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/TEST SAD £8S, AC=K4D 0K
/AC=430K

/9

JERKHDR; SAD K@S FaAl £3 To

/TEST SAD <8S, AC=K2EZ4xX
/AC=238K

/@

/JERROR; SaJ K@S FAI_EJ T0

/TEST SAD X@S, AC=K106K
/AC=1g0K

/2

/ERROR; SAD K@S FAl_ED To

/TEST SAD X@S, AC=K4R<
/AC= 42K

/8

/ERROR; SAD K@S FAl_ED TO

/TEST SAD KgS, AC=K28<
/AC=z20K

/0

/ERROR; SAD K@S Fal_£) To

/TEST SAD X@S, AC=K18<
/AC=1gK

/8

/JERROR; SAD K@S FAI_ED T0O

SK1P,

SKIP,

SKIP,

SKIP,

SKIP,

SKIP,

AC=4080K

AC=K280K

AC=K188K

AC=408K

AC=K28K

AC=18K




£984,

£985,

£986,

£987,

£E988,

£989,

Eg9e,

AT £4K
SAJ <¢
HALT

“AC 2K
SA) <p
AT

LAC 1K
SAJ A¢g
AALT

AT X400
SA0 <g
HALT

LAC <28p
SAD Kg
HALT

LAC <199
SAD Xg
HALT

LAC K49
SAD xg
HALT
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/TEST SAD <@%, ACz2K4K
/AT 4K

/8

JERRGR: Sal K¢S Fal_F)

/TEST SAD <¢4S, aAQ=K2K
/AC=2K

/9

/ERROR; SAD K¢S rFal_F)

/TEST SAD x@S, AC=K1K
/AC=1K

/8

/ERROR; SAD KgS fFAI_E)D

/TEST SAD K@S, AC=X4p2
/AC=400

/8

/ERROR; SAD K9S FaAl_£2

/TEST SAD K@S, AC=K2p3
/AC=209

/9

/ERRORs SAD K@S FAl_E3

JTEST SAD K@S, AC=K182
/AC=100
/0

/ERROR; SAD K@gS FAl_ED

/TEST SAD KBS, AC=X40
/AC=48

/@

/ERROR; SAD K@S FaAl_ED

To0

T0

T0

SKIP,

SKIP,

SKIP,

SKIP,

SK1P,

SKIP,

SKIP,

AC=K4K

AC=K2K

AC=K1K

AC=K420

AC=K208

AC=K100

AC=K40



£991,

£E992,

£993,

£994,

£995,

£996,

£997,

£998,

_Al <2t
SAD L@
At

AT K1V
SAJ L@
AT

AT K4
SAad <g
Ha.7

AT K2
SAd L@
HALT

LAC <1
SAd <y
HALT

CLA
SAJ <480«
HAWT

CLA
SAD X289k
4ALT

CrA
SAd 100K
HALT
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FIFST SAD <85S, AC=Ke?

/al=2¢

74

FERSORG SAU KgS Fal £ 10 SKIP, AC=xzd
/TEST SAY KBS, AC=x12

/4C=10

/¢

/JERRQR; SAD KgS Fal £33 Tn SKIP, AC=K1Q

/TEST SAD X@S, AC=K4

/AC=4

/4

/ERROR; SAJ XS FAI_E) 70 SKIP, AC=zK4

/TEST SAD KgS, ACsK2

/AC=2 :

/8

/ERROR; SAD KpS FAI E£J To SKIP, AC=K2

/TEST SAD KBS, AC=K1

/AC=1

/g

JERROR; SAD K@gS FAI_E) To SKIP, AC=K1

/TEST SAD K489K, AC=D
/AC=8
/420K
/ERROR; SAD K40gx FAI_ED TO SKIP, AC=0

JTEST SAD K2BgK, AC=0
/AC=
/280K
/ERROR; SAD K2@@K FAI_ED TO SKIP, AC=@

/TEST SAD X189K, AC=0
/AC=D
/123K
/ERRORs SAD X108k FAI.ED TO SKIP, AC=3




£E999,

t100e,

E1001,

E1892,

K1283.,

E10@¢4,

E1085,

£1006,

TiA
SAJ K4vK
HALT

CLA
S3A3 £20K
AALT

CLA
SAJ <1@K
AALT

CLA
SAD X4K
HALT

CLA
SAd £2K
HALT

CLA
SAD K1K
HALT

CLA
SAD K489
HALT

CLA
SAD K289
HALT

Page 210

/TEST SAD X42K, AC=3
/AC=¢
/47K
JERROR; SAD K49K FAILLID TO SKIP, AC=#

/TEST SAD %2@¢K, AC=2
/AC=®
/22K
/ERROR; SAD K19K FAILID TO SKIP, AC=0

/TEST SAD K1@K, AC=3
/AC=8
/198K
/ERROR; S5aD Ki1@, FAILID TO SKIP, AC=0

/TEST SAD X4K, AC=2

/AC=8

/4K

/ERROR; SAD K4K FAI_E) TO SKIP, AC=g@

/TESY SAD K4K, AC=0

/AC=0

/2K

/ERROR; SAD K2K FAI_EJ) TO SKIP, AC=g@

/TEST SAUDKiK, AC=0

/AC=0

/1K

/ERROR) SAD KeK FA1_ED To SKIP, AC=®

/TEST SAD K4P@. AC=2
/AC=@
/488
/ERRORs SAD K489 FAILID TO SKIP, AC=8

/TEST SAD K204, ACs32
/AC=8
/299
/ERROR; SAD K2@@ FAI_ 2D TO SKIP, AC=#



£1¢97,

Li¢es,

1089,

£1014,

£E1011,

£1012,

CLaA
SA) <1¢g
HALT

CLA
SAaJ <40
4A.T

SILA
540 <20
AT

CLA
SAJ <19
RALT

CLA
SAD <4
HALT

SLA
SAD <2
HALT
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/TEST Sad <102, AC=2

/FACEY

JERRORN G

/IFST SAD <4%, AC=0

sAaC=2
/47
JERHRORS

3OKLAY FALLLD TO SKIP

; AC=@

SAD K44 FAsLID T SKIP, AC={

/TEST SAD Xx2¢, AC=¢@

SRTEE
/27

JERROR SAD K2¢ FAIL-D TO SKIP,

/TEST SAD X182, AC=9

/AC=2
/10
/ERROR;

SaD K18 FAl_ED To SKIP,

/TEST SAD X4, AC=g

/AC=E
/4
/ERROR;

Sad K4 FAILZID TO SKIP,

/TEST SAD A2 AC=p

/AC=9
/2
/ERRQOR;

SAJ K2 FAILID 1O SKIP,

AC=D

AC=8

AC=0

AC=0




£E1215,

£E1016,

E1017,

E1218,

E1819,

£1229,

ik
Shd K1
AT

_AV17777

SAD M4EBK
HALT

~AW 17777
SAJ M2¢eK
AT

AN 17777
SAJ M18@K
“ALT

AN 17777
SAD M4k
AALT

AW 17777
SAD ¥28k
HaLT

LAX L7777
SAD 419K
HALT

CAA 17777
SAD M4K
HALT
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/TEST SAD <1, A(=Q

/aC=@

/1

ZERROR; SAJ Ky FaILID TO

FTEST SAD M472K, ACZONES
/LC=0NES
/327777

JERROR; S4J Madgr Fal_£y

JTEST Sad M2€2%, AC=0NES
/AC=0ONES
/577777

/ERROR; SAD M20gKk Fal.ED

/TEST SAD M18@KX, AC=0VES
/AC=0NES
/677777

/ERRQOR; SAD M1@gx Fal_£0D

/TEST SAD M48K, AC=IN:IS
/AC=0NES
/737777

/ERROR; SAD M4¥x FAILID

/TEST SAD M20K, AC=0INIS
/AC=0NES
17577777

/ERROR; SAJ M28K rFAjLID

/TESY SAD ™10K, AC=)INIS
/AC=0ONES
/767777

/ERRORS SAD M4@K FALIL:ID

/TEST SAD 44X, AC=0ONES
/4C=0NES
/773777

SKIp, AC=#

4__________'_,%_

T SKIP, AC=0NES

TO SKIP, AC=ONES

TO SKIP, AC=0ONES

TO SKIP, AC=0ONES

TO SKIP, AC=0ONES

TO SKIP, AC=0ONES

Z7ERROR; SAD MaK FAI_EJ TOo SKIP, AC=ONES



Eig21,

E1g22,

£E1023,

£Ei1@24,

£1225,

£E1026,

E1pg27,

E1028,

AN 17777
SAJ M2K
AT

AN 17777
SAD M1K
HALT

~AN 17777
SAJD M4t
qALT

LAN 17777
SAJ M2¢8
AA-T

LAN 17777
SAD M12¢
AT

LAR 17777
SAD M40
HALT

LAW 17777
SAD ™22
HALT

LAW 17777
SAD %10
HALT
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JTEST SAD M2K, AC=DNES
/AC=0nEQ
7775777
JEFRNR; SAC MZK FAl £3 Tn SKI1P, AC=ONES

/TEST SAD MiK, AC=0xNES
/AC=0NES
/776777
/ERROR; SaD MiK Fal_EJ Tn SKIP, AC=0NES

/TEST SAD “M4¥g, aAC=)NIS
/AC=0NES
1777377
/ERROR; SAD M4dg FA;LID TO SKIP, AC=ONES

/TEST SAD %209, AC=0ONIS
/AC=0ONES
/7777577
/ERROR; SAD M28¢ FAILID TO SKIP, AC=ONES

/TEST SAD M10@, ACc=IN:IS
/AC=0NES
1777677
/ERROR; SAD M12¢ FAILID TO SKIP, AC=ONES

/TEST SAD M48, AC=z0ONES
/AC=0NES
/777737
/ERROR; SAD M48 FAI_ED To SKIP, AC=ONES

/TEST SAD M28, AC=0NES
/AC=0ONES
/777757
/ERROR; SAD M2@ FAI_ED To SKIP, AC=0NES

/TEST SAD M18, AC=0ONES
/AC=0ONES
/777767
/ERROR; SAD M1@ FAI_E) To SKIP AC=ONES



£E1¢29,

E1732,

£1e31,

£1032,

£1833,

E1034,

E1035,

£E1036,

~AA 17777
SAD M4
AT

A4 17777
SAJ M2
HALT

AW 17777
SAJD 41
HALT

CLA

TAD 400K
SAD 7S
HALT

CiA

TAD M20@K
SAD <78
HALT

CLA

TAD M100K
SAD K78
HALT

CLa
TAD M4K
SAD X758
HALT

CLA
TAD ¥28K
SAD X78
HALT
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/TEST SAD ¥4, AC=ONZS
/AC=0NES

/777773

JERROR; SAT M4 FAJLZID 70

/TEST SAD 42, AC=0ON:ZS
/aC=0NES

/777778

/ERROR; SAD M2 FAILZID 70

/TEST SAD *1i, AC=0NZIS
/AC=0NES

/777776

/ERROR; SAD Mi FAILED 70

/TEST SAD K78, AC=M4@33K
/AC=Q
/AC=2377777
/QONES
/ERROR; SAD K7S FAILED To

/JTEST SAD K78, AC=M202K
/AC=0
/AC=577777
/ONES
JERROR; SAD K78 FAI_E) TO

/TEST S4D K75, AC=M122K
/AC=0
/AC=677777
/0ONES
/ERROR; SAD K7S FAT_ED To

/TESY SAD K75, AC=M4@<
/AC=D
/AC=737777
/QONES
/ERROR; SAD K7S FAI_ED TO

/TEST SAD K7S, AC=M28<
/AC=8
/AC=757777
/ONES
/ERROR; SAD K7S FAT.ED TO

SKIP,

SKIP,

SKIP,

SKIP,

SK1IP,

SKIP,

SKIP,

SKIP,

AC=0ONES

AC=0NES

AC=0ONES

AC=M400K

AC=M288K

AC=M100K

AC=M48K

AC=M20K



£1237,

£1038,

E1839,

Ei1pdg,

E1@41,

E1842,

CLA
FTad Miék
>A3 €78
HALT

CLA

TAJ M4K
540 %78
AALT

Ci A
TAD ¥oK
SAD K78
4ALT

CLA

TAD M1iK
SA0 <78
HALT

CLA
TAD 9488
SAD X78
HALT

CLA

TAD “M20p
SAD K78
HALT
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/TEST SAD X7S, AC=zM16<
/AC=0

/8C=767777
/ONES
JERROR: SAD K7S rFal_£)

/TEST SAD X7S, AC=Md4K
/AC=8

/AC=773777

/ONES

/ERROR; SAD K7S Fal_£2

/TEST SAD K7S, AC=M2K
/AC=8

/AC=775777

/ONES

/ERRORT SAD K7S FAILED

/TEST SAD K7S, AC=MiX
/AC=0

/AC=776777

/ONES

/ERROR; SAD K7S FAI_ED

/TEST SAD K7S, AC=zM422
/AC=8

/AC=777377
/ONES
/ERROR} SAD K7S FAI _ED

/TEST SAD K78 Ac=M220
/AC=0

/AC=777577
/ONES
/ERROR; SAD K7S FaAl_£D

To

T0

To

To

SKIP,

SKIP,

SKIP,

SK1P,

SKIP,

SK1P,

AC=M108K

AC=M4K

AC=M2K

AC=M1K

AC=M400

AC=M200



£1243,

E1044,

£1045,

E1046,

E1847,

Ei1g48,

E1049,

CpA

TAJ 41¢g
5A3 €78
HALT

CLA
TAD M40
SAJ X7S
AALT

CLA
TAD ™28
SAD «7S
HALT

CLA
TAD 410
SAD %78
HALT

CLA
TAD Mg
SAD «78
AALT

CLA
TAD 2
SAD K78
HALT

CLA

TAD Mg
SaAD %78
HALT

/AC=2
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/TEST SAD K7S, AC=M184
/aC=0

/aC=777677
/ONES
/ERRQR; Sa2 K7S FAl_E)

/TESYT SaD X7S, AC=M42
/AC=777737

JERROR: SAQ K75 FAl_F)
/TEST SAD K78, AC=zM2¢
/AC=@

/AC=777757

/ERROR}) SAD K7S FAl_E2
/TEST SAD K7S, AC=M13
/AC=Q

/AC=777767

/ERRORS SAD K7S FAl_ED
JTEST SAD X7S, ACzM4
/AC=@

/AC=777773

/ERROR) SAD K7S rFAl.ED
/TEST SAD X7S5, AC=M2
/AC=Q

/AC=777775%

/ERROR; SAD K75 FAI_ED
/TEST SAD X7S, AC=M1
/AC=0

/AC=2777776

JERROR; SAD K7S FAL_ED

T0

To

T0

To

To

To

T0

SKIP, AC=M100

SKIP, AC=M49

SKIP, AC=M20

SKIP, AC=M10

SKIP, AC=pM4

SKIP, AC=M2

SKIP AC=M1
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/TEST SAD X42¢K, AC=K4nUK

LAC 438K /4C=408K
SAD <406k /428K
Sk>
E125@, AALT JERRDOR; SAD K4¥g@K S<1°pED, AC=K4OLK
/TEST SAD X22¢K, AC=x200K
-AC <228K /AC=2p6xK
SAD £2gpX /27K
3K2 :
£1851, HALT /ERRORI SaAD K20¢k S<I2PED, AC=K2088K
/TEST SAD K18pgK, AC=100K
«AC X188k /AC=1g0K
SAD 100K /170K
SkP
£1052, HAuT /ERROR; SAD K1@gx S<1°PED, AC=K1@8K
/TEST SAD K4BK, ACE<43K
LAC €40K /ACz4gK
SAD 48K /48K
SKP
E1053, HALT . /ERROR3 SAD K48K SKIP3ED, AC=K4g@K
/TEST SAD K28K, ACRK23K
LAC <20k /AC=2¢K
SAD <28K /22K
SKP
£1054, HALT JERROR; SAD Ki@K SKIP?ED, AC=K28K
/TEST SAD Ki1BK: AC=<12K
LAC X18K /AC=10K
SAD X1@K /19K
SKP

£E185%, HALT /ERROR; SAD K1@K SKXIP?ED, AC=K10K



£10656,

£1€¢57,

E1ess,

£1059,

£1060,

£E1061,

LAC €4K
SAD A4K
SK?
Ha.T

LAC K2K
SAJ «2K
SK?
HAwT

LAC X1K
SAD K1K
SKP
HALT

LAC X400
SAd X409
SKP
HALT

Lac Xoe9
SAD <209
SKP
HALT

LAC X120
SAD K189
SKP
HALT
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/TESTY SAD X4K, ACzK4X

/ACA4K
/4K

/ERROR;

SAZ K4K SK1-PID,

/TEST SAD K2K, AC=zK2XK

/AC=2K
/2K

/ERROR:

SAD KK SKI>PID,

/TEST SAD X1K, AC=K1X

/AC=1K
/1K

/ERROR;

AC=K4K

AC=K2K

SAD 1K SKIP2EJ, AC=K1K

/TEST SAD K480, ACE<420

/ERROR;

/AC=4p8
/428

SAD K40g SKIP2ED,

/TEST SAD XK22@: AC=<230

/ERROR;

/AC=209
/228

SAD K28g sxie2gQ,

/TEST SAD K19@, ACe=<128

/ERROR}

/4C=180
/1082

SAD K{@€g skipP2£D,

AC=K408

AC=K292

AC=K2



E1262,

£E1263,

E1064,

E1865,

£1066,

E1067,

LAl <42
SAJ K48
5K
AL T

AT Lp¢
SAJ A2p
5K=
HALT

“AC <@
SAD <10
SKP
AT

AL <4
SAJ <4
3K
HALT

L.AC <2
SAD <2
SK®
HALT

LAC K1
SAD «1
SKP
HALT

Page 219

/TEST SAD K46, AC=zK4g
/AC=4¢
/4¢

/ERROR; SAJ K43 SKIZPiD, AC=K4Q
JTEST SAD 28, AC=KZ?

JAC=28

/27

JERROR: SAD K28 SKI-PIDs AC=K28
/TEST SAD X190, AC=K12

/AC=10

/10

/ERRORY SAD Ki@ SKI12PiD, AC=zK1E
/TEST SAD K4, AC=zK4

/AC=4

/4

/ERROR; SAD K4 SKIPPEJ, AC=K4
/TEST SAD K2, AC=K2

/AC=2

/2

/ERROR: SAD K2 SKIPRED, AC=K2
/TEST SAD K1, AC=Ki

/AC=1

/1

/ERROR3 SAD K1 SKIP3E), AC=K1




E1068,

£1069,

E1g78,

£1871,

£E1872,
£E1873,

E1074,
£127%,

CLAITMAICLL
AJJ 44¥gK
SAJ v4¢oK
3K

~HALT

SZu

4ACT

CLATCMAICLL
ADD M2eeK
SAD ¥209K
SKP

HALT

SZu

AALT

CLAICMAICLL
ADD M188K
SAD ¥108K
SKP

HALT

SRL

HALT

CLAICMAICLL
ADD 440K
SAD %40k
SKP

HALT

Szl

HALT
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/TEST SAD #4¥gK, AC=v420K L=0
/AC=ONES, L=b
/8C=23727777 _=1
/377777

/ERROR; SAD Ma@gK S<1°PED, AC=M4GEK
/ERROR; LINK NOT A 2
/TEST SAD M20pK, AC=M2840K L=0
/AC=0ONES, L=0

/AC=577777 _=1

/577777
/ERROR; SAD M20@K S<I1°PED, AC=M280K
/ERROR} LINK NOT A 2
/TEST SAD M18@K, AC=M1@¥K L=8
/AC=0ONES, L=

/AC:677777 =1

/677777
/ERROR: SAD M189K S<12PED, AC=M18@K
JERROR; LINK NOT A 2
J/TEST SAD M48K, AC=v43K L=0
/AC=0ONES, L=8

/AC=737777 .=l

/1737777
/ERROR3 SAD M48K SKIP2ED, AC=M48K

/ERROR} LINK NOT A 2



1076,

£E1077,

Ei1278,

£1079,

£E1088,
E1@81,

£1882,
£1083,

SLATTMAICLL
AL M2EK
3A3 Mp#K
5K°

AALT

Si\.

AT

SLatTMAICLL
ADS M1@K
SAd 11@K
SK?

HALT

SZL

HALT

CLATCMAICLL
ADD M4k

SAD M4K

SxP

HALT

Szl

HALT

CLAICMAICLL
ADD MoK

SAD M2K

SKp

HALT

SzL

HALT
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/TEST SAD 20K, AC=v“24K L=0
/AC=0ONES, L=
/aC=757777 -zl
7757777

/ERROR; SAD MR¥K SKiP2ED, AC=M28K
JERROR; LINK NOT A 7
/TEST SAD M180K, ACzM1gK L=g
/AC=0NES, L=0

/aC=767777 _=1

/767777
JERROR; SAD M18K SKIP°ED, AC=M18K
/ERROR; LINK NOT A 2
JTEST SAD 4K, AC=M4K =g
/AC=0ONES, L=0
/AC=773777 L=t
/773777
JERROR; SAD M4K SKISPZDs AC=M4K
JERROR; LINK NOT A 2
/TEST SAD M2K, ACzM2K L=g
/AC=ONES, Lz0
JACZT775777 L=y
/775777
JERROR; SAD M2K SKIZPID, ACz=M2K

/ERROR; LINK NOT A 2




£1284,

E1285,

£1086,

E1287,

£1088,
£1889,

£1098,

£1091,

CLAICHMANCLL
ADD M1k

SAJ 11K

5K?

HA-T

SAC

AT

CLATSMAICLL
ADD “480
SAD 4409
SK?

HALT

SEL

HALT

CLAICMAICLL
ADD v209
SAD Y209
SKP

HALT

SZL

HALT

CLAICMAICLL
ADD 4108
SAD 4109
SKP

HALT

S@L

HALT

/ERROR}
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/TEST SAD M1K, AC=MiX L=¢
/AC=0ONES, L=0

/AC=T776777 HIE
/776777

/ERROR; SAD MiX SKI-2PID, AC=M1K
/ERROR; LNk NOT A 2
/TEST SAD M4B¢, AC=v420 (=0
/AC=0ONES, L=9

/aC=777377 =1

7777377
/JERROR; SAD M4@@ SKIP?ED, AC=M402
LINK NOT A B8 -
/TEST SAD M20@, AC=4289 =0
/AC=ONES, L=8

/AC=777577 =1

/777577
/ERROR; SaD M20¢g SKIP®ED, AC=M200
JERRORY LINK NOT & 2
/TEST SAD M18g, AC=+4180 L=0
/AC=ONES, L=0

/AC=777677 _=i

/777677
/ERROR1 SAD M108 SKIP?ED, AC=zM108

/ERROR; LINK NOT & 2




£1092,

£1293,

E1094,

£1295,

£1096,

E1897,

£1098,
£1999.,

CLATCMAICLL
A3 M48

SAD val

SK?

HALT

SZo

HACT

CLAYIMAICLL
ADD M28

SAD M0

SK?

AALT

SZu

HALT

CLAICMAICLL
ADD %10

SAD %10

SKP

HALT

SzZL

HALT

CLAtCMAICLL
ADD Mg

SAD M4

SKP

HALT

SEL

HALT
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/TEST SAD M40, AC=M40 L=0

/AC=0ONES, L=0
/AC=777737 =1
/777737

JERROR3 SAD M4¥ SK1°P:iD,

JERROR; LINK NOT A ¢

/TEST SAD M2@, ac=M27 L=0

/AC=0ONES, L=0
/AC=777757 L=t
/777757

/ERROR} SAD M28 SK12PID,
/ERROR; LINK NOT A.2

/TEST SAD M1¥, AC=M10 L=9

/AC=0ONES, L=0
/AC=777767 L=t

/777767

/ERROR; SAD M18 ski=PiD,

/ERROR; LINK NOT A 2

/TEST SAD M4, AC=M4 [ =0

/ACSONES, L=
/ACE7,77773 L=t
7777773

/ERROR; SAD M4 SKIP2ED,

/ERROR; LINK NOT A 32

AC=M4Q

AC=M28

ACz=M10

AC=M4
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JTEST SAU 22, AC=M2Z2 (32
JLATCHAICL /ACZONES, L=¢
afyJ M /aC=777775 =1
540 M2 /777775
‘)’(3
E118¢, A /ERROR; SAD M2 SK[P2FJ, AC=sM?
52 -
E11@1, +Ha.7 JERROR; LIvK NOT A 2
. /TEST SAd M1, AC=M1 L=
SLATCMAICLL /AC=0ONES, L=9
ANl M1 /AC=777776 L=1
340 ¥y /777776
SK?
£11g2, 44T /ERROR; SAJ M1 SKIPIEJ, AC=M1
S#E.
E1183, HA.T /ERROR; LINK NOT A 2
/TEST Sal SERIES
LAT Ag /AC=0
540 £7S /ONES
LAA 1 /76001
SAJ <78 /ONES
AN 2 T /760082
SAD «7S /ONES
LAA 4 /760204
SAD X7S /ONES
LAW 1@ /760810
SAD <78 /0ONES
LAW 28 /760028
SAD K78 /ONES
LAA 49 /768340
SZEA

E1i84, HaLT /ERROR; SAD SERIES FAILED, AC NOT 8




£1105,

START

CLA

SAJ
AN
5K~7
LAA
SAJ
LAAN
SZA

12
7S
2¢

h‘Aﬁ—T

~AC
TAD
DAC
SZA
JMP
LAW
TLS
TSF
JNP
0AS
JaC
JMP

COUNT
<1
COUNT

PARTL
297

-1
tCLA

COUNT

PART1
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/TEST SAD-SKP SERIES

/AC=2
/ONES
/760081

/766082
/ONES
/760204

17690219
/ONES
/760082¢

/ERROR;

SAD-SKP SERIES FAILED,

AC NOT @




/PGP~-9 |

/CONSTAN
NOP1=NOF
NOF2=NOF
NCP3I=NGF
HALT=HLT
K&
Kaggx,
K200K,
K1@8K,
K40K .,
K20X,
K12K,
K4K,
K2K,
K1iK,
K42g,
K208,
K108,
K49,
Kze,
K18,

K4,

K2,

K1,

K1S,
K2S,
K3S»
K4S,
K8S,
K6S,
K7S,
M49PK,
M2O8K,
Mi88K,
M4BK,
M28K,
M10K,
M4K,
M2K,
M1K,
M408,
M208,
M188.,
M42,
M28,
M18,

M4,

M2,

M1,
M4BPKM,

s3TRJCTION

s

2
430088
200028
102620
49682
20292
19202
4940
2920
1g%¢
4@
209
192

49

20

192

4

2

1

111111
222222
333333
444444
555555
666666
777777
377777
577777
677777
737777
757777
767777
773777
7757277
776777
777377
777577
777677
777737
777757
777767
777773
777775
777776
377776




M2BBKM
M1ZBKM
MAGKM,
M2PKM,
H18KM,
M4KHM,

K5252,
K2525,
M2KM,
M1KM,
M4BaM,
M208M,
MieoM,
M4dM,
M28M,
M1@M,
MaM,
M2M,
MiM,
K3,
K7,
K17,
K37,
K77,
K177,
K377,
K777,
K1777,
K3777,
K7777,
K17777
K37777
K77777
M62PK,
M3,
M7,
M17,
M37,
77,
M177,
M377,
M777,
M1777,
M3777,
M7777,
M17777
M37777
M77777
K6B@K,
K777K,
K5,
Kit,
K21,
K41,
K101,
K2e1,
K4@1,
K1881,

»

?

»

’

577776
677776
737776
7577176
767776
773776

525232
252525
775776
776776
777376
777576
777676
777736
777736
777766
777772
777774
77777%
3

7

17

37

77

177
377
777
1777
3777
7777
17777
37777
77777
177777
777774
77777¢%
77776¢
77774¢
77772¢
777629
77742¢
77702¢
776020
7740293
77202¢
760030
740022
700020
600020
777339
3

i1

21

41

191
291
401
1921
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K2eg1,
Ka4z@1,
K100@1;
KHALT »
KCAL@,
Kz2g21,
K2129,
KCALE
KSKP,
KCLA,
K5253,
K6GK
K6625,
K615,
COUNT,

START

2821
4at1
19291
74¢04¢
17782
2921
2129
617763
SKP
CiLa
525253
60202
525233
615253
777777
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